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IDENTIFICATION

PRODUCT CODE: AC-8214B-MC

PRODUCT NAME: CVKAIBO DIS MOV/STRG INST TST
PRODUCT DATE: JANUARY 1982

MAINTAINER: DIAGNOSTIC ENGINEERING

COPYRIGHT (C) 1977, 1982 BY
DIGITAL EQUIPMENT CORPORATION, MAYNARD, MASSACHUSETTS
ALL RIGHTS RESERVED

THIS SOFTWARE IS FURNISHED UNDER A LICENSE AND MAY
BE USED AND COPIED ONLY IN ACCORDANCE WITH THE TERMS
OF SUCH LICENSE AND WITH THE INCLUSION OF THE ABOVE
COPYRIGHT NOTICE. TH!S SOFTWARE OR ANY OTHER COFIES
THEREOF MAY NOT BE PRUVIDED OR OTHERWISE MADE AVAIL-
ABLE TO ANY OTHER PERSON. NO TITLE TO AND OWNERSHIP
OF THE SOFTWARE IS HEREBY TRANSFERRED.

THE INFORMATION IN THIS SOFTWARE IS SUBJECT TO CHANGE
WITHOUT NOTICE AND SHOULD NOT BE CONSTRUED AS A COM-
MITTMENT BY DIGITAL EQUIPMENT CORPORATION.

DIGITAL ASSUMES NO RESPONSIBILITY FOR THE USE OR
RELIABILITY OF ITS SOFTWARE ON EQUIPMENT THAT IS
NOT SUPPLIED BY DIGITAL.

THE FOLLOWING ARE TRADEMARKS OF DIGITAL EQUIPMENT CORPORATION:

DEC PDP UNIBUS MASSBUS
DECUS DECTAPE VAX
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JKAIB. PN 22~-JAN-82 SEw 0002
%
2; 1.0 GENERAL INFORMATION
59
60
2} 1.1 ABSTRACT
63 THIS DIAGNOSTIC VERIFIES THE OPERATION OF THE DIBOL MOVE AND
) STRINS INSTRUCTIONS OF THE LSI-11 _CMOVC,MOVRC,CMPC,LOCC,SKP
65 SCANC,SPANC]. THE PROGRAM CHECKS THAT EACH INSTRUCTION 1S INTERRUPTABLE
66 USING THE CONSOLE SLU INTERFACE(SEE PARA 2.3.4) AND RUNS ALTERNATE
67 PASSES WITH THE TRACE TRAP ENABLED, UNLESS INHIBITED BY THE SWITCH REGISTER ( 2.
68 THE PROGRAM IS DESIGNED TO RUN ON AN LSI-11 WITH 4K OF MEMORY AND
69 THE DIS MICROMS. IT CAN BE RUN UNDER XXDP+,APT, AND ACT MONITORS.
;? THE SOF TWARE SWITCH REGISTER 1S AT LOCATION 176.
72 TO FULLY TEST THE LSI-11 DIBOL INSTRUCTION SET MICROMS, THE
;z FOLLOWING DIAGNOSTICS MUST BE R
75 CVKAI* C[THIS DIAGNOSTIC)
76 CVKAJ* DIS DECIMAL INSTRUCTION TEST
;g CVKAB* LSI-11 EIS INSTRUCTION TEST
gg WHERE °'+'' 1S THE LASTED REVISION
81
82
gz 1.2 SYSTEM REQUIREMENTS
85
86
g; 1.2.1  EQUIPMENT
89 LSI=11(KD11=P) WITH A SERIAL LINE INTERFACE AND
90 4K OF MEMORY
g‘
34 1.2.2 STORAGE
95 THE PROGRAM USES MEMORY FROM 000000 TO 17310

1.2.3  PRELIMINARY PROGRAMS
IT 1S ASSUMED THAT THE FOLLOWING DIAGNOSTICS HAVE BEEN RUN:

LSI-11 BASIC CPU TEST CVKAA*
LSI-11 TRAPS TEST CVKAD*

WHERE ''+'" IS THE LASTED REVISION

2CPS23388Ss
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2.0

2.1

2.2

2.3

2.3.1

22=JA4~-B2 08:44 PAGE &

OPERATING INSTRUCTIONS

LOADING PROCEDURES

CAN BE LOADED UNDER XXDP+ OR
USE STANDARD PROCEDURE FOR PDP~11 ABSOLUTE BINARY FORMATTED TAPES

STARTING PROCEDURE

LOAD THE SWITCH REGISTER WITH THE DESIRED SETTING
(SOFTWARE SWITCH REGISTER LOCATION = 176)

THE PROGRAM SHOULD ALWAYS BE STARTED AT 200.

STARTING AT 200, THE PROGRAM CLEARS ALL PROGRAM PARAMETERS AND
THEN PRINTS ITS MAINDEC IDENTIFICATION. "END PASS'* IS PRINTED
AT THE END OF EACH FULL PASS OF THE DIAGNCSTIC.

OPERATING PROCEDURES

OPERATIONAL SWITCH REGISTER

LOCATION 176 IS USED FOR THE SOFTWARE SWITCH REGISTER AND
THE FOLLOWING OPTIONS MAY BE SELECTED 8Y INSERTING A 1 IN THEIR
RESPECTIVE BIT POSITIONS.

8IT15 = HALT ON ERROR

8IT14 - SCOPE LOOP

8IT13 = INHIBIT ERROR TYPEOUT

8IT12 = INHIBIT TRACE TRAP

e8It = UNUSED

8IT10 = UNUSED

81109 - LOOP ON ERROR

8ITO8 - LOOP ON TEST IN SWR<05:00>
81107 - INHIBIT INTERRUPTABILITY TESTS

NOTE: :%%HTYPEOUTS CAN BE SUPPRESSED BY MAKING BIT5 OF BYTE SENVM

SEQ 0003
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2.3.2 RUNNING UNDER APT
THE APT MAILBOX-ETABLE IS LOCATED AT LOCATION 566.

USING THE CONSOLE INTERFACE AS THE INTERRUPTING DEVICE,

THE INTERRUPTABILTIY TESTS WILL BE RUN ON ONLY THE FIRST PASS TO

AVOID INTERFERENCE WITH THE APT INTERFACE. IF INTERRUPTABILITY

TESTS ARE DESIRED ON ALL PASSES, ANOTHER SLU MUST BE SUPPLIED

AND ITS RECEIVER STATUS REGISTER ADDRESS & ITS INTERRUPT VECTOR MUST

BE PLACED IN THE APT E-TABLE AT LOCATIONS ‘‘SBASE'' ¢ '‘SVECT1'' RESPECTIVELY.

OB YO B iy

D —

2.3.3 RUN WITH ALTERNATE CONSOLE ADDRESS

TO USE A CONSOLE ADDRESS OTHER THAN 177560, THE OPERATOR
MUST SUPPLY THE PROGRAM WITH THE CORRECT ADDRESSES BY INSERTING THEM
AT THE LOCATIONS LABELED:

$TKS:  RCSR ADDRESS
$TKB:  RBUF ADDRESS
$TPS:  TCSR ADDRESS
$TPB:  TBUF ADDRESS

2.3.4 RUN INTERRUPT TESTS WITH ALTERNATE SLU

TO USE A SERIAL LINE INTERFACE ADDRESS OTHER THAN THE STANDARD
CONSOLE ADDRESS (177560), THE OPERATOR MUST SUPPLY THE CORRECT ADDRESS
AND INTERRUPT VECTOR BY INSERTING THEM IN THE LOCATIONS LABELED:

$BASE: *RCSR ADDRESS*
SVECT1: *RECEIVER INTERRUPT VECTOR*

— e e wmd wmth wd e o wld wd wd D i el il o ek D rh el il D il e i D i D ol - e
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2.4 EXECUTION TIMES

THE GIVEN EXECUTION TIMES TAKE INTO ACCOUNT THE RANDOM CHARACTERISTIC

OF THE INTERRUPT TESTS. THE EXECUTION TIME OF THE FIRST PASS IS APPROXIMATELY
10 SECONDS; BUT SUBSEQUENT PASSES WITH INTERRUPT TESTS ENABLED COULD

TAKE AS LONG AS 32 SECONDS. THEREFORE THE 32 SECOND EXECUTION TIME IS USED.
THE PASS TIME WITHOUT INTERRUPTS IS APPROXIMATELY 2 SECONDS.

33.._._._._._..‘_._._._.
IR RE028TEIR

1233 3.0 ERROR REPORTING
201 IF A ROUTINE FAILS AND THE INMIBIT ERROR TYPEOUT (BIT13) OF THE SWR
20 1S NOT SET, THE PC OF THE ERROR IS PRINTED. THE OPERATOR CAN FIND
20 THE ERROR REPORT IN THE COMMENT FIELD OF THAT PC LOCATION IN
204 THE PROGRAM LISTING. IF HALT ON ERROR (BIT15) OF THE SWR IS SET

| 205 THE PROGRAM WILL HALT AFTER PRINTING THE ERROR PC AND ENTER THE

f 589 MACHINE ODT.
583 E.G.  XXXXXX <--PC OF THE ERROR

L 210 XXXXXX <==PC+2 OF THE HALT ON ERROR LOCATION
5} 5 a <~-0DT ENTERED
:5} 2 WHERE *XXXXXX'' IS AN OCTAL VALUE
215
216
217
218 .
55% 6.0 SUBROUTINE ABSTRACTS
221
222
223
5515 4.1 TRAPCATCHER
226 A '.+2 = HALT'® SEQUENCE IS REPEATED FROM 0~776 TO CATCH ALL UNEXPECTED
227 TRAPS. THUS ALL UNEXPECTED TRAPS OR INTERRUPTS WILL HALT
208 AT THE VECTOR+2, EXCEPT TRAPS TO LOCATION 0.4, & 10 WHICH GO TO
229 THEIR RESPECTIVE REPORTING ROUTINES ‘‘TZERQ'’,'‘TIMTRP'', & “'ILLTRP''.
230 THE OTHER EXCEPTION IS LOCATION 100 (RTC INTERRUPT VECTOR)
ggé WHICH CONTAINS A '*.+2 = RTI'* SEQUENCE (RETURNS FROM THE INTERRUPT).
233
ggg 6.2 SCOPE
2 THIS ROUTINE CALL IS PLACED BETWEEN EACH SUBTEST. IT RECORDS THE
53 STARTING ADDRESS OF EACH SUBTEST AS IT IS BEING ENTERED & UPDATES

38 THE TEST NUMBER. IF A SCOPE LOOP IS REQUESTED IT WILL JUMP

zzg TO THE START OF THE SUBTEST AT WHICH THE SCOPE LOOP IS REQUESTED.

r~J

[\ )
3
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gzg 4.3 ERROR
| 244 THIS ROUTINE CALL IS PLACED WHEREEVER AN ERROR REPORT IS DESIRED. THE
245 LOWER BYTE OF THIS CALL IS USED AS THE ERROR NUMBER. THIS ROUTINE
246 REPORTS ERRORS TO APT, TYPES ERRORS TO THE CONSOLE USING THE
32; “STYPE'' § '‘TYPOCT'’ ROUTINES, AND HANDLES ERROR RESPONSES VIA SWR SETIINGS.
249
gg? 4.4 $SPOWER
25 THIS ROUTINE SAVES ALL GENERAL REGISTERS DURING POWER-DOWN AND
25 RESTORES THEM AT POWER-UP. IF A POWER FAILURE OCCURS ‘‘POWER'' IS
254 PRINTED AT THE CONSOLE AFTER POWER IS RESTORED AND THE PROGRAM
255 1S RESTARTED AT TEST# 1.
256
25?7
258
259
gg? 4.5 NPREP
262 THIS ROUTINE 1S USED TO STORE A COPY OF THE INSTRUCTION TEST
522 ARGUMENTS TO BE STORED IN RO==>RS.
265
Sgg 4.6 GENR
268 THIS ROUTINE IS USED TO TRANSFER INSTRUCTION TEST ARGUMENTS
269 TO THE GENERAL REGISTERS AND TO COPY THE STACK POINTER BEFORE ‘%
5;9 TEST INSTRUCTION EXECUTION.
272
5;2 4.7 XPSW
275 THIS ROUTINE 1S USED TO STORED THE EXPECTED PSW OF THE INSTRUCTION
276 TEST AND TO SET THE T~BIT IN THE EXPECTED PSW ON PASSES USING
277 THE TRACE TRAP.
278
279
gg? 4.8 INTR
282 THIS ROUTINE IS USED TO DETECT WHEN THE TEST INSTRUCTION HAS
283 BEEN INTERRUPTED AND TO CONTINUE THE INTERRUPT STREAM UNTIL THE
ggg INSTRUCTION IS INTERRUPTED.
ggg 4.9 €KCC
288 THIS ROUTINE 1S USED TO CHECK THE PSW'S CONTENT, AFTER THE
289 OPERATION, WITH THE EXPECTED PSW'S CONTENT (EXPﬁSH).
290 ««NOTE: CONDITION CODES GENERATED IN THIS ROUTINE WILL BE USED
291 IN THE MAIN PROGRAM. NO CODES SHOULD BE ADDED IN THIS
53% ROUTINE THAT WOULD AFFECT THE CONDITIONS CODES. !
294
295 $.10 SKPINT
2% ......

297 THIS ROUTINE IS USED TO CKECK IF WE SHOULD SKIP THE CURRENT TEST.
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5.0

5.1

5.2

5.3

5.4

5.5

X
.ENABLE

LIST
.NLIST

8

LOC. ~TEMP- IS USED AS A FLAG THAT PASSES BACK TO THE MAIN PROGRAM.

TEMP = 0 ==> CONTINUE WITH THE CURRENT TEST
TEMP = 1 ==> G0 TO DO THE NEXT TEST
MISCELLANEOUS

STACK POINTER
STACK POINTER IS INITIALLY SET TO 500 (OCTAL).

PASS COUNT

A 16 BIT LOCATION '‘'SPASS'’ IS USED TO KEEP THE PASS COUNT. IT IS
CLEARED BY STARTING AT 200.

TEST NUMBER

A 16 BIT LOCATION ''STSTNM'‘ IS USED TO KEEP TSACK OF THE SUBTEST
NUMBER. THIS NUMBER 1S ALSO PLACED IN THE APT E~TABLE AT 'STESTN'
WHEN UNDER APT,

POWER FAIL

THE DIAGNOSTIC CAN BE POWER FAILED WITH NO ERRORS. AFTER POWERING
DOWN AND THEN UP AGAIN, THE PROGRAM WILL RESTAR FROM TEST# 1

(1.E., RESTARTS THE PASS THAT WAS INTERRUPTED) AFTER TYPING 'POWER"
TO THE CONSOLE. HOWEVER IF THE PROGRAM IS STORED IN MOS MEMORY
THAT CAN NOT HOLD DATA WITH POWER DOWN, THEN THE PROGRAM WILL NOT
RECOVER FROM A POWER FAIL.

EVENT INTERRUPTS

THIS DIAGNOSTIC CAN BE RUN WITH THE REAL TIME CLOCK ACTIVE
(INTERRUPT = 100). LOCATION 100 POINTS TO LOCATION 102

WHICH CONTAINS AN ‘RTI'’ INSTRUCTION. THUS ON CLOCK INTERRUPTS,
AN RT] IS EXECUTED TO HANDLED IT.

ABS

ME
MC.MD,CND

SEQ 0007
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000000
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.SBTTL BASIC DEFINITIONS
:'INITIA%1680RESS OF THE STACK POINTER #xx 1100 #w#

STACK=

.EQUIV EMT,ERROR ¢;BASIC DEFINITION OF ERROR CALL
.EQUIV 10T,SCOPE ssBASIC DEFINITION OF SCOPE CALL
; *MISCELLANEOUS DEF INITIONS

AT= n ;CODE FOR HORIZONTAL TAB

LF= 12 ..CODE FOR LINE FEED

CR= 15 sCODE FOR CARRIAGE RETURN

CRLF= 200 ::CODE_FOR CARRIAGE RETURN~LINE FEED
PS= 177776 : ;PROCESSOR STATUS WORD

.EQUIV PS PSW
STKLMT= 177774 ..STACK LIMIT REGISTER

sPROGRAM INTERRUPT REQUEST REGISTER
; tHARDWARE SWITCH REGISTER

DDISP= 177570 : ;HARDWARE DISPLAY REGISTER

s *GENERAL PURPOSE REGISTER DEFINITIONS
RO= 20 : sGENERAL REGISTER

R1= X1 s :GENERAL REGISTER
R2= ¥4 ..GENERAL REGISTER
R3= 13 sGENERAL REGISTER
Ré4= : $GENERAL REGISTER
RS= x5 : ;GENERAL REGISTER

SEQ 0008
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000006

000007
000006
000007

000000
0000/9

000340

100000

000001

100000

000020
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;*PRIORITY LEVEL DEFINITIONS
PRO=

;. GENERAL REGISTE

;s GENERAL REGISTER
..STACK POINTER

: ;PROGRAM COUNTER

ORITY LEVEL 0
,,PRIORITY LEVEL 1
s:PRIORITY LEVEL 2
:;PRIORITY LEVEL 3
::PRIORITY LEVEL 4
:sPRIORITY LEVEL 5
;;PRIORITY LEVEL 6
:sPRIORITY LEVEL 7

:*"SUITC?OREgésTER" SWITCH DEFINITIONS

4 PAGE 10

BASIC DEFINITIONS
R6= 16

R7= %7

SP= 16

PC= X7

PR1= 40

PR2= 100

PR3= 140

PR4= 200

PRS= 240

PR6= 300

PR7= 340
SW15= 00
SWi4= 40000
Swi3= 20000
swi2= 10000
SWil= 4000
SW10= 2000
Sw09= 1000
sSWo8= 400
SWwo7= 200
Swo6= 100
SWo5= 40

SWo4= 20

sWwo3= 10

SWwi2= 4

sSWwol= 2

SWo0= 1

.EQUIV SW09,SW9
.EQUIV SwW08,SW
.EQUIV SWO7,SW7
.EQUIV SW06,SW6
.EQUIV SW05,SW5
.EQUIV SW04,SWé4
.EQUIV SWO03,SW3
.EQUIV SW02,SW2
.EQUIV SW01,SW1
-EQUIV SW00,SW0
BIT1S= 00
BIT14= 40000
BIT13= 20000
BIT12= 10000
BIT11= 4000
81710= 2000
BI1T09= 1000
BIT08= 400
BIT07= 200
BIT06= 100
BIT05= 40
BIT04= 20

: *DATA B%B DSSINITIONS (B1T00 TO BIT15)

SEG 0009
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800010
088002
000001

000004
000010
000014
000014

000000
000000

000174
000000
000000

0146154
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BASIC DEFINITIONS

8I1703= 10
BIT02= 4
B8I101= 2
8IT00= 1
.EQUIV B
.EQUIV B
.EQUIV B
.EQUIV B
.EQUIV BIT05,BITS5
.EQUIV BIT04,BITé
.EQUIV BIT03,BIT3
.EQUIV BIT02,8IT2
.EQUIV BIT01.BIT1
.EQUIV BITOO BITO

;*BASIC “'CPU'’ TRAP VECTOR A?DRESSES

ERRVEC= 4

RESVEC= 10

TBITVEC=14

TRTVEC= 14

BPTVEC= 14

JIOTVEC= 20

PWRVEC= 24

EMTVEC= 30

TRAPVEC=34

TKVEC= 60

TPVEC= 64

PIRQVEC=240
APTSIZE=
APTENV= 001
APTSPOOL=
APT(SUP=
$SWR= 171400
$SWRMK= 300
18]T= 20
STN- }
NXH- 127777
ABASE= 177560
AVE(T1= 60

.SBTTL TRAP CATCHER

TIME OUT AND OTHER ERRORS
..Q;SESYED AND ILLEGAL INSTRUCTIONS

: STRACE TRAP

: :BREAKPOINT TRAP (BPT)

..INPUT/OUTPUT TRAP (1OT) #«SCOPEx+

: ;POMER FAIL

..EHULATOR TRAP (EMT) x+ERROR%*
:"'TRAP'' TRAP

::TTY KEYBOARD VECTOR
s:TTY PRINTER VECTOR
QOSROGRAH INTERRUPT REQUEST VECTOR

100
040

=0
;*ALL UNUSED LOCATIONS FROM & = 776 CONTAIN A ‘'.+2 HALT"
«SEQUENCE T0 CATCH ILLEGAL TRAPS AND INTERRUPTS
*LOCATION19‘CONTAINS 0 TO CATCH IMPROPERLY LOADED VECTORS

DISPREG: .WORD 0
SWREG: .WORD O

.=0
TZERO
340
TIMTRP

:cSOFTWARE DISPLAY REGISTER
:sSOFTWARE SWITCH REGISTER

;SET LOCATIONS 0,4,6 TO ERROR REPORT
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(VKAIB.PIN 22-JAN-82 08:43 TRAP CATCHER SEq 0011
$22 000006 000340 340
523 000010 014164 ILLTRP
524 000012 000340 340
525
5¢6
527
528 000100 .=100
529 000100 000102 LWORD 102 ;HANDLE EVENT LINE INTERRUPTS
2}? 000102 000002 .WORD 2
532
533 000200 .=200
g%g 000200 000167 000512 JMP START ;STARTING ADDRESS OF PROGRAM
536 000400 .=400
ggg .SBTTL ACT11 HOOKS
539 JARAARREARRAEARRRAR KRN AN AN AN AANRAAAANERAN AR RN TAARARARRANR
540 HOOKS REQUIRED BY ACTI11
541 000400 $SVP(C=, sSAVE PC
542 000046 =46 ’
5643 000046 014050 SENDAD ;s1)SET LOC.46 TO ADDRESS OF SENDAD IN .SEOP
544 000052 .=52
5645 000052 000000 LWORD O ..Z)SET LoC. 52 TO ZERC
546 000400 .=$SVP( ;: RESTORE P
gzg .SBTTL APT PARAMETER BLOCK
5§49 IR AR AR AR AE AR AR RRARAAR AN RAAARR AN AAARAANNNRR RN NN RAR R
550 SET LOCATIONS 24 AND 44 AS REQUIRED FOR APT
551 IR AAAAARR AR RRAARR AR AR ARARRRR AR AAAARRARANRARRAANARRRAAAAARRE
552 000400 $X=. s 2SAVE CURRENT LOCATION
553 000024 .=24 ;:SET POWER FAIL TO POINT TO START OF PROGRAM
554 000024 000200 200 :2FOR APT START UP
555 000044 .4 ..POINT TO APT INDIRECT ADDRESS PNITR.
556 000044 000400 SAPTHDR ;POINT TO APT HEADER BLOCK
557 000400 =,8$X ..RESET LOCATION COUNTER
558 ttttttttttttttttttttttttttttttttttttttttttttitttttttttttttttttt
559 SETUP APT PARAMETER BLOCK AS DEFINED IN THE APT-PDP11 DIAGNOSTIC
22? INTERFArE SPEC.
62 000400 $SAPTHD :
563 000400 000000 SHIBTS: .WORD O :TWO HIGH BITS OF 18 BIT MAILBOX ADDR.
564 000402 000566 SMBADR: .WORD  SMAIL ..ADDRESS OF APT MAILBOX (BITS 0-15)
565 000404 000030 $TSTM: _WORD 30 :2RUN TIM OF LONGEST TEST
566 000406 000040 SPASTM: .WORD 40 ..RUN TIME IN SECS. OF 1ST PASS ON 1 UNIT (QUICK VERIFY)
567 000410 000000 SUNITM: .WORD ADDITIONAL RUN TIME (SECS) OF A PASS FOR EACH ADDITIONAL UNIT
263 000412 000027 .WORD SETEND-SHAIL/Z 2 :LENGTH MAILBOX~-ETABLE (WORDS)
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2;1 .SBTTL COMMON TAGS
57 I LR L L T L e L T e e
S74 tTHIS TABLE CONTAINS VARIOUS COMMON STORAGE LOCATIONS
3;2 :«USED IN THE PROGRAM.
527 000500 .=500
5/d4 000500 $CMTAG: ::START OF COMMON TAGS
579 000500 000000 .WORD 0
580 000502 000 $TSTNM: BYTE 0 ;s CONTAINS THE TEST NUMBER
581 000503 000 SERFLG: .BYTE 0 s sCONTAINS ERROR FLAG
582 0005064 000000 $ICNT: .WORD O ;;CONTAINS SUBTEST ITERATION COUNT
583 000506 000000 SLPADR: .WORD 0 : sCONTAINS SCOPE LOOP ADDRESS
584 006510 000000 SLPERR: .WORD 0 s sCONTAINS SCOPE RETURN FOR ERRORS
“R5 000512 000000 SERTTL: .WORD 0 s sCONTAINS TOTAL ERRORS DETECTED
SBL 000514 000 SITEMB: BYTE O s CONTAINS ITEM CONTROL BYTE
487 000515 001 SERMAX: .BYTE 1 s cCONTAINS MAX. ERRORS PER TEST
588 000516 000000 SERRPC: .WORD O s sCONTAINS PC OF LAST ERROR INSTRUCTION
489 000520 000000 $GDADR: .WORD 0 ;;CONTAINS ADDRESS OF 'GOOD' DATA
590 000522 000000 $8DADR: .WORD 0 s ;CONTAINS ADDRESS OF °'BAD' DATA
591 000524 000000 $GDDAT: .WORD O ..CONTAINS 1GOOD*® DATA
592 000526 000000 $BDDAT: .WORD O cCONTAINS 'BAD' DATA
593 000530 000000 WORD 0 ..RESERVED--NOT TO BE USED
594 000532 000000 WORD 0
Y95 000534 000 $AUTOB: .BYTE 0 scAUTOMATIC MODE INDICATOR
496 000535 00 $INTAG: .BYTE 0 ;< INTERRUPT MODE INDICATOR
97 000536 000000 MORD O
598 000540 177570 SWR: WORD . DSWR ;;ADDRESS OF SWITCH REGISTER
599 000542 177570 DISPLAY: .WORD DDISP : ;ADDRESS OF DISPLAY REGISTER
600 000544 177560 $TKS: 177560 ..TTY KBD STATUS
601 000546 177562 $TKB: 177562 sTTY KBD BUFFER
602 000550 177564 $TPS: 177564 ;:TTY PRINTER STATUS REG. ADDRESS
603 000552 177566 $TPB: 177566 ssTTY PRINTER BUFFER REG. ADDRESS
604 000554 000 ' SNULL: .BYTE 0 s sCONTAINS NULL CHARACTER FOR FILLS
605 000555 002 $FILLS: .BYTE 2 s sCONTAINS # OF FILLER CHARACTERS REOUIRED
606 000556 012 $SFILLC: .BYTE 12 ..INSERT FILL CHARS. AFTER A 'LINE F
607 000557 000 $TPFLG: .BYTE O ;" 'TERMINAL AVAILABLE'® FLAG (BIT<07>=O-YES)
608 000560 000000 SESCAPE:0 ..ESCAPE ON ERROR ADDRESS
609 000562 077 $QUES: .ASCII /% s sQUESTION MARK
610 000563 015 $CRLF: .ASCII <15 ..CARRIAGE RETURN
611 000564 000012 SLF LASCIZ <12 ssLINE FEED
61 P L e e L e R e L e L e e e e
2;4 .SBTTL APT MAILBOX-ETABLE
615 R L L e e L L
616 .EVEN
617 000566 SMAIL : : sAPT MAILBOX
618 000566 000000 $MSGTY: .WORD  AMSGTY ;;MESSAGE TYPE CODE
619 570 000000 SFATAL: .WORD  AFATAL ..FATAL ERROR NUMBER
620 000572 000000 STESTN: .WORD  ATESIN TEST NUMBER

1 574 000000 $PASS: .WORD  APASS ..PASS COUNT

i 576 000000 SDEVCT: .WORD  ADEVCT ..DEVICE COUNT

0060¢ 000000 SUNIT: _WORD  AUNIT :1/0 UNIT NUMBER

624 02 000000 $MSGAD: .WORD  AMSGAD ..HESSAGE ADDRESS
625 04 000000 $MSGLG: .WORD  AMSGLG ;.MESSAGE LENG
626 000606 $ETABLE: s APT ENVIRONHENT TABLE
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639

640
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000614
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000
0

000000

000
000

000000
000
000

000000
000
000

000000
000
000

000000

000060

000000
177560
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T MAILBOX~ETABLE
SENV: .BYTE  AENV
SENVM: .BYTE AENVM
SSWREG: .WORD  ASWREG
SUSWR: .WORD  AUSWR
$CPUOP: .WORD  ACPUOP
[ 1
‘e
:t
;t
:t
"t
$MAMS1: .BYTE  AMAMS1
SMTYP1: .BYTE AMTYPI
[

o

:t

LB

$MADR1: .WORD  AMADR1

* %

$MAMS2: .BYTE  AMAMS?

SMTYP2: .BYTE AMTYP2

$SMADR2: .WORD AHADR%
3: .BYTE AMAMS

SMTYP3: .BYTE AMTYP3

SMADR3: .WORD AMADR3
4: .BYTE AMAMS4

SMTYPL: .BYTE  AMTYP

$SMADRG: .WORD  AMADRS

SVECT1: .WORD AVECT1

SVECT2: .WORD AVECT2

$BASE: .WORD  ABASE

SETEND:

CMEXIT

;;ENVIRONMENT BYTE
..ENVIRMNT MODE BITS
ssAPT SWITCH REGISTER

Bits 1s-11-cpu YPE
1704=01,11/05=02,11720=03,11/40=04,11/45=05
11/70~06 poo-o Q=10
BIT 10=REAL TIME CLOC
BIT 9=FLOATING POINT Pnocssson
BIT 8=MEMORY MANAGEMENT
::HIGH ADDRESS,M.S. BYTE
1IMEM. TYPE.BLKAI
MEM.TYPE BYTE =~ (HIGH BYTE)
900 NSEC CORE=001
300 NSEC BIPOLAR=002
500 NSEC nos-oos
: sHIGH ADDRESS,BLKA
MEM.LAST ADDR.=3 avres THIS WORD AND LOW OF ‘'TYPE'* ABOVE
;:HIGH ADDRESSM.S. JYTE
MEM. TYPE ,BLIA2
..nsn LAST ADDRESS,BLKA2
HIGH ADDRESS,M.S.BYTE
*{MEM. TYPE .BLKA3
* MEM.LAST ADDRESS ,BLKA3S
:SHIGH ADDRESSM.S. ‘BYTE
*MEM. TYPE,BLK#G
*MEM.LAST ADDRESS ,BLK#%
: : INTERRUPT VECTOR#1,BUS PRIORITYA1
* INTERRUPT vscronpzéus PRIORITYA2
::BASF ADDRESS OF EQUIPMENT uunsa TEST

SEQ 0013
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ERROR POINTER TABLE

.SBTTL ERROR POINTER TABLE

:«THIS TABLE CONTAINS THE INFORMATION FOR EACH ERROR THAT CAN OCCUR.

“«THE INFORMATION 1S OBTAINED BY USING THE INDEX NUMBER FOUND IN

'LOCATION SITEMB. THIS NUMBER INDICATES WHICH ITEM IN THE TABLE IS PERTINENT.
1: 1F SITEMB IS O THE ONLY PERTINENT DATA IS (SERRPC).

EACH ITER IN THE TABLE CONTAINS & POINTERS EXPLAINED AS FOLLOWS:

177646
177640
177640
000500
000540
000500
0145642
000340

016236

000020
0000%2
000030
000032
000034

STESIN
INITIALIZE THE COMMON TAGS

€M

DH

DT

DF

.WORD O

.WORD

.WORD

QHORD

n“ORD

WORD 177777
177564

177566

64

66

0

0

0

0

0

0

0

0

0

LWORD -1

377

CLR SFATAL
CLR SMSGTYP
CLR

MoV #SCMTAG
CLR (R6) +
cmp #5WR ,R6
BNE .=6

MoV #500,SP
mov #$SCOPE,
MoV #340,34
MoV #SERROR
MoV #340,3#
MoV #STRAP,

::POINTS TO THE ERROR MESSAGE
;;POINTS TO THE DATA HEADER
..POINTS TO THE DATA

;;POINTS TO THE DATA FORMAT

:SOURCE LENGTH

:SOURCE ADDRESS

:DESTINATION LENGTH

:DESTINATION ADDRESS

;FILL CHARACTER

:TRANSLATION TABLE ADDRESS

:TCSR ADDRESS OF SLU USED FOR INTERRUPTS
:TBUF ADDRESS

$TRANSMIT INTERRUPT VECTOR

: AND PSW LOCATION

:ADDRESS OF TEST INSTRUCTION TO INTERRUPT
*CONDITION CODES AFTER TEST INSTRUCTION EXECUTION
:EXPECTED CONDITION

SEQ 0014

ON_CODES
:STACK POINTER VALUE BEFORE TEST INSTRUCTION EXECUTION

:BAD STACK POINTER VALUE
*PC WHERE UNEXPECTED TRAP OR INTERRUPT OCCURRED

;CLEAR ERROR NO.
;CLEAR MESSAGE TYPE
:CLEAR TEST NO.

;CLEAR THE COMMON TAGS (SCMTAG) AREA
R6 FIRST LOCATION TO BE CLEARED
CLEAR MEMORY LOCATION
sDONE?
;LOOP BACK IF NO
:SETUP THE STACK POINTER

SINITIALIZE A FEW VECTORS
ar10TvVEC IOT VECTOR FOR SCOPE ROUTINE
foTveEC+2 ;LEVEL 7
PEMTVEC EHT v;cmn FOR ERROR ROUTINE
EMTVEC+2 ;LEVEL
S#TRAPVEC' : TRAP VECTOR FOR TRAP CALLS
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001010 01 7;7

1016 012737
1854 12737
1 8 16767
00104 5067
001044 112767
001052 012737
881060 81 737
1066 012767
001074 81 727
00110 12737
00111 805046
88111 12746
1116 000006
001120 012767
001126 000402
001130 062706
001134 016737
001142 005067
001146 012767
001154 012767
001162 012767
001170 012767
001176 005067
001202 132767
001210 001403
001212 012767
001220
001220 026737
001226 001424
001230 104401
001234 013700
001240 062700
001244 010037
001250 005720
001252 010037
001256 013700
001262 062700
001266 010037
001272 005720
001274 010037
001300 012701
001304 012700
001310 110021
001312 105100
001314 110021
001316 105100
001320 105200
001322 020027
001326 003770

0

000006
000010

001154

000176
000174

127372
000200

000610
012624
016276
000642
000004
000660
000662
000636
000004
000664
000666

016310
000001

000200

S?ZgAN'BZ 08:4

000036
000024

000026
012744
1774643

000014
000016
000010

012766

000010

177332
177326

177350
177344
177377
177320
000042

4 PAGE 16

INITIALIZE THE COMMON TAGS
#3640, @#TRAPVEC+2 LEVEL 7

18: MoV

2$:
3s:

4S:

PATGEN:
1$: MOVe

#SPURDN , #PWRVE

SEQ@ 0015

C ;POWER _FAILURE VECTOR

#340,3#PWRVEC+2 ;LEVEL 7

SENDCT,SEOPCT

SESCAPE
#1,SERMAX

:SETUP END-OF -PROGRAM COUNTER

:CLEAR THE ESCAPE ON ERROR ADDRESS

;ALLOW ONE ERROR PER TEST

PINITIALIZE THE 'T-8IT'* TRAP VECTOR. THEN LOAD LOCATION
:THE_"END=-OF -PASS'* (SEOP) ROUTINE, WITH A "RTI'* OR ‘RTT

#SRTRN,@#TBITVEC ;SET “T'' BIT VECTOR TO SRTRN
#340,3#TBITVEC+2 ;LEVEL 7

#RTI,SRTRN

SNRESVEC, TEMP

#28 ,8NRESVEC
-(SP)
#$,-(SP)

#RTT,SRTRN
33

TEMP ,Q#RESVEC
$1817

:SET SRTRN TO A RTI

2SAVE JLLEGAL INSTRUCTION TRAP VECTOR
JTRY TO DO A RTT

;DUMMY PS

;AND PC

:TRY THE RTT

JRTT IS LEGAL-=-SET SRTRN TO A RTT

sRTT ILLEGAL=--CLEAN OFF THE STACK
SRESTORE ILLEGAL INSTRUCTION TRAP VECTOR
SCLEAR *T'' BIT SWITCH

sINITIALIZE THE LOOP ADDRESS FOR SCOPE

¥..3LPADR
#. . SLPERR *SETUP THE ERROR LOOP ADDRESS
*SETUP FOR A SOFTWARE SWITCH REGISTER.
#SWREG, SWR *POINT TO SOFTWARE SWR
#DISPREG,DISPLAY
$PASS :CLEAR PASS COUNT
SAPTSIZE,SENVM TEST USER SIZE UNDER APT
4$ SYES,USE NON-APT SWITCH
#SSWREG, SWR “NO,USE APT SWITCH REGISTER
SENDAD , @42 ;UNDER ACT11 AUTO-ACCEPT?
::;gsu *BR IF YES, & SKIP PROGRAM ID TYPEOUT
;SET UP ADDRESSES OF SLU TO USE FOR INTERRUPTABILITY TES
aNSBASE ,RO *GET ADDRESS OF THE SLU
#4,R0 SAVJUST TO TCSR ADDRESS
RO @NTCSR *STORE TCSR ADDRESS
(RO + tADJUST TO TBUF ADDRESS
RO, a#TBUF *STORE TBUF ADDRESS
S#$VECTT,RO *GET SLU INTERRUPT VECTOR
#4,R0 SADJUST TO TRANSMIT INTERRUPT VECTOR
RO A#TVECT *STORE TRANSMIT INTERRUPT VECTOR
(RO) + *ADJUST TO TRANSMIT INTERRUPT PSW
RO, I4TPSW *STORE TRANSMIT INTERRUPT PSW LOCATION
#80F1,R “GENERATE TEST PATTERN IN BUF1
R0 A1) S P et By \RY COUNT ALTERNATED
. + H
R t001,376,002,375.003.37,..... ,177,200,200,177
sg,(a1)+
RO s INCREMENT PATTERN
RO,#200 *1S PATTERN FINISHED?
18 ‘BR IF NOT

|
|
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000266
076030

004767
001401
104001

823706
01403
010637
104002

005700

012706

012716
012760

012612

012764

000676
000700

& PAGE 17
INITIALIZE THE COMMON TAGS
BEGIN: RTPS #200 sSET PRIORITY TO 7

B e L teitnininivideinnisisiniuivinivibivinieflaiiatsninidiainteipieisivink
TEST 1 TEST "MOVC'' INSTRUCTION WITH ZERO SOURCE LENGTH
'SUCCESSFU COMPLETION OF THIS TEST RESULTS IN

e FILL' (*377'°) BYTES WRITTEN THROUGHOUT THE DESTINATION
'FIELD AND CONDITION CODES=-->N,C=1 & 2,v=0

tt't'tttittit't.ttttt"i'tt'tttt'tt.t"tttt.tttt.tttttttttttttt
ttitttttttttttt'tittttttttttttttit"ittt'ttttttttt'tit'tttttttt

TSTT SgOPE

RS ,PREP ;SET UP INSTRUCTION ARGUMENTS
0 SOURCE LENGTH
NXM SOURCE ADDRESS
5 DESTINATION LENGTH
BUF2+1 DESTINATION ADDRESS
377 FILL CHARACTER
JSP. PC.CLDST sCLEAR DESTINATION
JSSRD ggiXPSU STORE EXPECTED PSW VALUE
JSR PC,GENR ;SET UP GENERAL REGISTERS
+CLN!CLC sCLEAR CONDITION CODES N & C
+SEZ!SEV SET CONDITION CODES Z & V
MoVC EXECUTE 'MOVE CHARACTER” INSTRUCTION
;CHECK RESULTS
ggg PC6£§CC CHECK PSW, GENERATE CONDITION CODES
ERROR 1 tttttttttttttttTEST 1 = ERROR 1antxanennentnten
PSU ERROR
EXPECTED PSW IS _STORED AT ‘EXPPSU"
648 ACTUAL PSW IS STORED AT '‘CCODES
cMP a#SAVR6,SP ;VERIFY STACK POINTER IS RESTORED
BEQ 658 BR IF 0K
v SP,a¥BADR6G STORE BAD SP VALUE
ERROR 2 tttitttttttttttTEST 1 = ERROR 2vnanwnasntantes
STACK POINTER NOT RESTORED BY INSTRUCTION
EXPECTED VALUE OF SP IS STORED AT **SAVR6''
658 ERRONEOUS VALUE IS AT 'BADRG"’
TST RO :CHECK RO FOR ZERO
BEQ 1$ .BR. IF ZERO
ERROR 3 sanunwnnnanaenndTEST 1 = ERROR 3Jwnttneatanttnne
RO SHOULD BE ZERO
18: CHECK STATE OF OTHER GENERAL REGISTERS
TST R1 ;TEST R1
B8EQ 663 :BR, IF ZERO
ERROR & tttttttttttttttTEST 1 = ERROR 4ttatwsnnnntanne
R1 SHOULD BE ZERO
66$: TST R2 :TEST R2
B8EQ 67% :BR IF ZERO
ERROR 5 tttttttttttttttTEST 1 « ERROR Sttnnsnnnnresennyn
R2 SHOULD BE ZERO
67%: TST R3 :TEST R3

SEQ 0016
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(VKAIB.P11 22-JAN=-82 08:43 T TEST 'MOVC'' INSTRUCTION WITH ZERO SOURCE LENGTH SEQ 0017 }
828 001450 001401 BEQ 68% :BR, IF ZERO
829 0301452 104006 ERROR 6 tttttt'ttt""'fEST 1 = ERROR Gtrstententenenn
8 RS SHOULD BE ZERO ‘
831 001454 68$:
832 001454 026706 177174 CMP FILL,R4 :CHECK R4 UNCHANGED
833 001460 001401 BEQ 699 .BR IF OK
834 001462 104007 ERROR 7 sennnnnnnannnnasTEST 1 = ERROR 7'nttnn'nnnt--..
835 R4 SHOULD STILL EQUAL CONTENTS OF LOCATION 'FILL"
836 001464 026705 177166 69$: cMP TABLE RS CHECK RS UNCHANGED
837 001470 001401 BEQ 708 .BR IF
838 001472 104010 ERROR 10 ttttttttttntttttesr = ERROR 10ttttttt'tttt'tt
839 RS SHOULD STILL EQUAL CONTENTS OF LOCATION '‘TABLE''
840 001474 708 :
841 :VERIFY DESTINATION CONTENTS
842 001476 012700 016710 MoV #BUF2,R0 POINT RO TO DESTINATION LOWER BYTE BOUNDARY
843 001500 105720 T1S18 (RO)+ JTEST CONTENTS OF BOUNDARY
844 001502 001401 BEQ 718 BR. IF STILL ZERO
845 001504 104011 ERROR 11 .tttttttttttttttTEST = ERROR 11vesnsnaneenannne
846 ;LOWER BOUNDARY OF DESTINATION CHANGED
847 ; SHOULD STILL EQUAL ZERO
848 001506 718:
849 001506 016701 177136 MOV DSTLN,.R1 ;STORE TRANSFER BYTE COUNT IN R1
850 001512 122067 177136 T1E12: CMPB (RO)+,FILL CHECK CHARACTERS IN DESTINATION
851 001516 001401 B8EQ R H IF 0K
852 001520 104012 ERROR 12 JennnnnnenenenetTEST 1 = ERROR 12¢taanennanavene
853 ;COMPARE ERROR IN DESTINATION
ggg RO CONTAINS THE PC+1 OF THE BAD DESTINATION CHARACTER
856 001522 005301 DEC R1 DECREIENT BYTE COUNT
857 001524 001372 BNE T1E12 IF NOT FINISHED CHECKING
858 001526 105720 7818 (RO) + TE§T CONTENTS OF DEST. UPPER BOUNDARY
859 001530 001401 8EQ ENDT1 BR. IF STILL ZERO
860 001532 104013 ERROR 13 ,tttttttttttttttTEST 1 = ERROR 13atnnnscnnnntnnes
861 JUPPER BOUNDARY OF DEST. CHANGED
862 s SHOULD STILL EQUAL ZERO
863 001534 ENDT1T:
864
86¢
867 L L Ll bbbtk dtadd
868 aresr 2 TEST *MOVC'' INSTRUCTICN WITH ZERO DESTINATION LENGTH
869 IRRARRARRARAAA AR ANNE SR RNRE AR RARANANRARRNRAANAANNAANIRCAANNNRE
870 tSUCCESSFUL COMPLETION OF THIS TEST RESULTS IN
871 :%NO CHARACTERS TRANSFERED TO THE DESTINATION
872 men AND ALL CONDITION CODES CLEAR
873 IARNRRAREAREAREAR AR RREAREANRRRARIARAANAANRARAARERAAANCAACARARANS
874 AR T AR AR AR NARN AN IR INAANANINANAEAARAAERARAARAR AR
875 001534 000004 STZ SCOPE
876 001536 012767 000712 177102 MOV #ONES ,SRCAD ;SET SOURCE ADDRESS
877 001544 004567 012500 JSR R5.PREP -SET UP INSTRUCTION ARGUMENTS
878 001550 009091 1 : SOURCE LENGTH
879 001552 177777 NXM SOWCE ADDRESS
880 001554 000000 0 DESTINATION LENGTH
881 001556 016711 BUF2+1 DESTINATION ADDRE SS
882 001560 000377 377 FILL CHARACTER
883 +CLEAR DESTINATIOM
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vkAIB.P1 22~JAN-82 TEST "MOVC’' INSTRUCTION WITH 2ERO DESTINATION LENGTH SEQ 0018
884 001562 012700 016710 MoV #BUF2 RO POINT RO TO L( R BYTE BOUNDARY
885 001566 005020 CLR (RO)+ CLEAR BOUNDARY & DEST. BVTES
88¢ 001570 005020 CLR (RO)+ CLEAR UPPER BYTE BOUNDAR
BE7 001572 006567 012546 JSR RS XPSW STORE EXPECTED PSW VALUE
888 001576 000200 MORD 2
839 001600 004767 012400 JSR PC.GENR ;SET UP GENERAL REGISTERS
890 001604 000277 scc SET ALL CONDITION CODES
a9 EXECUTE MOVE CHARACTER'® INSTRUCTION
892 001606 076030 MOvC
893 ;CHECK RESULTS
896 001610 004767 012554 JSR PC.CKCC JCHECK PSW, GENERATE CONDITION CODES
895 001614 001401 B8EQ 64$
8%6 001616 104001 ERROR 1 srnnnennnnstentseTEST 2 = ERROR Ttwenenenanannne
897 PSH ERROR
898 EXPECTED PSW 1S STORED A.T. 'EXPP.S.U"
899 ACTUAL PSW IS STORED AT °°CCODES
900 001620 648:
901 001620 023706 000676 (4, 4 S#SAVRG, SP :VERIFY STACK POINTER ]S RESTORED
902 001626 001403 BEQ 65% BR IF OK
903 001626 010637 000700 MoV SP ,a#BADR6 ;STORE BAD SP VALUE
904 001632 104002 £RROR 2 nn"tnnnntfsr 2 = ERROR 2*rennnnennennes
905 STACK POINTER NOT RESTORED BY IN..TRUCTI(N
906 EXPECTED VALUE OF SP IS STORED AT '‘SAVRS''
907 ERRMEOUS VALUE IS AT ‘BADRG'’
908 001634 658$:
909 001634 020067 177004 CMp RO,SRCLN sCHECK RO EQUAL TO SOURCE LENGTH
910 001640 001401 8EQ 18 .BR. IF EQUAL
911 001642 104003 ERROR 3 enennnnsanantadTEST 2 - ERROR 3evnnntanceenens
912 RO SHOULD EQUAL SOURCE LENGTH
913 001644 1$: CHECK OTHER GENERAL REGISTERS
914 001644 005701 TST R1 'TES R1
915 001646 001401 BEQ 66% ;BR, ]F ZERO
916 001650 104004 ERROR 4 nntn"nnnTEST 2 = ERROR 4rernnnnnannnney
917 R‘l SHOgLD BE ZERO
918 001652 005702 66$: TST R2
919 001654 001401 B8EQ 67% BR IF ZERO
920 001656 104005 ERROR g JanenaneantsaeeaTEST 2 - ERROR Seestevetenvnsne
921 RZ SHOULD BE ZERO
922 001660 005703 678: 18T R3 .TEST R3
923 001662 001401 BEQ 683 :BR, ]F ZERO
924 001664 104006 ERROR 6 tttttttttttttttTESI 2 ~ ERROR Gtenennnnenntnny
925 R3 SHOULD BE 2ERO
926 881666 68S:
927 16?3 026704 176762 cNp FILL.R4 ;CHECK R4 UNCHANGED
928 0016 001401 8EQ 698 :BR IF 0K
9%9 0016746 104007 ERROR 7 sanannasnnnsanssTEST 2 - ERROR 7annnanansnsannn
930 R4 S D STILL EQUAL CONTENTS OF LOCATION ‘FILL"
931 001676 026705 176754 698 : cep TABLE ,RS ‘CHECK RS UNCHANGED
932 LI1702 1401 8EQ 708 .BR IF 0K
93 001706 104010 ERROR 10 senenanennanansaTEST 2 - ERROR 10-"nnnnnn
9;4 RS SHOULD STILL EQUAL CONTENTS OF LOCATION ‘‘TABLE''
935 001706 708:
936 VERIFY DESTINATION UNCHANGED
937 17 01;7 016710 Moy #8UF2 RO POINT RO TO DESTINATION LOWER BYTE BOUNDARY
9 174 10572 TSTB (RO)+ TEST CONTENTS OF BOUNDARY
939 1714 001401 8EQ 7s BR IF STILL Z2ERO
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T2 TEST 'MOVC'' INSTRUCTION WITH ZERC DESTINATION LENGTH SEQ 0019

ERROR 1" steneneeeneneeeeTEST 2 - ERROR 11eveeveeencnnene
:LOWER BOUNDARY OF DESTINATION CHANGED
i SHOULD STILL EQUAL ZERO

718:
1ST8 (RO) + :TEST CONTENTS OF DESTINATION BYTF
BEQ 2% :BR. IF STILL ZERO
ERROR 12 seennanennnnvasaTEST 2 - ERROR 120 tteesatennenne
" DESTIMTIM WAS CHANGED
’ TS18 (RO) + sTEST CONTENTS OF DEST. UPPER BOUNDARY
BEQ ENDTZ2 BR. IF STILL 2ERO
ERROR 13 sennnnnnnnanveasTEST 2 = ERROR (13aneasesnennnnes
lPPER BOUNDARY OF DEST. CHANGED
ENDT2 ¢ SHOULD STILL EQUAL ZERO

CARRRNANRNARANARNNARANANRARRNNNAREANRARRANARANCAANAAANAAAAACAAANS

-resr 3 TEST 'WMOVC'* INSTRUCTION WITH SRCAD .LT. DSTAD, SL .GT. DL
t'ttt.tt'tt'tQQQQQ'Qﬁ'iitit"'ttttt'tt'ttt'tttttttttttttttttttt
"PROPER TERMINATION FOR THIS INSTRUCTION TEST

,*IS A TRUNCATED SOURCE STORED IN THE DESTINATION

:(LEAST SIGNIFICANT BYTES NOT MOVED). RO EQUALS THE

: *NUMBER_OF UNMOVED SOURCE BYTES (SRCLN-DSTLN),

*#R1-->R3 EQUAL TO ZERO, AND ALL CONDITION

-cooes CLEAR

itt'ttttttiiititti.ttttitttiiitiittttQﬁtiiiittttttttttitttttttt
tittittittiitittttttiti'ttittt.tttiiiitiiitittitiiﬁtiittttttttt

TSTS SCOPE
JSR

RS.,PREP :SET UP INSTRUCTION ARGUMENTS
20 JSOURCE LENGTM
8UF1 :SOURCE ADDRESS
1 SDESTINATION LENGTH
BUF2+1 ;DESTINATION ADDRESS
377 JFILL CHARACTER
JSR PC.CLDST JCLEAR DESTINATION
JSSRD g(s) XPSW STORE EXPECTED PSW VALUE
JSR PC,GENR :SET UP GENERAL REGISTERS
SCC .SET ALL CONDITION CODES
noVe JEXECUTE ‘MOVE CHARACTER'® INSTRUCTION
sCHECK RESULTS
égg PC6£§CC CHECK PSW, GENERATE CONDITION CODES
ERROR 1 sunnnnnnanenannaTEST 3 - ERROR Jtesnenceonennes
:PSW_ERROR . ,
EXPECTED PSW IS STORED A.T' 'EXPPSU '
648 ACTUAL PSW IS STORED AT ‘‘CCODES’’
(0, o a4 SAVRG, SP JVERIFY STACK POINTER ]S RESTORED
BEQ 658 BR IF 0K
MOV SP,a#BADRS JSTORE BAD SP VALUE
ERROR 2 tttitttttttttttrfsr 3 - ERROR 2nenennnsenansns



H 2
JMAIN.  MACYT 30(1046) SZ-;AN'& 08:44_ PAGE 21
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TEST ‘MOVC’" INSTRUCTION WITH SRCAD .LT. DSTAD, SL .GT. DL SEQ 0020

996 :STACK POINTER NOT RESTORED BY INSTRUCTION

997 EXPECTED VALUE OF SP_1$ STORED AT ''SAVR6"’

998 ;ERRONEOUS VALUE IS AT °BADRG"

999 002022 65%:

1000 002022 026704 176626 CMpP FILL.RS ;CHECK R4 UNCHANGED

1001 002026 001401 8EQ 668 :BR IF OK

100% 0020 104003 ERROR 3 JennannnnnnsanesTEST 3 - ERROR 3.""""-""-
100 Rlo SHOULD STILL EQUAL CONTENTS OF LOCATION ‘FILL"’
1004 002032 026705 176620 66$: (W TABLE RS sCHECK RS UNCHANGED

1005 0 001401 8t1 673 ‘BR IF OK

1006 060 1046004 E'.ROR 4 JanennnnsnneaaaaTEST 3 =« ERROR 4enensanatnacenn
1007 RS SHOULD STILL EQUAL CONTENTS OF LOCATION ‘‘TABLE''
1008 002042 67$:

1009 002042 016705 176576 MOV SRCLN,RS :CHECK RO=SOURCE LENGTH MINUS

1010 002046 166705 176576 SUB DSTLN,RS DESTINATION LENGTH

1011 002052 020005 cmp RO.RS
1012 002054 001401 8EQ 2% ;BR IF 0K

1013 002056 104005 ERROR 5 sennnnnnnnnenstaTEST 3 - ERROR Stnnennnnnennens
1074 RO NOT EQUAL TO (SRCLN=DSTLN)

1015 002060 2s: CHECK OTHER GENERAL REGISTERS

1016 002060 005701 TST R1 ;TEST R1

1017 002062 001401 8EQ 68 *BR, IF ZERO

1018 002064 104006 ERROR 6 sennnnnennnnnsaaTEST 3 = ERROR Grenntennneneene
1019 RT SHOULD BE ZERO

1020 002066 005702 68$: TST R2 sTEST R2

1021 002070 001601 8EQ 698 :BR IF ZERO

1022 002072 104007 ERROR 7 senannnnnnanaaneJEST 3 - ERROR 7avenenennaennee
1023 RZ SHOULD 8E ZERO

1024 002074 005703 698: TST R3 R3

1025 002076 001401 BEQ 708 BR IF ZERO

1026 002100 104010 ERROR 10 tasanansnsaaeanaTEST 3 ~ ERROR 10ntvannenaneenes
1027 R3 SHOULD BE ZERO

1028 002102 70$:
1029 :VERIFY DESTINATION AREA

1030 002102 012700 016710 MOV OBUFZ RO POINT RO TO DESTINATION LOWER BYTE BOUNDARY
1031 002106 105720 7S18 (RO)+ :TEST CONTENTS OF BOUNDARY

1032 002110 001401 8EQ 71$ ‘BR. IF STILL ZERO

103 002112 104011 ERROR canannnnnnansaaaTEST 3 = ERROR 11nnnnnnnnnntenne
1034 .LOUER BOUNDARY OF DESTINATION CHANGED

10;2 ; SHOULD STILL EQUAL ZERO

10 882114 71%:

1037 2114 016702 176556 MOV SRCAD RZ sPOINT R2 TO SOURCE STRING

1038 120 016701 176524 MoV DSTLN STORE TRANSFER BYTE COUNT IN R1

1039 124 122082 T3E12: (MPB (RO)# (RZ)* :CHECK CHARACTERS IN DESTINATION

1040 1 001401 8EQ +4 :BR IF OK

1041 0021 104012 ERROR 12 JannnnnannasaneeTEST 3 =« ERROR 12%ntanannnantans
104§ CWARE ERROR IN DESTINATION

}84“ RO CONTAINS THE PC+1 OF THE BAD DESTINATION CHARACTER
1045 00 Tiz Sggl DEC R1 :DECREMENT BYTE COUNT

1049 1 1373 BNE T3E12 BR IF NOT FINISHED CHECKING

104 138 1 5750 TSTB (RO)+ TEST CONTENTS OF DEST. UPPER BOUNDARY

1048 14 1401 BEQ ENDT3 BR. IF STILL ZERO

1049 142 104013 ERROR 13 sannnnnnnnnataaaJEST 3 ~ ERROR 13nnenantcacarses
1050 UPPER BOUNDARY OF DEST. CHANGED

1051 : SHOULD STILL EQUAL ZERO
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012076
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012002
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000676
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1 2

TEST 'MOVC'" INSTRUCTION WITH SRCAD .LT. DSTAD, SL .GT. DL

ENDT3:

tttt.ttttttttt't.ttttttttttttttttttttttttttttt..ttttttttttttt.t

TEST "MOVC'® INSTRUCTION WITH SRCAD .LT. DSTAD, DL .GT.SL
R L e T L e T e T L e P
'PROPER TERMINATION OF THIS INSTRUCTION TEST IS

:*A TRANSF ER OF ALL BYTES FROM SOURCE TO DESTINATION

S«AND "FILL'' CRARACTERS IN THE LSB OF THE DESTINATION,

:#RO=~>R3 EQUAL TO ZERO, AND CONDITION CODES N,C=1

tTEST 4

'AND 2.v=0

tt.tttttt.tt..ttt...ttt.'.tt.tt'ttttt....tttt..tttttttttttt..tt
ttttttttt'tttt'ttt.ttt...t.ttt.tt.Q'tt..ttlt..tlt..t.tttttttQtt

7574 SCOPE
JSR

JSR
JSR
D

JSR
+CLN!CLC
+SEV!SE2

Mov(
JSR

BEQ
ERROR

648
(MP
BEQ

MOV
ERROR

65%:
TST

BEQ

ERROR
1$:

TST

ERROR

TST
8tq

66$%:

RS PREP
374

BUF 1

376
BUF2+1
377
PC.CLDST

RS, XPSW
211
PC.GENR

PC,CKCC
648

@#SAVR6, SP
65$
gP.i#BADRb

sSET UP INSTRUCTION ARGUMENTS

DESYINATION LENGTH

sDESTINATION ADDRESS

sFILL CHARACTER

$CLEAR DESTINATION AREA § SET DEST. ADDRESS
:STORE EXPECTED PSW VALL.

;SET UP GENERAL REGISTERS
CLEAR CONDITION CODES NEC
SET CONDITION CODES VEZ
SEXECUTE ‘MOVE CHARACTER'* INSTRUCTION

sCHECK RESULTS
;CHECK PSW, GENERATE CONDITION CODES

tttttttttttttttffo 4 = ERROR 1esssessensnnsnn

;PSW_ERROR
SEXPECTED PSW IS STORED AT 'EXPPSW'
;ACTUAL PSW IS STORED AT ‘'CCODES‘

ZSRIFYOETACK POINTER IS RESTORED
;STORE BAD SP VALUE

t.tt--n-ttnttt-tfst 4 = ERROR 2tnasnnntenntceny
STACK POINTER NOT RESTORED BY INSTRUCTION
EXPECTED VALUE OF SP IS STORED AT *‘SAVR6
ERRMEOUS VALUE IS AT 'BapYs"’

:CHECK RU=ZERO
:BR, IF ZERO
tttt.tnt--ttttttfst 4 = ERROR Jrvsnnnnnnnanney

:RO_SHOULD BE ZERO
;CHECK OTHER GENERAL REGISTERS
TEST R1

:BR, IF ZERO
ttttttttt-tttt-tgst 4 = ERROR 4ennnsnaenuneany

R SHOgLD BE ZERO
;TEST R
:BR IF ZERO

SEQ 0021

|
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(VKAIB.P11  22-JAN-82 0 TEST "MOVC'" INSTRUCTION WITH SRCAD .LT. DSTAD, DL .GT.SL SEQ 0022
1108 002254 104005 FRROR 5 ;ecenceenneeneeeTEST 4 = ERROR Steveesnnnnnnnne
1109 RZ SHOgLD BE ZERO
1110 00225¢ 005703 67%: TST R3
1111 002260 001401 BEQ 68$ BR. IF 2ERO
111% 002262 104006 ERROR 6 sennennnawannaeaTEST 4 - ERROR Geveveeecaranene
m :R3 SHOULD BE Z2ERO
1114 002264 68%:

1119 002264 026704 176364 CNP FILL,R& -CHECK R4 UNCHANGED

1116 002270 001401 8EQ 69% :BR IF OK

1117 002272 104007 ERROR 7 ttttttttnttttttrfsr 4 - ERROR 7..""\"'!".'
1118 R4 SHOULD STILL EQUAL CONTENTS OF LOCATION ‘FILL®’
1119 002276 026705 176356 698: cMP TABLE ,RS sCHECK R5 UNCHANGED

1120 002300 001401 BEQ 708 :BR IF OK

1121 002302 104010 ERROR 10 sevennnneneenaedTEST 4 -~ ERROR 10eenennnnnnnntnn
1122 RS SHOULD STILL EQUAL CONTEN:. . OCATION ‘‘TABLE''
1123 002304 708:

1124 sVERIFY DESTINATION

1155 002304 012700 016710 MoV #BUF2 RO *POINT RO TO DESTINATION LOUER BYTE BOUNDARY
1126 002310 105720 TST8 (RO) + ;TEST CONTENTS OF BOUNDAR

1127 002312 001401 BEQ 718 :BR, IF STILL 2ERQ

1128 002316 104011 ERROR 11 "ttt"t"“"tTEST 4 - ERROR 11tennnnenntennen
1129 :LOWER BOUNDARY OF DESTINATION CHANGED

1130 i SHOULD STILL EQUAL ZERO

1131 002316 718:

1132 002316 016702 176324 2s: MOV SRCAD ,R2 JPOINT R2 TO SOURCE ADDRESS

1133 002322 016701 176316 MOV SRCLN,R1 *STORE TRANSFER BYTE COUNT IN R1

1134 002326 122022 T4E12: (MPB (R0)+ (R2)+ :CHECK CHARACTERS IN DESTINATION

1135 002330 001401 8EQ :BR IF OK

1136 002332 104012 ERROR 12 savennnennenenadTEST 4 - ERROR 12¢ennnnannnnnnesn
1137 :COMPARE ERROR IN DESTINATION

”%g *RO CONTAINS THE PC+1 OF THE BAD DESTINATION CMARACTER
1140 002334 005301 DEC Rl sDECREMENT BYTE COUNT

1141 002336 001373 BNE T4E12 :BR, IF NOT_FINISHED CHECKING

114% 002340 016705 176304 MOV DSTLN RS CAI.CULATE THE NUMBER OF °FILL"

1143 002346 166705 176274 suB SRCLN.R5 CHARACTERS THAT SHOULD APPEAR IN DEST.

1144 002350 010501 MOV RS R1 ;STORE YkANSFER BYTE COUNT IN R1

1145 002352 122067 176276 T4E13: (MPB (R6)+ FILL CHECK CHARACTERS IN DESTIMTIM

1146 002356 001401 BEQ .BRI 0K

1147 002360 104013 ERROR 13 sansnnsneananessTEST 4 ~ ERROR 13nennnnennennner
1148 *COMPARE ERROR IN DESTINATION

”gg RO CONTAINS THE PC+1 OF THE BAD DESTINATION CHARACTER
1151 2362 005301 DEC R1 DECREHENT BYTE COUNT

1152 002364 001372 BNE T4E13 TF NOT FINISHED CHECKING

1153 002366 105720 1S78 (RO) + TE§T CONTENTS OF DEST. UPPER BOUNDARY

1154 002370 001401 BEQ ENDT4 :BR, IF STILL ZERO

1155 002370 104014 ERROR 14 tentaeaneneneanaTEST 4 - ERROR 14neavsnsventnene
1156 $UPPER BOUNDARY OF DEST. CHANGED

1157 : SHOULD STILL EQUAL ZERO

Hgg 002374 ENDT4:

1160 ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt

1161 tTEST S TEST "MOVC’' INSTRUCTION WITH SRCAD=DSTAD, SL .LT. DL

1162 JARRRRREEARARARREAEEAER AR RANRREAAAANAG A AAARAN SRR RARCROCERNACANS

1163 tPROPER TERMINATION OF THIS INSTRUCTION TEST IS




2

»

ﬂNhJ—KD€ND‘MOWA‘%ANN‘ChOgﬁ:3§=g: Eﬁ!

OO OO OOV KOO0 G000 000000~~~ ~
O 803N0m§ N NN NNNNNNNO

d amh D e d e ) =D el D el b csd ) d il e e i id d D ed e D e —h D —d —
0
SQ\JOV\&W-&

“"“Ef“_'
FIRER=S

QOO

e e e ot b o b b e e b D o d e od et D d D e e e b e b b d d e d e d o b i D i d bl ed d D d d D d d e D d N
O®NONES NN —=OVEN

[N NTNT NN NT N LT N, NI R0 1 [,

—rh e e el md b el ) b

K 2
PACYIT 0(1046) 22-JAN-B2 0B:44. PAGE 26 .. ..
P11 23-JAN-82 0B:43 15 TEST 'MOVC'* INSTRUCTION WITH SRCAD=DSTAD, SL .LT. DL SEQ 0C.

;*NO CHARACTERS TRANSFERED TO THE DESTINATION,
;*RO-->R3 EQUAL TO ZERO, AND CONDITION CODES
:.~0v=1 mo C.z=o.

;*BOTH SOURCE AND DESTINATION ADDRESSES SHOULD
;+BE DON'T CARE VALUES, THEREFORE A PROBABLE
;*NON=-EXISTANT MEMORY LOCATION WILL BE USED FOR
:*BOTH ADDRESSES

::ttttttttttttttttttttttttttt'ttttttttttt'ttttﬁttttttttttt'tttt't
S 2322222328222 3223 2 1222222222232 22 03 220 2t R atiitiiadistslt)

002374 000004 TSTS: SCOPE

002376 004567 011646 JSR RS ,PREP :SET UP INSTRUCTION ARGUMENTS

002402 000010 10 ;SOURCE LENGTH

002404 016711 BUF2+1 :SOURCE ADDRESS

002406 000015 15 ;DESTINATION LENGTH

002410 016711 BUF 2+1 ;DESTINATION ADDRESS

002412 000377 377 sFILL CHARACTER

002414 004767 011656 JSR PC,CLDST

002420 004567 011700 JSR RS ,GENSRC ;GENERATE A SOURCE STRING

002424 000010 .WORD 10

002426 016711 .WORD BUF 2+1

0024630 004567 011710 JSK R5 XPSW :STORE EXPECTED PSW VALUE

002434 000211 .WORD 211

002436 004767 011542 JSR PC,GENR JSET UP GENERAL REGISTERS

002442 000245 +CLZ!CLC JCLEAR CONDITION CODES 2 & C

002444 000272 +SEV!SEN ;§ET CONDITION CQPES VEeN
JEXECUTE VE CHARACTER'®' INSTRUCTION

002446 076030 MOV(C
JCHECK RESULTS

002450 004767 011714 JSR PC,CKCC :CHECK PSW, GENERATE CONDITION CODES

002454 001601 B8EQ 648

002456 104001 ERROR 1 sanxnnnsanneatasTEST 5§ = ERROR Teexwnnnnannenne
+PSW ERROR
EXPECTED PSW IS STORED AT ‘EXPPSW'’
;ACTUAL PSW IS STORED AT ‘‘ccobCs’’

002460 648:

002460 023706 000676 CMp a#SAVRG, SP JVERIFY STACK POINTER IS RESTORED

002464 001403 BEQ 65 :BR IF 0K

002466 010637 000700 Mov SP ,a#BADRG :STORE BAD SP VALUE

002472 104002 ERROR 2 sunnnnnaanesxeasTEST S =~ ERROR 2wantntnnnnnenen
;STACK POINTER NOT RESTORED BY INSTRUCTION
JEXPECTED VALUE OF SP l§ STOREP AT ''SAVR6''
:ERRONEOUS VALUE 1S AT ‘BADR6

002474 65%:

002474 005700 TST RO :CHECK RO FOR ZERO

002476 001401 BEQ 1$ :BR, IF EQUAL

002500 104003 ERROR 3 sannnnnsnasnnexsTEST 5 - ERROR Jenanansnnrannne
;RO SHOULD BE ZERO

002502 1$: JCHECK OTHER GENERAL REGISTERS

002502 005701 TST R1 JTEST R1

002504 001401 BEQ 663 :BR, IF ZERO

002506 104004 ERROR 4 sennnnnannaxsaaaTEST 5 = ERROR 4erranensnnsnany
:R1 SHOULD BE ZERO

002510 005702 66$: TST R2 JTEST R2

002512 001401 BEQ 67% :BR IF ZERO

002514 104005 ERROR 5 sennnanexnnnneneJEST 5 - ERROR SrannananeRatane
;RZ SHOULD BE ZERO
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MACY11_30(1046) g?.z%AN-BZ 08:‘?5 PAGE 25

P11 22-JAN-82 0 TEST 'MOVC'® INSTRUCTION WITH SRCAD=DSTAD, SL .LT. DL SEQ 0024

002516 005703 678: TST R3 ;TEST R3

88 520 001401 BEQ 683 :BR, IF ZERO

522 104006 ERROR 6 ceennnnnnnnennanTEST S = ERROR Gerrrvnsssensnns

;R3 SHOULD BE ZERO

002524 68%:

0025;4 026704 176124 CMp FILL.RG ;CHECK R& UNCHANGED

002530 001401 BEQ 69% :BR IF 0K

002532 104007 ERROR 7 sensrennsesstadaTEST 5 = ERROR 7etennnnnnannnne
;R4 SHOULD STILL EQUAL CONTENTS OF LOCATION ‘FILL'

002534 026705 176116 69%: P TABLE ,R5 JCHECK R5 UNCHANGED

002540 001401 BEQ 708 ;BR IF 0K

002542 104010 ERROR 10 sunncannnnnsnnnsTEST S - ERROR 100 snnananansnnns

002544 208 ;RS SHOULD STILL EQUAL CONTENTS OF LOCATION °‘TABLE'

002544 012700 016710 v #8UF2 RO ;POINT RO TO DESTINATION LOWER BYTE BOUNDARY

002550 105720 7518 (RO)+ ;TEST CONTENTS OF BOUNDARY

002552 001401 BEQ 718 s8R, IF STILL ZERO

002554 10401 ERROR 11 sannennennenat s JEST 5 = ERROR 11vennennnnnnnnne
;LOWER BOUNDARY OF DESTINATION CHANGED
; SHOULD STILL EQUAL ZERO

102556 718:

002556 012702 016711 MOV #BUF2+1 ,R2

002562 016701 176056 MOV SRCLN.R1 sSTORE TRANSFER BYTE COUNT IN R1

002566 122022 TSE12: CMPB (RO)+,(R2)+ JCHECK CHARACTERS IN DESTINATION

002570 001401 BEQ R H IF 0K

002572 104012 ERROR 12 cannnnnneesstasttTEST § = ERROR 12vteananwannnnen

COMPARE ERROR IN DESTINATION
‘RO CONTAINS THE PC+1 OF THE BAD DESTINATION CHARACTER

002574 005301 DEC R1 sDECREMENT BYTE COUNT

002576 V01373 BNE TSE12 :BR, IF NOT FINISHED CHECKING

002620 016702 176044 MOV DSTLN,R2 sCALCULATE FILL LENGTH

002604 166702 176034 sus SRCLN,R2

00261V 010201 Mov R2 .R1 ;STORE TRANSFER BYTE COUNT IN R1

002612 122067 176036 TSE13: (MPB (Rb)*,FILL ;CHECK CHARACTERS IN DESTINATION

002616 001401 BEQ b :BR IF 0K

002620 104013 ERROR 13 sannnnensnnnanssTEST 5 = ERROR 13tnnanaenannenny
:COMPARE ERROR IN DESTINATION
;RO CONTAINS THE PC+1 OF THE BAD DESTINATION CHARACTER

002652 005301 DEC R1 :DECREMENT BYTE COUNT

002624 001372 BNE TSE13 :BR, IF NOT SINISHED CHECKING

002626 105720 7818 (RQ) + ;TEST CONTENTS OF DEST. UPPER BOUNDARY

002630 001401 8EQ ENDTS :BR, IF STILL ZERO

002632 104014 ERROR 14 seetnnnsnnnennwe[EST § = ERROR 14nannnnnnnnennny
JUPPER BOUNDARY OF DEST. CHANGED
. SHOULD STILL EQUAL ZERO

002634 ENDTS:

Lt et L L DLl L L
J*TEST A TEST "MOVC’* WITH SRCAD .LT. DSTAD, SRCLN .GT. DSTLN
Pttt e e e L L DL L L DL L
;*THIS TEST CHECKS FOR PROPER TRANSFER OF BYTES WHEN

;*THE DESTINATION AREA 1S CONTAINED WITHIN THE SOURCE AREA.
:«THEREFORE, SRCAD<DSTAD AND SRCLN>DSTLN
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MAIN,  MACY1T 30(1046) 22-JAN-82 08:44 PAGE 26
(VKAIB.PI 22-JAN-82 08:43 T6 TEST "MOVC'* WITH SRCAD .LT. DSTAD, SRCLN .GT. DSTLN SEC

1276 J«THE RESULT 1S A TRUNCATED (LSB OF SOURCE NOT MOVED) SOURCE

1277 :«]N THE DESTINATION, RO EQUALS (SRCLN=DSTLN), AND ALL CONDITION

1278 ;«CODES CLEAR

1279 L R i L L A At el

]?80 ::ttttttttttttttttttttttttttt't't'ttttttttttttttt'tttttttttttt!ti

1281 002634 000004 TST6: SCOPE

1282 002636 004567 011406 JSR RS.PREP sSET UP INSTRUCTION ARGUMENTS

1283 002642 000020 20 ;SOURCE LENGTH

1284 002644 (016710 BUF2 ;SOURCE ADDRESS

1285 002646 000007 7 ;DESTINATION LENGTH

1286 002650 016713 BUF2+3 ;DESTINATION ADDRESS

1287 Q02652 000377 377 JFILL CHARACTER

1288 002654 004567 011444 JSR RS,GENSRC ;GENERATE SOURCE STRING

1289 002660 000020 .WORD 20

1290 002662 016710 .WORD BUF2

1291 002664 004567 011454 JSR RS, XPSW ;STORE EXPECTED PSW VALUE

1292 002670 000200 .WORD 0

1293 002672 004767 011306 JSR PC.,GENR :SET UP GENERAL REGISTERS

1294 JSET ALL §0NDITJON CODES

1295 ) sEXECUTE 'MOVE CHARACTER'' INSTRUCTION

1296 002676 076030 MOV(C

1297 ;sCHECK RESULTS

1298 002700 004767 011464 JSR PC,CKCC ;CHECK PSW, GENERATE CONDITION CODES

1299 002704 001401 BEQ 648

1300 002706 10400: ERROR 1 seennnannnaaeateTEST 6 = ERROR Teevnannnnnannne
1301 ;PSW ERROR

1302 SEXPECTED PSW IS STORED AT 'EXPP§H“

1303 ;ACTUAL PSW IS STORED AT °‘‘CCODES''

1304 002710 648:

1305 002710 023706 000676 CMP a#SAVRS, SP ;VERIFY STACK POINTER IS RESTORED

1306 002714 001403 BEQ 65 :BR IF 0K

1307 002716 010637 000700 MOV SP ,a#BADR6 ;STORE BAD SP VALUE

1308 002722 104002 ERROR 2 sennnnnenanasata[EST 6 = ERROR 2ttvannnanannenn
1309 JSTACK POINTER NOT RESTORED BY INSTRUCTION

1310 ;EXPECTED VALUE OF SP_IS STORED AT ‘‘SAVR6'’

131 sERRONEOUS VALUE IS AT '‘BADR6

1312 002724 65%:

1313 002724 026704 175724 CMP FILL.RS :CHECK R4 UNCHANGED

1314 002730 001401 BEQ 663 ;BR IF 0K

1315 002732 104003 ERROR 3 saxunnnaneaaaa e TEST 6 ~ ERROR Jnennnanannnnnns
1316 :R& SHOULD STILL EQUAL CONTENTS OF LOCATION "FILL'
1317 002734 026705 175716 66%: CMP TABLE ,RS ;CHECK R5 UNCHANGED

1318 002740 001401 BEQ 67% ;BR IF 0K

1319 002742 104004 ERROR 4 JannnnannankatdaTEST 6 =~ ERROR 4Hannasnnanantnnn
1320 :R5 SHOULD STILL EQUAL CONTENTS OF LOCATION ‘TABLE''
1321 002744 678:

1322 0027446 016705 175674 MOV SRCLN,RS :CHECK RO=SOURCE LENGTH MINUS

1323 002750 166705 175674 suU8 DSTLN,RS sDESTINATION LENGTM

1324 002754 020005 cHP RO,RS

1325 002756 001401 BEQ 2%

1326 002760 104005 ERROR 5 sunnnnnsenannnsaTEST 6 = ERROR Stannanntvanneny
1327 ;RO NOT EQUAL TO (SRCLN-DSTLN)

1328 002762 2s:

1329 002762 005701 TST R1 ;TEST R1

13 002764 001401 BEQ 68s :BR, IF ZERO

1331 002766 104006 ERROR 6 JNNRNRnnnnnnneasTEST 6 ~ ERROR Grenvsnansnnnnny
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MACY11 30(1046) 22~JAN-B2 08:44 PAGE 27 , "
P11 22-JAN=-82 08:43 16 TEST 'MOVC'' WITH SRCAD .LT, DSTAD, SRCLN .GT. DSTLN SEQ 0026

;R1 SHOULD BE ZERO

002770 005702 68$: TST R2 ;TEST R2

002772 001401 BEQ 69% ;BR 1F ZERO

002774 104007 ERROR 7 JunnnakknnnnneasTEST 6 - ERROR 7eesanenneeetant
:R2 SHOULD BE ZERO

002776 005703 69$: TST R3 sTEST R3

003000 001401 BEQ 708 ;BR, 1IF ZERC

003002 104010 ERROR 10 sennkankkenaanssTEST 6 - ERROR 10xeneneanntanenn
JR3 SHOULD BE ZERO

003004 708:
;VERIFY DESTINATION & NON-OVERLAP SOURCE

003004 012700 014310 MOV #BUF1,RO ;CHECK BEGINNING OF OLD SOURCE AREAS

003010 012701 0©.5710 MOV #BUF2.R1

003014 122021 3s: CMPB (ROX+,(R1)+

003016 001401 BEQ 43

003020 104011 ERROR 11 sannnnannknnnnssTEST 6 = ERROR 11ennnsnsnannannn

‘ JNON-OVERLAP SOURCE AREA CHANGED

;RO CONTAINS PC+1 OF CHANGED SOURCE CHARACTER

003022 020167 175624 48: CMP R1,DSTAD :REACHED START OF DESTINATION?

003026 002772 BLT 1s ;BR, IF NO

003130 012702 016310 MoV #BUF1,R2 ;CHfCK DESTINATION AREA

003u34 016703 175610 MOV DSTLN,R3

003040 122221 5%: CMPB (R2)+,(R1)+

003742 001401 8EQ 68

003 .4 104012 ERROR 12 . sunnnnneanaansdtTEST 6 = ERROR 12vannensantanany
:COMPARE ERROR IN DESTINATION
:R1 CONTAINS PC+1 OF BAD DESTINATION CHARACTER

003046 005200 68: INC RO :UPDATE POINTER TO QLD SOURCE

003050 005303 DEC R3 :DECREMENT DEST. BYTE COUNT

003052 00137 BNE 5$ :BR, IF NOT FIN]SHED

003054 016703 175566 MOV SRCAD,R3 +CHECK LOWER PORTION OF NON-OVERLAP SOURCE

003060 066703 175560 ADD SRCLN,R3

003064 122021 78: CMPB (RO)+,(R1)+

003066 001401 BEQ 108

003070 104013 ERROR 13 sunnnnntananntatTEST 6 = ERROR 13tenannnnnnnnans
:NON-OVERLAP SOURCE AREA CHANGED
;RO CONTAINS PC+1 OF CHANGED SOURCE CHARACTER

003072 020103 108: CMp R1,R3 ;FINISHED CMECK?

003074 002773 BLT 7% ;BR, IF NO

;;tttttt*t't't'ttittltt"ttt'tﬁt.'t.t"it't*tt't.tttttt""'t"t'
SeTEST 7 TEST "MOVC'* WITH DSTAD .GT. SRCAD, SRCLN .LT. DSTLN
;;'ﬁltlt'tt'tt'tttttttt""'t'tttl't"t."'.tt"."t'ttt'.ttttttt
*ATHIS TEST CHECKS FOR PROPER TRANSFER OF BYTES WHEN

*«THE SOURCE AREA 1S CONTAINED WITHIN THE DESTINATION AREA.
*«THEREFORE, SRCAD>DSTAD AND DSTLNDSRCLN.

*«THE RESULT IS A FULL TRANSFER OF THE SOURCE TO THE

;+DESTINATION AND "FI\L * CHARACTERS IN THE |38 OF THE
+DESTINATION; RO-->R3 EQUAL ZERO, AND CONDITION

:«CODES N,C=1 AND Z,V=0

:;tt't"'tttt'tt'tttt'tttt'ttttttt"tttittt'ttt'.tttttt'ttttttt't
St AARARANANARRANRNRARAARAARARRARARARARAANARNARAAARRARAARRRARARACRAR

¥817:  scope
JSR RS,PREP ;SET UP INSTRUCTION ARGUMENTS
7 *SOURCE LENGTH
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003150

003152
003156
003160

003162
003162
003166
003170
003174

003176

003202

003204
003204
003206
003210

003212
003214
003216

003220

003244

0(1046)
2 C8:4

-JAN-8

205700
001401
104003

005701
001401
104004

005702
001401
104005

005703
001401
104006

026704
001401
104007

026705
001401
104019

011154
011176

011206
011040

011212

000676
000700

175422

175414

22~JAN=-82 08:44 FAGE 28
43 17 TEST "MOVC'’ WITH DSTAD

648

65%:

18:

66$:

67$:

68$:

69$:

+SEVISEZ

mMovC
JSR

8EQ
ERROR

CHP
8EQ

ERROR

TST
8EQ
ERROR

TST
8EQ
ERROR
TST
8
ERROR
TST

8EQ
ERROR

P
8EQ
ERROR

CMP
8EQ
ERROR

BUF2+3

17

BUF2+1
377
PC,CLDST
;S.GENSRC

BUF2+3
RSiXPSU

21

PC,GENR

PC,CKCC
648

a#SAVR6, SP
653
SP.iﬂﬁAbﬂé

R3

68%

6
FILL.R4
69%

TABLE RS
708
10

.6T. SRCAD, SRCLN .LT. DSTIN

sSOURCE ADDRESS
sDESTINATION LENGTH

SEQ 0027

;DESTINATION ADDRESS
sFILL CHARACTER

:CLEAR DESTINATION
;GENERATE A SOURCE STRING

sSTORE EXPECTED PSW VALUE

;SET UP GENERAL REGISTERS
CLEAR CONDITION CODES N & C
SET CONDITION CODES V & Z
;EXECUTE "MOVE CHARACTER'* INSTRUCTION

sCHECK RESULTS
sCHECK PSW, GENERATE CONDITION CODES

susanatnnsvanatd[EST 7 = ERROR 1tosansnnseensnn
:PSW_ERROR

:EXPECTED PSW 1S _STORED AT "EXPPSW'’

SACTUAL PSW IS STORED AT ‘‘CCODES'

gER§FYQETACK POINTER IS RESTORED
:STORE BAD SP VALUE

sunnansatanateda*TEST 7 = ERROR 2ntnaavtkanavnnn
:STACK POINTER NOT RESTORED BY INSTRUCTION
:EXPECTED VALUE OF SP IS STORED AT °'SAVRé'
:ERRONEOUS VALUE IS AT 'BADR6"™

sCHECK RO FOR ZERO
:BR, IF ZERO
sxennnesnsnaneneTEST 7

cRO SHOULD BE ZERO

sTEST R1
:BR, IF ZERO

JannnnsnannnnnnsTEST 7

:R1_SHOULD BE ZERO
2TEST R2
:BR IF ZERO

seenneennnnseannTEST 7

R2 SHO?LD BE ZERO
BR. IF 2ERO

tttttttttnttttttEST 7

:R3 SHOULD BE ZERO
'CHECK R& UNCHANGED
;B8R IF OK

ERROR 3setnantntnanene

ERROR 4rvntanansannnne

ERROR Setennntsnannnnn

ERROR Gontnnnsnasasons

JunnnnnennseanesTEST 7 - TRRARRAERARRGRRAR

ERROR
:R4 SHOULD STILL EQUAL CONTENTS OF LOCATION ‘FILL'
SSEEF R5 UNCHANGED

.ittt119§tttttttTEST 7 = ERROR 10ssnsnsnnnanennn
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P11 22=-JAN-82 TEST "MOVC'' WITH DSTAD .GT. SRCAD, SRCLN .LT. DSTLN SEQ 0028
:RS5 SHOULD STILL EQUAL CONTENTS OF LOCATION °‘‘TABLE''

003246 708 :
:VERIFY DESTINATION

003246 012700 016710 MOV #BUF2 RO POINT RO TO DESTINATION LOWER BYTE BOUNDARY

003252 105720 TSTB (RO)+ ;TEST CONTENTS OF BOUNDARY

003254 001401 B8EQ 718 BR. IF STILL ZERQO

003256 104011 ERROR 1 JanknnnananendasTEST 7 = ERROR 11tesnnnnanenense
LOHER BOUNDARY OF DESTINATION CHANGED
: SHOULD STILL EQUAL ZERO

003260 718:

003260 012702 016310 2s: MOV #BUF1,R2 :POINT R2 TO ORIGINAL SOURCE BYTES

003264 016701 175354 MOV SRCLN,R1 ;STORE TRANSFER BYTE COUNT IN RI

003270 122022 T7E12: CMPB (RO)+,(R2)+ “CHECK CHARACTERS IN DESTINATION

005272 nO140 8EQ ) "R IF 0K

003274 104012 ERROR 12 ; wneneennnneeneTEST 7 = ERROR 12¢vtavennenannee
CWARE ERROR IN DESTINATION
RO CONTAINS THE PC+1 OF THE BAD DESTINATION CHARACTER

003276 005307 DEC R1 :DECREMENT BYTE COUNT

003300 001373 BNE T7E12 BR. IF NOT FINISHED CHECKING

002302 016705 175342 MOV DSTLN.RS ;CHECK FILL

003306 166705 175332 sUB SRCLN,RS

003312 122067 175336 3s: CMPB (RO)+ FILL

003216 00140 B8EQ 43

003320 104013 ERROR 13 sennnnnnnnenetsaTEST 7 = ERROR 13evenennennnenen
"FILL“ ERROR IN DESTINATION

003322 105305 48: DECB RS

003324 001372 BNE 3s

003326 105720 T1S18 (RO) + :TEST CONTENTS OF DEST. UPPER BOUNDARY

003330 001401 BEQ ENDT?7 BR IF STILL ZERO

003332 104014 ERROR 14 nnnnntnn‘rES‘r 7 = ERROR 14nnnanannnnnnnen

:UPPER BOUNDARY OF DEST. CHANGED
; SHOULD STILL EQUAL ZERO
003334 ENDT?:

Qttt..'t.t*.t..'.ltt.Qttttt.....tt.t'tt.t..tttttt.ittttt't't..t

rresr 10 TEST *MOVC'* WITH DSTAD .LT. SRCAD & SRCLN .GT. DSTLN, (TRUNCATON)
tt'tttt."t.t.tt'tttt.ttttt't'..t..t.t'.ttt"""'ﬁtttt"t.ttt.

S4THIS TEST CHECKS FOR PROPER TRANSFER OF BYTES WHEN THE

*«SOURCE IS HIGHER IN MEMORY THAN THE DESTINATION AND THE TRANSFER

«IS TRUNCATED (SRCLN > DSTLN).

*«THE RESULT IS A TRUNCATED SOURCE IN THE DESTINATION, RO-->R3

~sowu. ZERO, AND ALL CONDITION CODES CLEAR.

ttttttttt'.'t.tttttttttttttt't..'.ttttt..tt.ﬁ't'.'ﬁ.ttttttt..tt
tttttttttttttttttttttttttittttttttttttttt"ttttii'ﬁtttttttttttt

003 iz 000?04 TST10 SCOPE

3 7 070706 JSR R5,PREP sSET UP INSTRUCTIW ARGUMENTS

3342 9% 20 :SOURCE LENGTH

3344 018 0 BUF2+20 :SOURCE ADDRESS

g 8 7 ;DESTINATION LENGTH

b} 16711 BUF2+1 ;DESTINATION ADDRESS

3352 77 377 ;FILL CHARACTER

3354 004767 010716 JSR PC,CLDST :CLEAR DESTINATION AREA
003360 004567 010740 JSR R5,GENSRC :GENERATE SOURCE STRING




JMAIN.  MACY11_30(1046)
22-yAN-82 0

364 000050
3366 016730

CVKAIB.P11

-
w
o
juary

R N AIAL RONIAINORINUAIN) = b b b b b b b 2 o
0wn$h~nu~c»oarvan#wumn-c»oavqunbuuv—u:iﬁg\éasﬁﬁzﬁz

WG AU WA A WY VHA AT A AT LA AT M A NTA A AWV WAL VAVAVIWAWA

b e S el e il e D e D D D ek o e it e e h eth o i D e ek eh e i h D e D ki d d D e D o d d o D e D st d e e b
AN

WAHAVIWAA VWA VA VAVAVAVH AV LA LA
VIR S SBN00

VIS W) = O O@MNO NS NN -2 OO~
v
v
(=3
~N
-—
o
S
~

004567

0
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6

004767

3402 000277
003404 076030

003416 023706
003422 001403
003424 010637
003430 104002

003432

003432 026704
003436 001401
003440 104003

003442 026705
003446 001401
003450 104004

003452
003452 016705

003466 104005

003470

003470 005701
003472 001401
003474 104006

010750
010602

010756

000676
000700

175216

175210

016710

22~JAN-82 08:44 PAGE
B:43 T10

648:

65%:

66$:

67%:

68S$:

69%:
708 :

718:

30

b 3

TEST "MOVC’' WiTn DSTAD

20
BUF 2420
RS XPSW
00

2
PC,GENR

PC,CKCC
648

@4SAVR6 , SP
65%
gP.iﬁBADR6

FILL,RG
66%
TABLE.RS
67%

SRCLN.RS
DSTLN.RS
RO RS
gsi

~AND NND OO0ND
Ol onN o ad
L «w [~

~~
mg
(=4
~r N
+* N
-
P-4
o

.LT. SRCAD & SRCLN .GT. DSTLN, (TRUNCATON)

;STORE EXPECTED PSW VALUE

sSET UP GENERAL REGISTERS
JSET ALL CONDITION CODES

;EXECUTE 'MOVE CHARACTER'' INSTRUCTION
sCHECK PSW, GENERATE CONDITION CODES

soennnnnnaneeaaaTEST 10 - ERROR Totevvnvnaneener

:PSW _ERROR

sEXPECTED PSW IS STORED AT 'EXPPSW'
sACTUAL PSW IS STORED AT ‘‘CCODES'

:vea{;voercx POINTER IS RESTORED
*STORE BAD SP VALUE

snnannnnnnaatadaTEST 10 = ERROR 2vetsnssttnnnnnn
;STACK POINTER NOT RESTORED 8Y INSTRUCTION
;EXPECTED VALUE OF SP_IS STORED AT ‘SAVR6
;ERRONEOUS VALUE IS AT 'BADR6

sCHECK R4 UNCHANGED
:BR IF 0K

EtttttttttttttttTEST 10 = ERROR Jnranswnntsnntnen
;R4 SHOULD STILL EQUAL CONTENTS OF LOCATION "FILL"
:52E§§ gz UNCHANGED

AR RANRRRRAAAARTEST 10 ~ ERROR 4roveannnanannny

SEQ 00~

RS SHOULD STILL EQUAL CONTENTS OF LOCATION ‘‘TABLE"

sCHECK RO=SOURCE LENGTH MINUS
: DESTINATION LENGTH

sunnnnnnnannntastTEST 10 = ERROR Stvennnnentennny
2RO NOT EQUAL TO (SRCLN-DSTLN)
s CHECK ?THER GENERAL REGISTERS

JTEST R

:BR, IF ZERO

sAARRt Rt Akt e TEST 10 ~ ERROR Ottvensnsnnansty

*R1 SHOULD BE ZERO
“TEST R2

*BR IF ZERO

AR AN AR TEST 10 ~ ERROR 7tttnsatasnnntns

*R2 SHOULD BE ZERO
STEST RS
;BR, IF ZERO

sannnnnenavattt2TEST 10 ~ ERROR 10xxnassntwnwanene

*R3 SHOULD BE ZERO

sVERIFY DESTINATION AREA
;POINT RO TO DESTINATION LOWER BYTE BOUNDARY
sTEST CONTENTS OF BOUNDARY
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(VKALIL.P11 22-JAN=-82 08:43 110 TEST "MOVC'' WITH OSTAD .LT. SRCAD £ SRCLN .GT. DSTLN, (TRUNCATON) SEQ 0030
1556 003530 001401 BEQ 7¢8 :8R, IF STILL 2ERO
1557 003522 104011 ERROR 11 tesessnsnnecaaeeTEST 10 - ERROR 1)entnnecnancanee
1558 LOHER BOUNDARY OF DESTINATION CHANGED
1559 : SHOULD STILL EGUAL ZERO
1560 003524 72%:
1561 003524 016702 175116 MOV SRCAD R2
156§ 0035 016791 175114 MoV DSTLN :STORE TRANSFER BYTE COUNT IN R1
1563 0035 122022 T10£12: CMPB (R0)+ (R2)+ ;CHECK CHARACTERS IN DESTINATION
1564 0035 001401 B8EQ ,BR IF 0K
1565 003540 104012 ERROR 12 sesennncnnenceeaTEST 10 - ERROR 12¢evtennneeenenn
1566 CWARE ERROR IN DESTINATION
}ggg RO CONTAINS THE PC+1 OF THE BAD DESTINATION CHARACTER
1569 003542 005301 DEC R1 :DECREMENT BYTE COUNT
1570 0035446 001373 BNE T10€12 BR IF NOT FINISHED CHECKING
1571 003546 105720 7§18 (RO)+ TEST CONTENTS OF DEST. UPPER BOUNDARY
157% 883550 001401 8EQ ENDT10 BR. IF STILL ZERO
187 35582 104013 ERROR 13 JuntannnnenennssTEST 10 = ERROR 13teranenannnannn
1574 UPPER BOUNDARY OF DEST. CHANGED
1575 : SHOULD STILL EQUAL ZERO
1576 003554 ENDT10:
1577
7
1580 R L L L L Ll Ll il bdivddebibdaintiibibiabbb b b LA L1 1)
1581 tTEST 7 TEST THAT BAD 'MOVE'' OPCODES TRAP
1582 -tntttt"ttttttttnnttttttttt"ntt"t"ttntttttut"ntntn
1583 tTHlS TEST VERIFIES THAT OPCODES 076032-->076037 TRAP TO
1584 "LOCATIW 10
1585 tttttttttt"tttttttttnntt"tntnttt"t"t"ttt"tnnttntn
1586 . -tntt"t"tttttnttt"ntttttttttntt"tttttttttttnt"nnnn
1587 003554 000004 tST11:  scope
1588 003556 004567 010466 JSR RS ,PREP JSET UP INSTRUCTIM ARGUMENTS
1589 88;562 016310 BUF1 .SOU!CE LENGTH
1590 S64 000010 10 ;SOURCE ADDRESS
1591 35 16710 BUF?2 ;DESTINATION LENGTH
159 8835 0 19 10 -DESTINATIW ADDRESS
159 572 7 37?7 sFILL CHARACTER
1594 003524 012737 076032 093622 MoV #076032 848011 STME THE FIRST BAD MOVE OPCODE
1595 003605 01 7?7 00%010 175076 MOV MIO,TEﬁﬂ SAVE ILLEGAL INSTRUCTION TRAP VECTOR
1599 88%21 012737 80 332 000010 MOV #T11CONT 3410 POINT ILLEGAL INSTRUCTION VECTOR TO CONTINUE TEST
}gga 16 004767 010362 REP11: JSR PC.GENR SET UP GENERAL REGISTERS
}233 003622 076032 8D11: LWORD 076032 :EXECUTE BAD MOVE INSTRUCTION
1601 003624 016700 177772 Moy 8p11,R0 :STORE BAD OPCODE THAT DID NOT TRAP
1602 003630 104001 ERROR 1 ,ttunttttt"ntES‘r 11 = ERROR 1ensneesnanatees
1603 :BAD MOVE OPCODE DID NOT TRAP
}ggé RO CONTAINS THE BAD OPCODE
1606 003632 012626 T11CONT : MOV (SP)+,(SP)+ sRESTORE THE STACK POINTER AFTER THE TRAP
1607 003634 005267 177762 INC 8D11 :INCREMENT INSTRUCTION OPCODE
1608 003640 022767 076040 177754 (¢4 #076040,8011 FINISHED WITH BAD MOVE OPCODES?
1609 003646 001363 BNE REP11 :BR IF NOT
121‘? 003650 016737 175032 000010 MoV TEMP1,3410 MESTORE ILLEGAL INSTRUCTION TRAP VECTOR

\
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CVKAIB.P11  22-JAN-82 TEST THAT BAD ‘WOVE'' OPCODES TRAP SEQ 0031
161
1912
1615 R e R ey e e a2 228332223833223232232332 2322283}
1616 -resr 12 TEST INTERRUPTABILITY OF ‘MOVC'* INSTRUCTION
1617 R L L L L Lt bbb bl dndeindvhdninbdniuindaivibiyiiviib bbb L AL AL S AL L)
1618 iTHIS TEST INTERRUPTS THE EXECUTION OF THE 'MOVC''
1619 t«INSTRUCTION, RESUMES THE INSTRUCTION AFTER THE
1620 t«INTERRUPT, AND VERIFIES THE RESULTS.
1621 ‘«THE PROPER RESULT IS ALL BYTES MOVED
162§ teTO THE DESTINATION, RO-=>R3 EQUAL ZERO
16 S«AND CONDITION CODES N.C=1 AND Z,V=0
16 ‘ . ttt.tttttttttttttttttttttttttttttttttttttttttt'ttttt!tttt'ttttt
16 S tt"ttttttttttttttttttttttttttttttttt'ttttttlttttttt't'tttttttt
1626 003656 000004 $8112:  SCOPE
1627 003660 004767 010526 JSR PC.SKPINT ;SET FLAG =~ TEMP, WHICH INDICATES IFf
1628 *NEXT TEST IS TO BE EXECTED NEXT.
16%9 003664 005767 175014 TST TEMP ‘CHECK IF -TEMP- IS SET
1630 003670 001155 BNE TST13 STEMP IS SET, GO TO NEXT TEST
1631 003672 004567 010352 JSR RS, PREP “SET UP INSTRUCTION ARGUMENTS
1632 003676 000374 374 *SOURCE LENGTH
1633 003700 016310 8UF1 *SOURCE ADDRESS
1634 003702 000376 376 *DESTINATION LENGTH
1635 003704 016711 BUF2+1 ‘DESTINATION ADDRESS
1636 003706 000377 377 SFILL CHARACTER
1637 003710 004767 010362 JSR PC,CLDST *CLEAR DESTINATION
1638 003714 012767 003776 174746 MOV #MC.PCI :STORE PC OF TEST INSTRUCTION
1639 003722 012777 014506 174734 MOV SINTR_QTVECT  ;POINT TTY VECTOR TO INTERRUPT ROUTINE
1620 003730 005077 174732 CLR aTPSu *ALLOW INTERRUPTS AFTER TTY INTERRUPT
1661 003736 004767 010522 JSR PC, TDONE
1662 003740 013777 000554 174714 ROV a#SNULL,aTBUF  ;SEND CARRIAGE RETURN
1643 003746 004567 010372 JSR RS.XPSW *STORE EXPECTED PSW VALUE
1644 003752 000011 LWORD 11
1645 003754 106427 000000 NTPS  #0 ;SET PSW TO ALLOW INTERRUPTS
1646 003760 052777 000100 174672 8IS noo aTCSR ‘ENABLE TTY INTERRUPTS
1647 003766 004767 10212 REPMC: JSR LGENR *SET UP GENERAL REGISTERS
1648 003772 000251 +cuucn.c
}2‘53 003774 000266 +SEVISEZ
11?31 003776 076030 MC: MOV (C ;EXECUTE 'MOVE CHARACTER''INSTRUCTION
1653 004000 106767 174666 MFPS  CCODES ;STORE THE PSW
1654 004 032777 000100 174646 81T #100,8TCSR *1F INTERRUPT ARE DISABLED, THF INSTRUCTION WAS NOT INTE
1655 012 001365 BNE REPM( BR £ DO TEST AGAIN, IF INSTRUCTION WAS NOT INTERRUPTED
1656 014 042767 177400 174650 8IC #177400,CCODES :CLEAR ALL UNUSED BITS
1657 022 023767 000674 174642 CMP FEXPPSW,CCODES :CHECK PSW AGAINST EXPECTED VALUE
1658 030 001401 BEQ 648 *BR, IF EQUAL
1659 00464032 1040M ERROR 1 ttttttttttttwtttes‘l’ 12 =~ ERROR 1enanesnsstennne
1660 :PSW ERROR
1661 {EXPECTED PSW IS STORED AT 'EXPPSW'’
usog SACTUAL PSW IS STORED AT '‘CCODES
1653 004034 648 :
1664 ;CHECK RESULTS
1665 004034 023706 000676 P SHSAVRS, SP “VERIFY STACK POINTER IS RESTORED
1666 004040 001403 BEQ 658 *BR IF OK
1667 004042 010637 000700 MOV SP, a#BADRG *STORE BAD SP VALUE
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CVKAIB.P11 22=-JAN-82 08:4 T12 TEST INTERRUPTABILITY OF "'MOVC'' INSTRUCTION SEQ 0032
1668 0040646 104002 ERROR 2 senenvenanenntnneTEST 12 = ERROR 2vetenenenntnnee
1669 STACK POINTER NOT RESTORED BY INSTRUCTION
1670 EXPECTED VALUE OF SP IS STORFD AT "SAVR6"’
1671 ERR(NEOUS VALUE IS AT °BADR6
1672 004050 65$8:
1673 004050 005700 TST RO s CHECK RO=ZERO
1676 004052 001401 8EQ 1$
1675 004056 104003 ERROR 3 sannennnnnneensaTEST 12 - ERROR Janrannesnennney
1676 RO SHOULD BE ZERO
1677 004056 1$: CHECK OTHER GENERAL REGISTERS
1678 004056 005701 TST R1 ;TEST R1
1679 006060 001401 B8EQ 66$ BR. IF ZERO
1680 0046062 104004 ERROR 4 'tttttttttttttttTEST 12 = ERROR 4rrtemannsnsnsny
1681 ;R1 SHOULD BE ZERO
1682 004064 005702 66$: TST RZ JTEST R2
1683 004 001401 BEQ 67% “BR IF ZERO
1684 004070 104005 ERROR S sannnnannnnannssTEST 12 - ERROR Stnasentannanrnne
1685 RZ SHOULD BE ZERO
1686 004072 005703 67%: TST R3 JTEST R3
1687 004074 001401 B8EQ 68$ BR. IF 2ERO
1688 004076 104006 ERROR 6 JanknnnnnnnnanasTEST 12 = ERROR O6ntnssntnennnnnte
1689 R3 SHOULD BE ZERO
1690 004100 68S$:
1691 004100 026704 174550 (WP FILL R4 ;CHECK R4 UNCHANGED
1692 004104 001401 BEQ 698 :BR IF
1693 004106 104007 ERROR sennennnennnnnesTEST 12 - ERROR 7nt"nn"nn
1694 Rl. SHOULD STILL EQUAL CONTENTS OF LOCATION "FILL'
1695 004110 026705 174542 698: (o, ' TABLE ,RS CHECK RS UNCHANGED
1696 0041146 001401 B8EQ 708 .BR IF
1697 004116 104010 ERROR 10 ~tt--tttttttt-nTE$T 12 = ERROR 10%vssesannenenns
1698 ;RS SHOULD STILL EQUAL CONTENTS OF LOCATION '‘TABLE'
1699 004120 70$:
1700 004120 012700 016710 MOV #BUF2.RO
1701 004124 012700 016710 MOV #BUF2 RO :POINT RO TO DESTINATION LOWER BYTE BOUNDARY
1702 0041 105720 T1STB (RO)+ ;TEST CONTENTS OF BOUNDARY
1703 004132 001401 B8EQ 718 BR. IF STILL ZERO
1706 004134 104011 ERROR 1 jenennnananeannaJEST 12 - ERROR 11eveennanannnnny
1705 LOUER BOUNDARY OF DESTINATION CHANGED
1709 : SHOULD STILL EQUAL ZERO
1707 004136 71s:
1708 004136 016702 174504 4S: MoV SRCAD .R2 ;POINT R2 TO THE SOURCE ADDRESS
1709 0064142 016701 174476 . MOV SRCLN, R STORE TRANSFER BYTE COUNT IN R1
1710 146 122022 T12612: CNPB (RO)* (R2)+ {CHECK CHARACTERS IN DESTINATION
1711 150 001401 BEQ .BR IF 0K
171§ 152 104012 ERROR 12 JennnannnansnnenasTEST 12 - ERRM 124 nnnaannnnnnens
17 CWARE ERROR IN DESTINA
};}g RO CONTAINS THE PC+1 OF THE BAD DESTINATION CHARACTER
1719 154 8853 1 DEC R1 :DECREMENT BYTE COUNT
1”7 128 1; 3 BNE T12€12 BR IF NOT FINISHED CHECKING
1718 1 016701 174464 MoV DSTLN,R1 CALCULATE THE NUMBER OF ‘FILL'
1719 1?& 166701 174454 suB SRCLN,R1 CHARACTERS THAT SHOULD APPEAR IN DEST.
1730 170 1 7 174460 58: CHPB (RO)+,FILL CHECK LSB'S OF DEST. FOR FILLS
1721 174 1401 8EQ 63 /BR, IF EQUAL
1755 176 104013 ERROR 13 JunnanennsanenanTEST 12 = ERROR 13tanasasnsananen
17 "FILL" ERROR IN DESTINATION
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(VKAIB.P11 22=-JAN-82 O TEST INTERRUPTABILITY OF "MOV(C'' INSTRUCTION SEQ 0033
1726 074200 005301 6s: DEC R1 oscasnem FILL COUNT
1725 004202 1 78 BNE b} 3 1F NOT FINISHED
1726 0042064 105 8 Ts18 (RC) + IE§T CONTENTS OF DEST. UPPER BOUNDARY
172/ 006206 0014601 BEQ ENDT12 BR IF STILL 2ERO
1728 004210 104014 ERROR 14 "ttttnttttnt‘rESt 12 = ERROR 14enteccencnnenes
1729 lPPER BOUNDARY OF DEST. CHANGED
17 ; SHOULD STILL EQUAL 2ERO
1731 004212 ENDT12:
1738
1734 004%12 106427 000200 40%: MTPS #200 :RESTORE PSW TO PRIORITY 7
};_{2 004216 016777 1744446 174440 nov TPSW,@TVECT RESTORE TRAP CATCHER
fi
173%9 R L L L L L L L Ll Ll L Ll b ddnidniuiuinbbadodded
1740 tTEST 13 TEST “MOVRC'® INSTRUCTION WITH SRCAD(LSB) .LT. DSTAD(LSB), SL .GT. DL
1741 R T A LR e AL L L] i biobinbitviiibobibaiirtubruiebb b b LA L L DL L
1742 tPROPER TERMINATION FOR THIS INSTRUCTION TEST IS A
1743 tTRtNCATED SOURCE REVERSE (HIGH ADDRESS) JUSTIFIED
1744 t(HlTH MOST SIGNIFICANT BYTES NOT MOVED) IN THE
17245 tDESTIMTIM. RO EQUALS THE NUMBER OF UNMOVED SOURCE
};29 '%{EE‘S‘. R1-=>R3 EQUAL ZERO AND ALL CONDITION CODES
XY
1748 JINNRAAR RN A AN RN E N AR ENRE AR SN RR RN RN TARANRRARRARARARANRAOANSE
1749 NN A RSN NN AN RN AR NAN AN AN RNV AR NN RN NI RRARR AN
1t ;2? 004224 000004 t§113:  scope
1752 004226 004567 010016 JSR RS .,PREP sSET UP INSTRUCTION ARGUMENTS
175% 004232 000020 20 ;SOURCE LENGTH
1754 004236 016310 BUF1 ;SOURCE ADDRESS
1755 004236 000011 11 SDESTINATION LENGTH
1756 004240 016711 §UF2*1 DESTINATIM ADDRESS
1757 004242 000377 7 JFILL CHARACTER
1758 004244 004767 010026 JSR PC.CLDST :CI.EAR DESTINATION
1759 004250 004567 010070 JSR RS XPSVW sSTORE EXPECTED PSW VALUE
1760 38255‘ 000200 .WorRD 200
1761 56 004767 007722 JSR PC,GENR ;SET UP GENERAL REGISTERS
1765 004262 000277 sce :SET ALL CONDITION CODES .
176 EXECUTE MOVE REVERSE CHARACTER
1764 004264 076031 MOVRC
1765 JCHECK RESULTS
1769 004 96 767 010076 JSR PC,CKCC “CHECK PSW, GENERATE CONDITION CODES
176 2 1401 BEQ 648
176% 74 104001 ERROR 1 ntn"tttntnnnrfsr 13 ~ ERROR 1ttesnsannontsne
17 ;PSW ERROR
1% :EXPECTED PSW IS STORED AT 'EXPPSW
1771 ACTUA.. PSW 1S STORED AT ‘‘CCODES
177§ 004276 648 :
177 76 023706 000676 cWP SNSAVRG, SP VERIFV STACK POINTER 1S RESTORED
1774 2 140 BEQ 65$ ‘BR IF OK
1775 010637 000700 MoV P ,8#BADR6 ;STORE BAD SP VALUE
1779 10 1064002 ERROR nnnnnnnntfsr 13 - ERROR Zntnnnnnn
177 STACK POINTER NOT RESTMED 8y lNST!lUC QJ.
1778 *EXPECTED VALUE OF SP IS _STORED AT ‘SAVRO
1779 ERR(NEOUS VALUE IS AT ‘BADRG’
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176336

174330

174306
174306

016710

174234

174224

65%:

66%:

67%:

68S$:

698 :

708:

71%:

72%:

T13€12:

ENDT13:

(wp
8EQ
ERROR

WP
BEQ
ERROR

TEST "MOVRC'® INSTRUCTION WITH SRCAD(LSB) .LT. DSTAD(LS®),

ILL,R4
6$

ABLE ,R5
78

SO0N— WO

SRCLN,RS

lBUF? RO
(RO)+

(R0)+ (R2)+

i3

s CHECK R& UNCHANGED
;BR IF 0K

sevennnnnnnananeTEST 13 - ERROR Stttpt-ttttttttt

SR4 SHOULD STILL EQUAL CONTENTS OF LOCATION "FILL"
CHECK gz UNCHANGED

t.tttttttttttttrfsr 13 -~ ERROR Attttttttttttttt

*RS SHOULD STILL EQUAL CONTENTS OF LOCATION °TABLE''

;CHECK RO=SOURCE LENGTH MINUS
;  DESTINATION LENGTH

SL .GT. DL

senaennseenaneneTEST 13 ~ ERROR Stennnnennnnneny

;RO NOT EQUAL TO (SRCLN=DSTLN)
CHECKR?THER GENERAL REGISTERS

tttttttttttttttTEST 13 = ERROR Gttetanannnnsnsn

:R1 _SHOULD BE ZERO
;TEST R2
:BR IF ZERO

sennnananntnattsTEST 13 = ERROR 7esnnattnnnnenne

;R2 SHOULD BE ZERO
sTEST R3
:BR, IF ZERO

tttttttttttttttTEST 13 = ERROR 10vannannnnanntee

:R3 SHOULD BE ZERO

JVERIFY DESTINATION AREA

POINT RO TO DESTINATION LOWER BYTE BOUNDARY
;TEST CONTENTS OF BOUNDARY

BR. IF STILL ZERO
,ttttttttttttttttESI 13 = ERROR 11rtsnnsnannanane
LOWER BOUNDARY OF DESTINATION CHANGED
SHOULD STILL EQUAL ZERO

CALCULATE ADDRESS OF MSB OF THE
SOURCE TO BE MOVED

sSTORE TRANSFER BYTE COUNT IN R1
CHECK CHARACTERS IN DESTINATION

tttttttttttttttTEST 13 = ERROR 12vteansunanuncnne

; COMPARE ERROR IN DESTINATION
*RO CONTAINS THE PC+1 OF THE BAD DESTINATION CHARACTER

oscaenim BYTE COUNT

IF NOT FINISHED CHECKING
r£§r CONTENTS OF DEST. UPPER BOUNDARY
*BR, IF STILL ZERO
tttttttttttttttTEST 13 = ERROR 13anvansnennnenen
‘UPPER BOUNDARY OF DEST. CHANGED
: SHOULD STILL EQUAL ZERO

SEQ 0034
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1836

—
0000 00
(%
~

.t.'.t.t..tt.t'tt.tttttt'tt...ttttttttt'ttttt't.tttt.tttttttttt

tTEST 14 TEST "MOVRC'' INSTRUCTION WITH SRCAD(LSB) .LT. DSTAD(LSB). .6T. SL

Y S L L L L L L L T T R T R R R R L T T Y T
tPROPER TERMINATION FOR THIS INSTRUCTION TEST IS A
:«TRANSFER OF ALL BYTES FROM SOURCE TO DESTINATION

S«AND 'FILL™ CHARACTERS IN THE MSB OF THE DESTINATION,
'§R3-6>R3 EQUAL 25RO, AND CONDITION CODES N,C=1 AND

L LT e e L L e L T L
R R T T T L L A LT T

U“U-‘CD%ND‘QONAJ“U“V-*CMOOD\M’\hl‘bﬂU-‘C}&ﬁg

3 IR A I I III I

004444 000004 TST14 SCOPE
004446 004567 007576 JSR RS ,.PREP :SET UP INSTRUCTION ARGUMENTS
004452 000011 1" SOURCE LENGTH
004454 016310 BUF1 SOURCE ADDRESS
004456 000020 20 DESTINATION LENGTH
004460 016711 BUF2+1 DESTINATION ADDRESS
004462 000377 377 JFILL CHARACTER
004464 004767 007606 JSR PC,CLDST JCLEAR DESTINATION
004470 004567 007650 JSR RS XPSW STORE EXPECTED PSW VALUE
004474 000211 WorRD 211
004476 004767 007502 JSR PC,GENR :SET UP GENERAL REGISTERS
004502 000251 +CLN!CLC :CLEAR CONDITION CODES N&C
004504 000266 +SEViSEZ :SET CONDITION CODES VEZ
EXECUTE MOVE REVERSE CHARACTER
864 0064506 076031 MOVRC
865 JCHECK RESULTS
866 004510 004767 007654 JSR PC,CKCC CHECK PSW, GENERATE CONDITION CODES
867 004514 0014601 8EQ 648
868 004516 104001 ERROR 1 sannnnnnannanneeTEST 14 - ERROR K12 TERITITINE
86 PSH ERROR

sEXPECTED PSW IS STORED AT 'EXPPSW'’
:ACTUAL PSW IS STORED AT °‘‘CCODES™

— e h e ch e D o e d md D e D d wd wd D D e D e e e el wh —d ) dd WD

[-~1- -}
N
200

1872 004520 643:

1873 004520 023706 000676 CMP @#SAVR6,SP JVERIFY STACK POINTER IS RESTORED

1874 004526 001403 BEQ 658 :BR IF OK

1875 004526 010637 000700 MOV SP,@#BADRG ;STORE BAD SP VALUE

1876 004532 104002 ERROR 2 """""""tTEST 14 = ERROR 2vttwansanananns
1877 STACK POINTER NOT RESTORED BY INSTRUCTION

1878 EXPECTED VALUE OF SP IS STORED AT ''SAVRG'’

1979 ERRONEOUS VALUE IS AT ‘BADRéG'’

1880 004534 65%:

1881 004534 005700 TST RO s CHECK RO-ZERO

1882 004536 001401 B8EQ 18 .BR. IF ZERO

1863 004540 104003 ERROR 3 "-"'t""""TEST 14 = ERROR 3Jveenenenentinne
1884 RO SHOULD BE ZERO

1885 004542 18: CHECK OTHER GENERAL REGISTERS

1886 004542 005701 18T R1 ;TEST R1

1887 004544 001401 BEQ 663 *BR, IF ZERO

1888 004546 104004 ERROR 4 tttttttttttttttTEST 146 = ERROR {erannannssnnnvy
1889 ) :R1_SHOULD BE ZERO

1890 004550 005702 66$: TST R2 :TEST R2

1897 004552 001401 BEQ 67% *BR IF ZERO

SEQ 0035
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~JAN-82 08:43 114 TEST ‘MOVRC'' INSTRUCTION WITH SRCAD(LSB) .LT. DSTAD(LSB), DL .GT. SL St
104005 ERROR 5 sannnananannenesTEST 14 - ERROR Stasenannnnneene
R2 SHOULD BE ZERO
005703 67%: TST R3 JTEST R3
001401 B8EQ 683 :BR, IF ZERO
104006 ERROR 6 ;ennannanenennnsTEST 14 = FRROR Gtetsennnanenten
688 R3 SHOULD BE ZERO
026704 174064 (mP FILL,RG ;CHECK R& UNCHANGED
001401 BEQ 698 .BRI (0 4
104007 ERROR 7 sanannnananansaaTEST 14 = ERROR 7stesnnantnnnnne
Rlo SHOULD STILL EQUAL CONTENTS OF LOCATION ‘FIiL''
026705 174056 69%: CMP TABLE.RS CHECK R5 UNCHANGED
001401 BEQ 708 .BR IF 0K
104010 ERROR 10 cannnannnvananeeTEST 16 - ERROR 10:ttnntnannncatn
208 RS SHOULD STILL EQUAL CONTENTS OF LOCATION ‘‘TABLE'
012700 016710 MOV #8UF2 RO :POINT RO TO DESTINATION LOWER BYTE BOUNDARY
105720 7818 (RO)+ :TEST CONTENTS OF BOUNDARY
001401 8EQ 71% BR. IF STILL ZERO
104011 ERROR 11 tttttttttttttttTEST 14 = ERROR 11asensasnnannnne
LOUER BOUNDARY OF DESTINATION CHANGED
718 .' SHOULD STILL EQUAL ZERO
016702 174026 MOV DSTIN,R2 :CALCULATE THE NUMBER OF "FILL"
166702 174016 SUB SRCLN,R2 CHARACTERS THAT SHOULD APPEAR IN DEST.
010201 MOV R2,R1 ;STORE TﬁANSFER B8YTE COUNT IN R1
122067 174020 T14E12: CMPB (Rb)# FILL CHECK CHARACTERS IN DESTINATION
001401 BEQ .BRI 0K
104012 ERROR 12 tttttttttttttttTEST 14 = ERROR 12traannansatannn
CWARE ERROR IN DESTINATION
RO CONTAINS THE PC+1 OF THE BAD DESTINATION CHARACTER
005301 DEC R1 DECREHENT 8YTE COUNT
001372 BNE T14E12 IF NOT FINISHED CHECKING
016702 173776 MoV SRCAD ,R2 POfNT R2 TO SOURCE STRING
016701 173770 MOV SRCLN,R1 STORE TRANSFER BYTE COUNT IN R1
122022 T14E13: (MPB (RO)# (R2)+ JCHECK CHARACTERS IN DESTINATION
001401 8EQ .BR IF 0K
104013 ERROR 13 sennnnnansnnsenaTEST 14 - ERROR 13nnnnnnttarnnsnt
CWARE ERROR IN DESTINATION
RO CONTAINS THE PC+1 OF THE BAD DESTINATION CHARACTER
005301 DEC R1 DECREHSNT BYTE COUNT
001373 BNE T14E13 IF NOT FINISHED CHECKING
105720 TSTB  (RO)+ reSr CONTENTS OF DEST. UPPER BOUNDARY
001401 8EQ ENDT14 BR IF STILL ZERO
104014 ERROR 14 tnn"ntntttrfsr 14 = ERROR 14{tetenenttanneee
UPPER BOUNDARY OF DEST. CHANGED
ENDT14 : SHOULD STILL EQUAL ZERO

'tttttttttttttttttttttttttttttttttttttttttttttttttttt'tttttttttt

~tTEST 15 TEST 'MOVRC'* WITH DSTAD(LSB) .LT. SRCAD(LSB), SL .GT. DL, (TRUNCATED)

ttttt'ttttt'tttttttttttttttttt'ttttttttttttt'ttt.ttttt'tttttttt

"THIS TEST CHECKS "MOVE REVERSE'' WHEN THE LEAST SIGNIFICANT
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000277
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007346

007356
007400

007410
007242

007416

000676
000700

173656

173650

173626
173626

115 TEST "MOVRC'® WITH DSTAD(LSB) .LT. SRCAD(LSB), .GT. DL, (TRUNCATED) SEQ 003

:*BYTE OF THE SOURCE IS MIGHER IN MEMORY THAN THE DESTINATION LSB
:*AND THE TRANSFER IS TRUNCATED.

S«TME RESULT IS THE MOST SIGNIFICANT BYTES ARE TRUNCATED RO = TME
:«NUMBER OF BYTES TRUNCATED, R1-=>R3 EQUAL ZERO, AND A

;*CONDITION CODES CLEAR.

. rARRARNRRAARRRARANRAAAARRAANRRARRANRRRRRAAAARARNNNANNRNORNOORNRNNNS
2323232232223 22232 3333223212323 2020222322022 2000022 R0 0ddddd] )

$8115: sgope

RS .PREP JSET UP INSTRUCTION ARGUMENTS
20 :SOURCE LENGTH
BUF2+20 ;SOURCE ADDRESS
7 *DESTINATION LENGTH
BUF 2+1 DESTINATION ADDRESS
377 :FILL CHARACTER
JSR PC,CLDST ;CLEAR DESTINATION AREA
JSR RS,GENSRC ;GENERATE A SOURCE STRING
.WORD 20
.WORD  BUF2+20
JSR RS XPSW ;STORE EXPECTED PSW VALUE
.WOoRD 200
JSR PC,GENR :SET UP GENERAL REGISTERS
SCC JSET ALL CONDITION CODES
MOVR( JEXECUTE *‘MOVE REVERSE CHARACTER'' INSTRUCTION
égg PC62§CC JCHECK PSW, GENERATE CONDITION CODES
ERROR 1 seenennennennanaTEST 15 -~ ERROR 1nenetnceneeneen
PSU ERROR
SEXPECTED PSW 1S STORED AT 'EXPPSW'’ .
648 ACTUAL PSW IS STORED AT °‘‘CCODES'*
) cmp S#SAVRS, SP JVERIFY STACK POINTER IS RESTORED
BEQ b1 :BR IF 0K
MOV SP,a#BADRG ;STORE BAD SP VALUE
ERROR 2 tttttttttttttttTEST 1S =« ERROR 2tvenanenntnsnen
STACK POINTER NOT RESTORED BY INSTRUCTION
EXPECTED VALUE OF SP IS STORED AT '‘SAVRG''
653 ERRONEOUS VALUE IS AT °BADRG’
T e FILL.R4 ;CHECK R4 UNCHANGED
BEQ 663 .BR IF 0K
ERROR 3 eeeanseaneennneTEST 15 - ERROR Taannannssenenns
R4 SHOULD STILL EQUAL CONTENTS OF LOCATION “FILL''
66$: CMP TABLE RS CHECK RS UNCHANGED
BEQ 67% .BR IF 0K
ERROR 4 seraeannnnnsseenTEST 15 - ERROR Qttttttttttttttt
67% RS SHOULD STILL EQUAL CONTENTS OF LOCATION ‘‘TABLE''
T Moy SRCLN,RS ; CHECK RO=SOURCE LENGTH MINUS
SUB8 DSTLN,RS : DESTINATION LENGTH
CMp RO RS
BEQ 688
ERROR 5 tttttttttttttttTEST 15 = ERROR Sansennntnannene
RD NOT EQUAL TO (SRCLN-DSTLN)
68s%: CHECK OTHER GENERAL REGISTERS
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(VKALIB.P11 22-JAN-82 08:43 115 TEST "MOVRC'' WITH DSTAD(LSB) ,LT. SRCAD(LSB), SL .GT. DL, (TRUNCATED) SEQ 0038

2004 (05030 005701 1ST R1 ;TEST R1

2005 005032 001401 BEOQ 698 *BR, IF ZERO

2006 005034 1046006 ERROR 6 ttltttttttltlttTEST 15 = ERROR Grensnnanannntey
2007 *R1 SHOULD BE 2ERO

2008 005036 005702 69%: TST R2 STEST R2

2009 005040 0014601 BEQ 708 *BR IF IERO

2010 005042 106007 ERROR 7 JenannnnnaseaaaaTEST 15 = ERROR 7neennannnnnnnee
2011 RZ SHOULD BE ZERO

2012 005044 005703 708: TST R3 TEST R3

2013 005046 001601 BEQ 71% BR IF 2ERO

2014 005050 104010 ERROR 10 -t---t---------TEST 15 = ERROR 10tenveanttnenten
2015 *R3 SHOULD BE ZERO

2016 005052 71%:
2017 ;VERIFY DESTINATION AREA

2018 005052 012700 016710 MOV #BUF2.R0O *POINT RO TO DESTINATION LOWER BYTE BOUNDARY

2019 005056 105720 TS18 (RO)+ ~TEST CONTENTS OF BOUNDARY

2020 005060 001401 BEQ 72% :BR, IF STILL ZERO

2021 005062 104011 ERROR 11 tttt--ttt'tttttTEST 15 = ERROR 11ttacenatteettey
2022 LOHER BOUNDARY OF DESTINATION CHANGED

2023 ; : SHOULD STILL EQUAL ZERO

2024 005064 7¢$:
2025 005064 016702 173554 Mov SRCLN,R? :CALCULATE ADDRESS OF MSB OF

2026 005070 166702 173554 SUB DSTLN,R?2 : THE SOURCE TO BE MOVED

2027 005074 066702 173546 ADD SRCAD R2
2028 005100 016701 173544 MoV DSTLN,R1 :STORE TRANSFER BYTE COUNT IN R1

2029 005104 122022 T15E12: CMPB (RO)+,(R2)+ ;CHECK CHARACTERS IN DESTINATION

2030 005106 001401 BEQ R .BR IF 0K
2031 005110 104012 ERROR 12 snenanannnnensasTEST 15 = ERROR 12¢svennennnasntan
203 COHPARE ERROR IN DESTINATION

58%4 RO CONTAINS THE PC+1 OF THE BAD DESTINATION CHARACTER
2035 005112 005301 DEC R1 ;DECREMENT BYTE COUNT

20 005114 001373 BNE T15€12 BR IF NOT FINISHED CHECKING

2037 005116 105720 TSTB (RO)+ TEST CONTENTS OF DEST. UPPER BOUNDARY

2038 005120 001401 BEQ ENDT1S BR IF STILL ZERO

039 005122 104013 ERROR 13 aa-.n--.n.-.-n.resr 15 = ERROR 13ttnannnnanantny
040 UPPER BOUNDARY OF DEST. CHANGED

2041 ; SHOULD STILL EQUAL ZERO

2042 005124 ENDT1S:

204
00¢s

O‘ ttttttttttltttttttttttttttttttttttttttttttttttttttttttttttttttt

504 iTEST 16 TEST "MOVRC'® WITH DSTAD(LSB) .LT. SRCAD(LSB) & SRCLN .GT. DSTLN, (FILL)

8 tttttttﬁttttttttttttttttttttttttttttttttttttttttt*ttttttttttttt

2049 tTHIS TEST CHECKS ‘MOVE REVERSE'' WHEN THE LEAST SIGNIFICANT

2050 tBYTE OF THE SOURCE IS MIGHER IN MEMORY THAN THE DESTINATION LS8

2051 “«AND ALL BYTES ARE TRANSFERED.

05 tTHE RESULT IS THE MSB OF THE DESTINSTION ARE FILLS, RO-->R3 EQUAL

05 tZERo AND CONDITION CODES N.C=1 & Z,v=0.

205‘ ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt

2055 ttttttttttttlttttttttttlttlttttttttttttttttttttttttttttt'tttttt

5124 000004 ism SCOPE

205 5126 67 007116 JSR RS,PREP SET UP INSTRUCTION ARGUMENTS

2058 5132 000010 10 sSOURCE LENGTH

205 5134 016730 BUF2+20 SOURCE ADDRESS
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(VKAIB.P1 22~JAN-82 08:4 T16 TEST "MOVRC'' WITH DSTAD(LSB) .LT. SRCAD(LSB) & SRCLN .GT. DSTLN, (FILL) SEQ 0039
2060 005136 000015 15 ;DESTINATION LENGTH
2061 005140 016711 BUF2+1 JDESTINATION ADDRESS
206 005142 000377 377 JFILL CHARACTER
206 005144 004767 007126 JSR PC,CLDST JCLEAR DESTINATION AREA
2064 005150 004567 007150 JSR RS,GENSRC ; GENERATE SOURCE STRING
2065 005154 002010 .WORD 10
2066 005156 016730 . WORD BUF2+20 .
2067 005160 004567 007160 JSR RS XPSW ;STORE EXPECTED PSW VALUE
2068 005164 000211 .WoRD 211
2069 005166 004767 007012 JSR PC.GENR ;SET UP GENERAL REGISTERS
2070 005172 000251 +CLN!CLC
38;5 005176 000266 +SEV!SE2
%8;2 005176 076031 MOVR(C ;EXECUTE "MOVE REVERSE CHARACTER''
2075 005200 004767 007164 JSR PC,CKCC JCHECK PSW, GENERATE CONDITION CODES
2076 005204 001401 8EQ 648
2077 005206 104001 ERROR 1 cansannasassstaaTEST 16 = ERROR 1nnsntvenanennan
2078 PSH ERROR
2079 EXPECTED PSW IS STORED AT 'EXPPSW'’
2080 ACTUAL PSW IS STORED AT '‘CCODES'’
2081 005210 648:
2082 005210 023706 000676 cMpP aNSAVRG, SP JVERIFY STACK POINTER IS RESTORED
2083 005214 001403 BEQ 65% BR IF 0K
2084 005216 010637 000700 Mov SP,a#BADRG JSTORE BAD SP VALUE
2085 005222 104002 ERROR 2 ***"'t**""*'TEST 16 = ERROR 2#teannnsnntnenn
2086 STACK POINTER NOT RESTORED BY INSTRUCTION
2087 EXPECTED VALUE OF SP I§ STORED AT °'‘SAVRéG''
2088 ERRONEOUS VALUE IS AT ‘BADRé'’
2089 005224 65%:
2090 005224 005700 TST RO
2091 005226 001401 8EQ 33
209 1, 252350 104003 ERROR 3 sannnnnansnennnaTEST 16 = ERROR Jenntennnennenen
209 ;RO SHOULD BE 2ERO
2094 00523 3s:
2095 0052% 05701 TST R1 :TEST R1
2096 005234 001401 BEQ 663 BR. IF ZERO
097 005236 104004 ERROR 4 JunnnnnnnnnnsadaTEST 16 = ERROR 4nnvonsnnnnnnene
098 R1 SHOULD BE Z2ERO
099 005340 805702 663: TST R2 sTEST R2
100 5242 001401 8EQ 67’% :BR If IERO
5101 5244 104005 ERROR 5 sunansnnaastttaaTEST 16 = ERROR Swwnnnnnswananten
10§ RZ SHOULD BE ZERO
18‘ 526 5703 678: TST R3 EST R3
1 S 1601 BEQ 68$ BR IF ZERO
105 52 1 ERROR é ttttt.tttttttttTEST 16 = ERROR Grnnnnnnnnntnnnn
109 R3 SHOULD BE Z2ERO
187 005254 . 688:
21 5254 6704 173374 CHP FILL.RG ;CHECK R4 UNCHANGED
1 S 1401 BEC 693 .BR IF 0K
110 526 00?7 ERROR 7 cennannanneannaeTEST 16 - ERROR VAT IR
133 R4 S D STILL EQUAL CONTENTS OF LOCATION ‘FILL'
11; ) 94 6705 173366 69%: CMpP TABLE RS ;CHECK R5 UNCHANGED
n 1401 8EQ 708 .BR IF 0K
114 7 010 ERROR 10 JannennsnnnnnsneTESY 16 =~ ERROR 10eeensnsnnstanen
115 RS SHOULD STILL EQUAL CONTENTS OF LOCATION ‘°TABLE''
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(VKAIB.P11 22-JAN-82 0 TEST "MOVRC'' WITH DSTAD(LSB) .LT. SRCAD(LS8) & SRCLN .GT. DSTLN, (FILL) SEQ 0040
005274 708 :
0052764 012700 016710 MOV #BUF2 RO :POINT RO TO DESTINATION LOWER BYTE BOUNDARY
105720 TS18 (RO)+ ;TEST CONTENTS OF BOUNDARY
001401 BEQ 718 :BR, IF STILL ZERO

005304 104011 ERROR 1 JennenransseneeeeJEST 16 = ERROR 11tttnenenecanane
;LOWER BOUNDARY OF DESTINATION CHANGED
; SHOULD STILL EQUAL ZERO

005306 718: L

005 Og 016702 173336 MOV DSTLN,.R2 ;CALCULATE 'FILL'' COUNT

885 1 166702 173326 suB SRCLN,R2

§316 010201 MOV R2,.R1 ;STORE TRANSFER BYTE COUNT IN R1

005320 122067 173330 T16E12: (MPB (R())*.FILL JCHECK CHARACTERS IN DESTINATION

005324 001401 BEQ R ;B8R IF 0K

005326 104012 ERROR 12 sasnnnnnnnnnnttsTEST 16 - ERROR 120t cssaennnnnne
;COMPARE ERROR IN DESTINATION
;RO CONTAINS THE FC+1 OF THE BAD DESTINATION CHARACTER

005330 005301 DEC R1 ;DECREMENT BYTE COUNT

005332 001372 BNE T16€E12 :BR, IF NOT FINISHED CHECKING

005334 016702 173306 MOV SRCAD ,R2

005340 016701 173300 MOV SRCLN R ;STORE TRANSFER BYTE COUNT IN R1

005344 122022 T16E13: CMPB (RO)+,(R2)+ ;CHECK CHARACTERS IN DESTINATION

005346 001401 BEQ R H IF 0K

005350 104013 ERROR 13 canannnnneasttttTEST 16 = ERROR 13nnnnnesannnennn

“COMPARE ERROR IN DESTINATIONM
RO CONTAINS THE PC+1 OF THE BAD DESTINATION CHARACTER

005352 005301 DEC R1 :DECREMENT BYTE COUNT

005354 001373 BNE T16E13 :BR, IF NOT FINISHED CHECKING

005356 105720 T7ST8 (RO) + JTEST CONTENTS OF DEST. UPPER BOUNDARY

005360 001401 BEQ ENDT16 ;BR, IF STILL ZERO

005362 104014 ERROR 14 sanseannnnnssaeeTEST 16 - ERROR T4rrannnnenananne
;UPPER BOUNDARY OF DEST. CHANG"D
; SHOULD STILL EQUAL ZERO

005364 ENDT16:

S e RAANRRARERRRRRRARRR AR N RN NRRRARRRRRNARRNRRAARNRRRRARRARAAARRARAARR

;oTEST 17 TEST INTERRUPTAP LITY OF ‘MOVRC'' INSTRUCTION
AR AR RN R R R ARRRRNANANR R AR AR AR AAARRRRRRRRRER R AR ARR RN
;*THIS TEST INTERRUPTS THE EXECUTION OF THE ‘MOVRC'
s«INSTRUCTION, RESUMES THE INSTRUCTION AFTER THE

J*INTERRUPT, AND VERIFIES THE RESULTS. THE PROPER

s*RESULT_IS ALL BYTES MOVED TO THE DESTINATION

.:%'sRe (E)OUAL ZERO, AND CONDITION CODES N.c=1
I e e L Ly
e e e e e e e e L R e T LA L

" [ ) [ ST BTN NTNT.N [ N1, V7 VY ST ST Y.V N ~N ~o
PIRRIN AR AN RSN RN DR RN NN
N R = OO NO VS UWN = O O NO NS KA = OO N N NA) = OV NV NN = OOV NO

Esgag‘goooooommmmwv‘mmmmb BN B N 8 B DN B 8 B NN R AN LN NINOND AN POPONON) — = —

005364 000004 T§T17:  SCoOPE

005366 004767 007020 JSR PC.SKPINT ;SET FLAG =~ TEMP, WHICH INDICATES IF
*NEXT TEST IS TO 8E EXECTED NEXT.

005372 005767 173306 ST TEMP ‘CHECK IF -TEMP- IS SET

005376 001156 BNE TST20 STEMP IS SET, GO TO NEXT TEST

005400 004567 006644 JSR RS .PREP “SET UP INSTRUCTION ARGUMENTS
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"VKAIB.P11 22-JAN-82 0 TEST INTERRUPTAPILITY OF 'MOVRC'' INSTRUCTION SEQ 0OC-
2172 005404 000374 37% 'SOlRCE LENGTH
217% 005406 016310 B8UF1 SOURCE ADDRESS
2174 005410 000;76 376 DESTINATIW LENGTH
2175 005412 016711 BUF2+1 DESTINATIW ADDRESS
2176 005414 000377 377 sFILL CHARACTER
2177 005616 004767 006654 JSR PC,CLDST CLEAR DESTINATION
2178 005422 012767 005510 173240 MOV #MRC,PCI STME PC OF TEST INSTRUCTION
2179 005430 012777 014506 173226 MOV #INTR,QTVECT POINT TTY VECTOR TO INTERRUPT ROUTINE
2180 005436 005077 173226 CLR aTPSY ALLOU INTERRUPTS AFTER TTY INTERRUPT
2181 005442 4767 007014 JSR PC,TDONE
2182 005446 13777 000554 173206 MGV N‘NULL 8TBUF 2SEND CARRIAGE RETURN
218% 005456 004567 006664 JSR RS.X STORE EXPECTED PSW VALUE
2184 005460 0Q0CO11 .WORD 11
2185 005462 106427 000000 MTPS 20 :SET PSW TO ALLOW INTERRUPTS
2186 005466 052777 00C100 173164 8ls #100,a8TCSR ENABLE TTY INTERRUPTS
2187 005474 006767 006504 REPMRC: JSR PC.GENR SET UP GENERAL REGISTERS
2188 005500 010637 000676 Mov SP.8#SAVRS :COPY STACK POINTER BEFORE INSTRUCTION EXECUTION
2189 005504 000251 +CLN!CLC :CLEAR CONDITION CODES N&C
g}g? 005506 000266 +SEV!SEZ CLEAR CONDITION CODES V&2
%}3% 005510 076031 MRC: MOVRC ;EXECUTE 'MOVE REVERSE CHARACTER''
2194 005512 106767 173154 MFPS CCODES :STORE THE PSW
2195 005516 032777 000100 173134 8IT #100,8TCSR ;IF INTERRUPT ARE DISABLED, THE INSTRUCTION WAS NOT INiE
2196 005526 001363 BNE REPMRC BR £ DO TEST AGAIN, IF INSTRUCTIW WAS NOT INTERRUPTED
2197 005526 042767 1776400 173136 BIC #1776400,CCODES ;CLEAR ALL UNUSED BITS
2198 005534 023767 000674 173130 CMpP SEXPPSW,CCODES 'CHECK PSW AGAINST EXPECTED VALUE
2199 005542 001401 8EQ 643 .BR. IF EQUAL
2200 005544 104001 ERROR 1 JennnennnnsensxeTEST 17 ~ ERROR 1atentetunettnee
2201 :PSW_ERROR .
2202 :EXPECTED PSW IS _STORED AT 'EXPPSW'’
2203 'ACTUAI. PSW 1S STORED AT °''CCODES
2204 005546 648:
2205 2CHECK RESULTS
2206 005546 023706 000676 (0,4 S#SAVRG, SP VERIFV STACK POINTER IS RESTORED
2207 005552 001403 BEQ 65% BR IF
2208 005554 010637 000700 MOV SP,a#BADR6G :STORE BAD SP VALUE
2209 005560 104002 ERROR P ttntnnnnntht 17 = ERROR 2nvanntnatssatesn
2210 'STACK POINTER NOT RESTORED BY INSTRUCTI(N
221 JEXPECTED VALUE OF SP IS STORED AT *'SAVR6'’
2212 ERRMEOUS VALUE IS AT 'BADR6
2213 005562 65%:
2214 005562 005700 TST RO ;CHECK RO=ZERO
2215 005564 001401 BEQ 1$
2216 005566 104003 ERROR 3 .nnnnntnntfst 17 - ERROR 3Jtrrnntstesnsnnny
2217 ;RO SHOULD BE ZERO
2218 005570 1$: CHECK OTHER GENERAL REGISTERS
2219 885570 005701 TST R1 ;TEST R1
2220 5572 001401 BEQ 663 BR IF ZERO
2221 005574 104004 ERROR 4 nnnnnnnttht 17 = ERROR 4anannantssannas
2222 R1 SNOgLD BE ZERO
2223 005576 005702 66$: TS8T R2
2224 005600 001401 BEQ 67% BR IF ZER
2225 005602 104005 ERROR 5 tttttttttttttttTEST 17 = ERROR Sannasnenavatnny
2226 RZ SHOULD BE ZERO
2227 005604 005703 67%: TST R3 *TEST R3
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CVKAIB.P11 20~-JAN-82 08:43 TEST INTERRUPTABILITY OF "MOVRC'' INSTRUCTION SEQ 0042
2228 005606 001401 8EQ 68% :BR, IF ZERO
22%3 005610 104006 ERROR 6 ttt'ttt'tttttttTEST 17 = ERROR Gtttvacneensteee
22 R3 SHOULD BE Z2ERO
2231 005612 68$:
82;‘5 005612 026704 173036 (o, 4 FILL.RS ;CHECK R& UNCHANGED
22 005616 1401 BEQ 698 .BR IF 0K
2234 005620 104007 ERROR 7 JexeennnenntenseTESY 17 - ERROR 7"""""""'
2235 R4 SHOULD STILL EQUAL CONTENTS OF LOCATION "FILL"
2236 005622 026705 173030 69%: (o, 4 TABLE ,R5 ;CHECK RS UNCHANGED
2237 005626 001401 BEQ 708 *BR IF OK
2238 005630 104010 ERROR 10 senanesennenstaeTEST 17 - ERROR 10vetneencnnnnene
2239 RS SHOULD STILL EWJAL CONTENTS OF LOCATION '‘TABLE''
2260 005632 708:
2241 005632 012700 016710 MOV #BUF2 RO :POINT RO TO DESTINATION LOWER BYTE BOUNDARY
2242 005635 105720 T7STB (RO)+ :TEST CONTENTS OF BOUNDARY
2243 005640 001401 B8EQ 718 BR IF STILL 2ERO
2266 005642 104011 ERROR 11 "t"ntntt"tTEST 17 = ERROR 11teeannansanenny
2245 LOUER BOUNDARY OF DESTINATION CHANGED
2246 : SHOULD STILL EQUAL 2ERO
27247 005644 718:
22648 005644 016702 173000 MOV DSTLN.R2 ;CALCULATE THE NUMBER OF FILL
2249 005650 166702 172770 SUB SRCLN,R2 CHARACTERS THAT SHOULD APPEAR IN DEST.
<250 005654 010201 MOV R2.R1’ STORE tkANSFER BYTE COUNT IN R1
2251 005656 122067 172772 T17E12: (MPB 6)+ FIL CHECK CHARACTERS IN DESTINATION
2252 005662 001401 B8EQ .BR IF 0K
2253 005664 104012 ERROR 12 sennnnannannensaTEST 17 = ERROR 12¢tnenecennenend
2254 CWARE ERROR IN DESTINATION
Sggz RO CONTAINS THE PC+1 OF THE BAD DESTINATION CHARACTER
2257 005666 005301 DEC R1 DECREHENT BYTE COUNT
2258 00567v 001372 BNE T17€12 IF NOT FINISHED CHECKING
2259 005672 016702 172750 Mov SRCAD ,R2 POiNt R2 TO SOURCE STRING
2260 005676 016701 172742 MOV SRCLN.R1 °SYORE TRANSFER BYTE COUNT IN R1
2261 005702 122022 TE13: CMPB (RO)# (R2)+ ;CHECK CHARACTERS IN DESTINATION
2262 005704 001401 BEQ ot .BR IF K
2263 005706 104013 ERROR 13 sanannananeastesTEST 17 = ERROR 13tenneennenncene
2264 CWARE ERROR IN DESTINATION
%Sgg RO CONTAINS THE PC+1 OF THE BAD DESTINATION CHARACTER
2267 005710 005301 DEC R1 DECREHENY BYTE COUNT
2263 005712 001373 BNE TE13 BR F NOT FINISHED CHECKING
226 5714 105720 7ST18 (RO)+ °TE§7 CONTENTS OF DEST. UPPER BOUNDARY
2270 5716 001401 B8EQ ENDT17 :BR, IF STILL ZERO
2271 §720 104014 ERROR 14 ;tnntnntn"TEST 17 = ERROR 14xaenssanennnans
227 :UPPER BOUNDARY OF DEST. CHANGED
227 ; SHOULD STILL EQUAL ZERO
2274 005722 ENDT17:
2275 §722 106427 OQngO 408 : MTPS #200 :RESTORE PSW TO PRIORITY 7
gs; §726 016777 172734 172730 mov TPSW,STVECT :RESTORE TRAP CATCHER
278
2279
2280 SERERERRR R RN RENERARARRARRARRARAEARAEREAARRARARRARA AN CRARERACSY

*TEST 20 TEST *‘CMPC'’ WITH SOURCE1 & SOURCE2 LENGTHS = 0

RN EERANANAR AN AR AR ARRERARSARNERRRARRAAAAARARERARNRRRRARRRRNEDY

2282 i
1ATHIS TEST VERIFIES THAT *‘COMPARE CHARACTER'' INDICATES EQUAL
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076044

104002
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001401
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172604
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E 4
TEST "'CMPC* WITH SOURCET & SOURCEZ2 LENGTHS = 0

;*STRINGS WITH SOURCE LENGTHS EQUAL TO ZERO.
$*THE RESULT IS RO==>R3 ARE UNCHANGED, AND ALL CONDITION
:*CODES CLEAR EXCEPT Z=1.

: tttﬁﬁtttttttttttttttt.ttttttttt'ttttttQtttttttttttttttttt'tt't'
"tttt'ttttt.l.ttttttttitttttitttttttttttttttttttttttttttt'tttttt

f§120: SCOPE
JSR RS ,PREP sSET UP INSTRUCTION ARGUMENTS
0 SOURCE1 LENGTH
NXM SOURCEl ADDRESS
0 SOURCEZ LENGTH
NXM :SOURCEZ2 ADDRESS
77 FILL CHARACTER
JSR RS, XPSW
.WORD 04
JSR PC,GENR :SET UP GENERAL REGISTERS
SCC JSET ALL CONDITION CODES, EXCEPT
Lz H AR Z
cMPC :EXECUTE °''CMPC'' INSTRUCTION
éég PC8£§CC JCHECK PSW, GENERATE CONDITION CODES
ERROR sennansnnnnananeTEST 20 = ERROR 1eennannanaranan
PSU ERROR
EXPECTED PSW IS STORED AT 'EXPPSH"
648 ACTUAL PSW 1S STORED AT '‘CCODES’’
) (%, 4 a#SAVRG, SP :VERIFY STACK POINTER IS RESTORED
B8EQ 65% BR IF OK
0V SP ,a#BADR6 ;STORE BAD SP VALUE
ERROR 2 tttttttttttttttTEST 20 = ERROR 2%tsssaatsasanny
STACK POINTER NOT RESTORED 8Y INSTRUCTION
EXPECTED VALUE OF SP_IS STORED AT "SAVRG''
658: ERRONEOUS VALUE IS AT "BADRéG’’
) gg ;gcm.no ;CHECK RO UNCHANGED
ERROR 3 sensnnnsennansnsTEST 20 = ERROR 3vssnsnsnnenenes
SRC1 LENGTH ERROR
18%: gg: ggCAD.R1 CHECK R1 UNCHANGED
ERROR 4 sennnnannnnanntaTEST 20 = ERROR 4rennntsntansnne
SRC1 ADDRESS ERROR
2s: SE: ggTLN.RZ CHECK RZ2 UNCHANGED
ERROR saensnnnansensasTEST 20 - ERROR Svennenssnnanany
SRCZ LENGTH ERROR
3s: gg: 2§TAD.R3 CHECK R3 UNCHANGED
ERROR 6 ttttttttttttt-ttfst 20 = ERROR 6rrasnsnansnsnts
s SRCZ ADDRESS ERROR
| cMP FILL.R4 ;CHECK Ré UNCHANGED
BEQ 663 :BR IF
ERROR tttttttttttttttTEST 20 =~ ERROR 7rsasanatasnnnss

;R4 SHOULD STILL EQUAL CONTENTS OF LOCATION “FILL"

SEQ 00-3
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«VKAIB.P11 22-JAN-82 0 TEST “'CMPC'* WITH SOURCE1 & SOURCE2 LENGTHS = 0 SEQ 0044
2340 006070 026705 172562 66%: cMP TABLE RS s CHECK RS UNCHANGED
2341 006076 001401 BEQ 67$ .BR IF
006076 104010 ERROR 10 tttttnttttnnt‘rfst 20 = ERROR 10-.-.-01'11-.1.

RS SHOULD STILL EQUAL CONTENTS OF LOCATION ''TABLE''
006100 67%:

i'.t"".tt"t.'.t't'tt'tt't.it't"ttt.'t'ttttttttt!'tttttt""

tTES'r 21 TEST *'CMPC'* WITH SOURCE1 LENGTH=0 & A NON-FILL CHARACTER IN SRC?
L L L L L L D bbbt i ittt i

tTHIS TEST VERIFIES THAT °'‘CMPC'‘ COMPARES SOURCE2 WITH THE FILL

:*CHARACTER WHEN SOURCE] LENGTH IS 2ERO

s«THE RESULT IS RO=0, R1 IS UNCHANGED, RZ EQUALS THE LENGTH

;*0F SOURCE2 SUB-STRING, RS EQUALS THE POINTER TO SOURCE2

'SlB-STRING. AND ALL CONDITION CODES CLEAR EXCEPT N=1.

tttttttttttttt'ttttttt'tttttttt'tttttttttlttttttttttttt.ttttttt
tttttttt'tttti"tttttttttttttttttttttttttttttttttittttttttt.ttt

- {iviviviviivivieivd 339 93 S 9
SR AN Qv Qv B AV ST N )

[QSTVT STNT ST N1, ST NT STV LNV LSV ST NT.NT T NY NT VT ST ST V1,01 VT ST N

006100 000004 ?sm SCOPE
006102 004567 006142 JSR R5.PREP ;SET UP INSTRUCTION ARGUMENTS
006106 000000 0 *SOURCE1 LENGTH
36% 006110 177777 NXM :SOURCE1 ADDRESS
363 006112 000004 4 :SOURCE2 LENGTH
364 006114 016710 BUF2 ;SOURCEZ2 ADDRESS
365 006116 000377 377 sFILL CHARACTER
366 006120 012700 016710 MOV #BUF2 RO *GENERATE SOURCE2 STRING STARTING
347 0061%4 012720 177777 MoV 0177777,(R0)+ UITH TWO FILL BYTES
368 006130 005020 CLR (RO)+ ;THEN TWO NON-FILL BYTES
369 0061%% 004567 006206 JSR RS XPSW S‘I’ORE EXPECTED PSW VALUE
370 006136 000210 .WORD 210
371 006140 004767 006040 JSR PC.GENR :SET UP GENERAL REGISTERS
gg;g 006144 000277 SCC SET ALL CONDITION CODES
%g;g 006146 076044 o, o SEXECUTE ‘‘CMPC’* INSTRUCTION
2376 006150 004767 006214 JSR PC,CKCC :CHECK PSW, GENERATE CONDITION CODES
2377 006154 001401 BEQ 648
2378 006156 104001 ERROR 1 sunnnnsennnnnssdaTEST 21 = ERROR T1etevananeneenny
2379 PSU ERROR
2380 EXPECTED PSW IS STORED AT 'EXPPSW'’
2381 ACTUAL PSW IS STORED AT '‘CCODES"’
2382 006160 648:
2383 882160 8837 000676 CHP S#SAVRG, SP :VERIFY STACK POINTER 1S RESTORED
2384 164 140 BEQ S :BR IF OK
2385 006166 010637 000700 Moy SP,#BADRG STORE BAD SP VALUE
2 006172 104002 ERROR b ] ttttttttttttttthSf 21 = ERROR 2tteseannnsntans
238 STACK POINTER NOT RESTORED BY lNSTRUCTICD.J.
2388 EXPECTED VALUE OF SP_IS STORED AT *‘'SAVR6
2389 ERRMOUS VALUE IS AT ‘BADRS™
2390 006174 65%:
391 006174 885700 TST RO :CHECK RO=0
39 176 1401 BEQ 1$
239 00 104003 ERROR 3 sasnnannsnananseTEST 21 - ERROR Jaenanttenanvtees

239 ;SRC1 LENGTH ERROR
2395 006202 026701 172440 1$: 0, 4 SRCAD,R1 ;CHECK R UNCHANGED
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CVKAIB.P1 22=JAN=-82 0 121 TEST *'CMPC'* WITH SOURCEY LENGTH=0 & A NON-FILL CHARACTER IN SRC2 SEQ 0045
2396 006206 001401 BEQ 2%
2397 006210 104004 ERROR 4 sennankennnenensTEST 21 = ERROR 4{esnnnasnnnnenny
2398 SRC1 ADDRESS ERROR
2399 006%12 022702 000002 23: Cwp #2,R2 s CHECK R2=
2600 006216 001401 BEQ 33
401 006220 104008 ERROR b seennannnenastasTEST 21 = ERROR Setewnanenannnne
402 SRCZ LENGTH ERROR
2403 006322 022703 016712 3s: CmpP #BUF2+2,R3 ;CHECK R3=BUF2+2
2604 006226 001401 BEQ 43
2605 006230 104006 ERROR 6 sonnnnnnnnnnanseaTEST 21 = ERROR Greneennnennnnen
2606 SRCZ ADDRESS ERROR
2407 00623% 4s:
2408 006232 026706 172416 CMP FILL.R4 ;CHECK R4 UNCHANGED
26409 006236 001401 BEQ 66% .BRI oK
2610 006240 104007 ERROR 7 JeennnnnnannenasTEST 21 = ERROR 7ttttttttttttttt
261 R4 SHOULD STILL EQUAL CONTENTS OF LOCATION ‘FILL'
2612 006242 026705 172410 66%: cMp TABLE .RS CHECK RS UNCHANGED
2613 006246 001401 8EQ 67$ .BR IF 0K
2416 006250 104010 ERROR 10 sennnnnannanaaaaTEST 21 = ERROR 10%wnsannnnnneanen
2415 RS SHOULD STILL EQUAL CONTENTS OF LOCATION ‘‘TABLE''
2616 006252 67%:

tt.tt....t.tﬁt.tttttttttt....ttttttt..tQ..t..'............t....

-resr 22 TEST “'CMPC'* WITH STL .LT. S2L AND SRC1.GT.SRC2, NON~COMPARE IN SOURCE
ttttttttttttttttttttttttttttt.t'tttttttttttt'ttttttt.ttt..t..t.

P$THIS TEST VERIFIES THAT "'CMPC’* RETURNS THE CORRECT SUBSTRING IDENTIFIERS

«WHEN SOURCET STRING AND SOURCE2 STRING DO NOT COMPARE.

:«THE RESULT IS RO EQUALS SRC1 SUBSTRING LENGTH, R1 EQUALS

:«SRC1 SUBSTRING POINTER, R2 EQUALS SRC2 SUBSTRING LENGTH, R3 EQUALS

;+SRC2 SUBSTRING POINTER. AND ALL CONDITION CODES CLEAR EXCEPT N=1.

t..ttt.tttt.t.tttttttttttttttttttt.tttttttttttt.tt.tttttt.tttt.
t.tt.tttttt.tttttttttttt.tttttt.ttttt..tt.tttt..tttt.ttt.t'....

isrzz SCOPE
005770 JSR RS .PREP :SET UP INSTRUCTION ARGUMENTS
7 *SOURCE1 LENGTH
BUF 1 +SOURCE1 ADDRESS
12 :SOURCE2 LENGTH
gurz :SOURCE2 ADDRESS
77 :FILL CHARACTER
006000 JSR PC.CLDST SCLEAR SOURCE? AR
006022 JSSR R gg.eeusnc *GENERATE souacez smms
. ]
LWORD  BUF2
016715 CLRB  @#BUF2+5 :CREATE A NON-COMPARE CHARACTER IN SRC2 STRING
006026 Jsak ) g;bxpsu *STORE EXPECTED PSW VALUE
005660 JSR PC.GENR :SET UP GENERAL REGISTERS
sCC “SET ALL CONDITION CODES
CMPC :EXECUTE *'CMPC'* INSTRUCTION
006034 Jsg Pcaggcc :CHECK PSW, GENERATE CONDITION CODES
ESROR 1 sennnnennsananssTEST 22 = ERROR 1tannnsannnnanen

;PSW ERROR
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2452
2453
2454
2455
2656
2457
2458
2459
2460
2461
2462
2463
2464
2465
2466
2467
2468
2469
2470
241
2672
2473
24764
2475
2476

RACY11 20(1046)
22-JAN-82 0

n

g3

g3 8388 3

w
3%
o

006372

006430

006432
006434
006436

0006440

000772

020401
001401
104005

020503
001401
104006

016704

IS

000676
000700

172274
172266
1723
172242
1722

172264

82 08:44 PAGE 47
122

648:

65%:

668:

67%:

2s:

3s:

4S:

5$:

6$:

H 4
TEST "‘CMPC'* WITH SIL .LT. S2L AND SRC1.GT.SRC2, NON-COMPARE IN SOURCE SEQ 0046

SEXPECTED PSW IS STORED AT 'EXPPSY'’
SACTUAL PSW IS STORED AT ‘‘CCODES™

(N, @#SAVRG, SP JVERIFY STACK POINTER IS RESTORED

BEQ 65$ BR IF 0K

MoV SP,3#BADR6 ;STORE BAD SP VALUE

ERROR pd JravnennnnntenaeTEST 22 = ERROR 2vtvannnanennnns
:STACK POINTER NOT RESTORED BY INSTRUCTION
EXPECTED VALUE OF SP l§ STOREP AT ''SAVR6
‘ERRONEOUS VALUE 1S AT 'BADRG

M FILL,RG CHECK R4 UNCHANGED

B8EQ 668 BR IF 0K

ERROR 3 senanntnannannenTEST 22 - ERROR 3...---....-.-..

R4 SHOULD STILL EQUAL CONTENTS OF LOCATION ‘FILL'
(¥, TABLE RS s CHECK RS UNCHANGED
BEQ 67% .BR IF
ERROR 4 tttttttttttttttTEST 22 = ERROR 4ansnnsnnannnnny
RS SHOULD STILL EQUAL CONTENTS OF LOCATION ‘‘TABLE''

CLR TEMP
sPOINT R4 TO SOURCE] ADDRESS
:POINT RS TO SOURCE2 ADDRESS

CMPB (R4), (RS) COHPARE SOURCES

BNE 3s :BR IF NOT EQUAL

INC TEMP

ggPB 524)*.(R5)+ ;POINT STRINGS TO NEXT BYTES
sCHECK ADDRESS & LENGTH DESCRIPTORS

CMP R4 ,R1 CHECK R1, SOURCE1 ADDRESS

8EQ 43 .BR IF 0K

ERROR S sunnnnnnnnnnnnasTEST 22 = ERROR Sestnnnnnananens
sSOURCE1 ADDRESS ERROR
R4 CONTAINS THE EXPECTED ADDRESS POINTER
*R1 CONTAINS THE BAD VALUE

CMP RS5.R3 CHECK R3,SOURCE2 ADDRESS

8EQ Ss BR IF K

ERROR 6 sannnnannnnnasnsTEST 22 = ERROR Genanannsnnanene
SOURCEZ ADDRESS ERROR

:RS CONTAINS THE EXPECTED ADDRESS POINTER
:R3 CONTAINS THE BAD VALUE
MoV SRCLN R4 :CALCULATE LENGTH OF SRC1 REMAINDER

su8 TEMP R4

P R4 R0 ; CHECK RO, SOURCE! LENGTH
BEQ 68’ :BR IF OK
ERROR 7 tttttttttttttttTEST 22 = ERROR 7rasantannntanes

:SOURCE] LENGTH ERROR
;R4 CONTAINS THE EXPECTED LENGTH DESCRIPTOR
;RO CONTAINS THE BAD VALUE

Mov DSTLN, RS ;CALCULATE LENGTH OF SRC2 REMAINDER

sus TEMP R4

cMP R4 RS ; CHECK nz SOURCE2 LENGTH
BEQ 78’ .BR IF
ERROR 10 tttttttttttttttTEST 22 = ERROR 10easetsnanannnnr

:SOURCE2 LENGTH ERROR
:Ré CONTAINS THE EXPECTED LENGTH DESCRIPTOR
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006546
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006552
006554
006560
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006566
006570
006572
006574

006576
006602

000240

004767
001401
104001

023706

005544

005622
005454

005626

000676
000700

172044
172036
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24 T22 TEST 'CMPC’* WITH STL .LT. S2L AND SRC1.GT.SRC2, NON-COMPARE 1.« SOURCE

I 4

:R2 CONTAINS THE BAD VALUE

7%: NOP
T L L Ll L L L it beinbini ettt
:«TEST 23 TEST *‘CMPC’* FOR S1L=S2L, SOURCE1=SOURCE2 STRINGS

L L T T I i I T DL L P
:*PROPER TERMINATION OF THIS INSTRUCTION TEST IS THE

s¢INDICATION THAT SOURCET STRING EQUALS SOURCE2 STRING:

;*RO & R2 EQUAL ZERO, R1 & R3 EQUAL THE ADDRESS+1 OF THE

;¢LSB OF THE SOURCE!1 & SOURCE2 STRINGS RESPECTIVELY,

s*AND ALL CONDITION CODES CLEAR, EXLEPT Z=1

::tttttttt'ttttttttttttttttttttttttttttttt't't"tttttt'tt'ttttttt
X122 2 2222222332221 33 23032122 232 a2l ddidtididiiidlidl)

7$123: SCOPE
JSR

RS .PREP :SET UP INSTRUCTION ARGUMENTS
7 ;SOURCE1 LENGTH
BUF1 sSOURCE1 ADDRESS
7 +:SOURCE2 LENGTH
BUF1 ;SOURCEZ2 ADDRESS
377 sFILL CHARACTER
JSR sngPSU :STORE EXPECTED PSW VALUE
JSR PC.GENR ;SET UP GEERAL REGISTERS
SCC sSET ALL CONDITION CODES, EXCEPT
cz :  CLEAR ‘7"
P JEXECUTE '‘CMPC'' INSTRUCTION
:CHECK RESULTS
égg Pcag§cc :CHECK PSW, GENERATE CONDITION CODES
ERROR sennsenesnnnnaeTEST 23 = ERROR Irtansnasannnnnn
:PSW ERROR
sEXPECTED PSW IS STORED AT "EXPPSW'’
648 sACTUAL PSW IS STORED AT ''CCODES'’
cMP S#SAVRG, SP :VERIFY STACK POINTER IS RESTORED
BEQ 65$ :BR IF 0K
MOV SP,a#BADR6 ;STORE BAD SP VALUE
ERROR 2 seennnaeenancensa[EST 23 - ERROR 2tvtstannnnnattnn
sSTACK POINTER NOT RESTOKED BY INSTRUCTION
sEXPECTED VALUE OF SP_IS STOR;D AT ‘'SAVRG''
65% :ERRONEOUS VALUE IS AT "BADRG’’
7878 RO :CHECK RO
8EQ 18 s8R, IF ZERO
ERROR 3 sunknnnnnnnennenJEST 23 ~ ERROR 3srasananansnuny
;RO SHOULD BE ZERO
1$: 1ST8 R2 sCHECK R?2
BEQ 28 ;JBR, IF ZERO
ERROR & senennnnnrnnateTEST 23 ~ ERROR 4nennnensnnennnne
sR2 SHOULD BE ZERO
2s: MOV SRCAD RO :CALCULATE ADDRESS+1 OF LSB
ADD SRCLN,RO
CHP RO,R1 s CHECK R1
B8EQ 38 ;BR, IF EQUAL TO ADDRESS+1 OF LS8
ERROR ;tttt'ttttltttttTEST 23 = ERROR Sttnenetenrenenes

SEQ 0047
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723

172026

172020

005400

016710
177777

005444
005276

005450

000676
000700

J 4
69
TEST '"CMPC'* FOR S1L=S2L, SOURCE1=SOURCEZ2 STRINGS
Fch SHO%SD EQUAL (SRCAD)+(SRCLN)

3s: (mp RO,R3 HECK
BEQ 408 ‘B8R, IF EQUAL TO ADDRESS+1 OF LSB
ERROR 6 tttttttttttttttTEST 3 « ERROR Otnnencnennnnner
408 R3 SHOULD EQUAL (DSTAD)+(DSTLN)
T e FILL,RG ;CHECK Ré& UNCHANGED
BEQ 66$ .BRI oK
ERROR 7 sanennaneanenneaTEST 23 - ERROR 7ttttttttttt"t'
Rlo SHOULD STILL EQUAL CONTENTS OF LOCATION ‘FILL'
66$: (4, 4 TABLE ,R5 CHECK RS UNCHANGED
BEQ 67% .BR If 0K
ERROR 10 sunnnnknnnnnttaaTEST 23 = ERROR 10tttttttttttttt'
678 RS SHOULD STILL EQUAL CONTENTS OF LOCAIION ‘‘TABLF''

R I e a2 3 I3 a2 2222222822823 2 3230222232 dddtdt)

'TEST 24 TEST *'CMPC’* WITH SOURCE2=0 & SOURCE1 CONTAINS ALL FILLS
R e L T e L L L
'THIS TEST VERIFIES THAT ‘'CMPC'' COMPARES SOURCE1 WITH THE FILL
$«CHARACTER WHEN SOURCE2 LENGTH 1S ZERO.

s«RESULT IS EQUAL STINGS WHEN SOURCE1 IS ALL FILLS.

' ttiﬁittitttitiﬁttttttttttttittitiiitttiiitttitittiitittittttttt
itittttitiitiitiiﬁitttt'ittttiittiﬁittittitiititiittiiitttttttt

TSTZl. SCOPE

JSR RS ,PREP :SET UP INSTRUCTION ARGUMENTS
4 :SOURCEY LENGTH
BUF2 SSOURCE1 ADDRESS
0 ;SOURCE2 LENGTH

NXM *SOURCE2 ADDRESS
377 SFILL CHARACTER

CBUF; RO *GENERATE SOURCE! STRING WITH
MOV #177707.(RO)  :ALL FILLS

MOV (RO) +, (RO)

J‘S'SR b gngPSU ;STORE EXPECTED PSW VALUE

JSR PC,GENR :SET UP GENERAL REGISTERS

SCC :SET ALL CONDITION CODES, EXCEPT

Lz ;CLEAR 1

(0, o8 sEXECUTE *'CMPC‘* INSTRUCTION

égg PC62§CC ;CHECK PSW, GENERATE CONDITION CODES

ERROR 1 sunnnnnsnnenesseTEST 24 = ERROR Tavantntntnvnnns
PSW

ERROR
JEXPECTED PSW IS STORED AT 'EXPPSW'
:ACTUAL PSW IS STORED AT ‘‘CCODES™

648:
(4, 4 S#SAVR6, SP -VERIFY STACK POINTER IS RESTORED
BEQ 65% s8R IF OK
MOV SP,@4BADR6 :STORE BAD SP VALUE
ERROR 2 tttttttttttttttTEST 24 = ERROR 2trestnennnnnsen




CMAIN.  MACYTY 30(1040) 22 im-sz 03:644_PAGE 50
CvkAlB.P11 22~JAN-82 08: 124 TEST '‘CMPC’' WITH SOURCEZ2=0 € SOURCE! CONTAINS ALL FILLS SEQ 0049
2620 ;STACK POINTER NOT RESTORED BY INSTRUCTION
2621 EXPECTED VALUE OF SP IS S!OR;D AT "‘SAVRG''
2622 ERRONEDUS VALUE IS AT 'BADR6
2623 006740 658: 1
2624 006740 005700 TST RO :CHECK RO=0
2625 006742 001601 BEQ 13
2626 006744 104003 ERROR 3 tttttttttttttttTEST 24 = ERROR Jrtnsnnenennenne
2627 *SOURCE? LENGTH ERROR
2628 *RO SHOULD BE ZERC
2629 006746 016700 171674 1$: MOV SRCAD RO “CALCULATE ADDRESS OF LSB+1
2630 006752 066700 171666 ADD SRCLN.RO
2631 006756 020001 cMp RO.R1 :CHECK RY, SOURCE1 ADDRESS
2632 006760 00140 BEQ 23 *BR IF OK
2633 006762 104004 ERROR 4 caenennnnneneesseTEST 24 = ERROR 4rvtvennennntenyn
2634 SOURCEI ADDRESS ERROR
2635 RO CONTAINS THE EXPECTED ADDRESS POINTER
2636 R1 CONTAINS THE BAD VALUE
2637 006764 005702 2%: TSY R2 SCHECK R2=0
2638 006766 001401 8EQ 3s .BR IF
2639 006770 104005 ERROR 5 sensnnnnnsaeasddTEST 24 = ERROR Strvtennsennneen
2640 *SOURCE2 LENGTH ERROR
gglz; RZ SHOULD BE 2ERO
2643 006772 016702 171654 3s: MOV DSTAD ,R2 ;CALCULATE ADDRESS OF LS8+1
2644 006776 066702 171646 ADD DSTLN,R?2
2645 007002 020203 tMp R2,.R3 :CHECK R3 SOURCE2 ADDRESS
2646 007004 001401 BEQ X 3 :BR IF
2647 007006 104006 ERROR 6 tﬂt"t"tt"ttTEST 24 = ERROR Onnransntnennnen
2648 SOlRCEZ ADDRESS ERROR
2649 R2 CONTAINS THE EXPECTED ADDRESS POINTER
2650 R3 CONTAINS THE BAD VALUE
2651 007010 48:
2652 007010 026704 171640 CMp FILL RS ;CHECK R& UNCHANGED
2653 007014 001401 BEQ 66$ BRI 0K
2654 007016 104007 ERROR 7 senneannnnnnnxxeTEST 24 ~ ERROR 7"."."."-".
2655 Rl. SHOULD STILL EQUAL CONTENTS OF LOCATION "FILL'S
2656 007020 026705 171632 66$: CMP TABLE ,RS CHECK RS UNCHANGED
2657 007024 001401 BEQ 678 .BR IF 0K
2658 007026 104010 ERROR 10 sennnnnnennnaaaaTEST 24 ~ ERROR 10ewnnessseaennne
2659 ) RS SHOULD STILL EQUAL CONTENTS OF LOCATION ‘‘TABLE''
2660 007030 67%:
2661
2662
2663
2661. ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt
2645 'TEST 25 TEST “‘CMPC'* WITH SOURCE2 LENGTH EQUAL TO ZERO
2666 tt-tttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt
2667 tPROPER TERMINATION OF THIS INSTRUCTION TEST IS R1SRO
2668 tEOUAL ADDRESS & LENGTH OF UNEQUAL SOURCE! STRING,
2669 **R2 EQUALS SOURCEZ ADDRESS, R2 EOUALS ZERO, AND ALL
2670 tCONDITlON CODES CLEAR., EXCEPT N=1
2671 ttttttttttttttttttttttttttttttttttttttltttttttttttttttttttttttt
2672 ttttttttttltttttttttttttttltttttttttttltttttttttttttttttttttttt
2673 007030 000004 'rsrzs SCOPE
2674 007032 004567 005212 JSR RS,PREP ;SET UP INSTRUCTION ARGUMENTS
2675 007036 000004 4 SMCEI LENGTH
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CVKAIB.P11 22-JAN=-82 0 TEST "'(MPC'’ WITH SOURCE2 LENGTH EQUAL TO 2ERO SEQ 0050

2676 007040 016710 BUF 2 :SOURCE1 ADDRESS

2677 007042 099009 0 SOURCE2 LENGTH

2678 887044 12777 NXM SOURCE2 ADDRESS

679 7046 ;77 377 SFILL CHARACTER

680 007050 012700 016710 MoV #8UF2 RO GENERATE SOURCE1 STRING STARTING

2681 007054 012720 177777 MoV #177767,(RO)+  :WITH TWO FILL BYTES

2682 7060 005020 CLR (RO)+ ;THEN TW0 °‘ZERO'‘ BTYES

2683 007062 883567 005256 JSR RS  XPSW *STORE EXPECTED PSW VALUE

2684 007066 01 .WORD 201
2685 007070 004767 005110 JSR PC.GENR :SET UP GENERAL REGISTERS

2686 007074 000277 SCC SET ALL CONDITION CODES., EXCEPT

2687 007076 000250 CLN CLEAR N=1

2688 -EXECUTE CMPC'' INSTRUCTION
2689 007100 076044 CMPC
2690 ;CHECK RESULTS
2691 007102 004767 005262 JSR PC.CKCC CHECK PSW, GENERATE CONDITION CODES
2692 007106 001401 8EQ 6483
%282 007110 104001 ERROR 1 ;;;tgttatttvtttTEST 25 = ERROR Tttxsassnnensnne
2695 sEXPECTED PSW 1S STORED AT "EXPPSW''
2696 ACTUAL PSW IS STORED AT '‘CCODES'’
2697 007112 643:
2698 007112 023706 000676 CMP a#SAVRG,SP VERIFY STACK POINTER 1S RESTORED
2699 007116 001403 8EQ 65% ‘BR IF OK
2700 007120 010637 000700 MOV SP ,a#BADR6 STORE BAD SP VALUE
2701 007124 104002 ERROR 2 SunnaananaaeaaaaTEST 25 = ERROR 2tasansssenannes
270 STACK POINTER NOT RESTORED BY INSTRUCTION
270 EXPECTED VALUE OF SP IS STORED AT °'‘SAVRG''
2704 *ERRONEOUS VALUE IS AT "BADRG'
2705 007126 65$%:
2706 007126 022700 000002 cMP #2.R0 :CHECK RO=2
2707 007132 001401 8EQ 1%
2708 007134 104003 ERROR 3 sunnnnnnnnnnnansTEST 25 - ERROR Jtantnennnnnenes
2709 SRC1 LENGTH ERROR
2710 007136 022701 016712 1%: cMpP #BUF2+2 R1 CHECK R1=BUF2+2
2711 007142 001401 BEQ 2%
2712 007144 104004 ERROR 4 sanannsannanwwanaaTEST 25 = ERROR 4xaasnnavttannnn
2713 ;SRC1 ADDRESS ERROR
2714 007146 005702 2%: TST R2 :CHECK R2=0
2715 007150 001401 BEQ 3s
2716 007152 104005 ERROR 5 sunnnnnnnanansssTEST 25 = ERROR Strrnnansennenes
2717 SRCZ LENGTH ERROR
2718 007154 026703 171472 3s: CMp DSTAD ,R3 CHECK R3=SRC2 ADDRESS
2719 007160 001401 BEQ 48
2720 007162 104006 ERROR 6 sunnnnnnananassaTEST 25 ~ ERROR Grvnnennnnntnnes
2721 5SRC2 ADDRESS ERROR
2722 007164 48:
2723 007164 026704 171464 cMP FILL.R4 ;CHECK R4 UNCHANGED
2724 007170 001401 BEQ 66$ :BR IF OK
2725 007172 104007 ERROR 7 sunnanntanseannanaTEST 25 = ERROR 7antannnannnnnns
2726 “R4 SHOULD STILL EQUAL CONTENTS OF LOCATION °FILL'
2727 007174 026705 171456 66$: CMP TABLE .R5 CHECK RS UNCHANGED

2728 007200 001401 BEQ 67% :BR IF 0K
2725 007202 104010 ERROR 10 suvannananaanssaTEST 25 = ERROR 10nennenssnsannen
s;gg 007204 678 *RS SHOULD STILL EQUAL CONTENTS OF LOCATION '‘TABLE'®
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(VKAIB.P11 22-JAN-B2 08:46 125 TEST "‘CMPC'° WITH SOURCE2 LENGTH EQUAL TO ZERO SEQ 0051
2732
i
2735 AN ANARN AR AR R A AR RN R ARG AN AR AR AR RN RN AR RN N E AN AR R NN AANAAE RS
2736 'TEST 26 TEST '°CMPC'* FOR SOURCE1 LESS THAN SOURCEZ2
2737 T Tl i e e e e e e e rd e f i E L g )
2738 'PROPER TERMINATION OF THIS INSTRUCTION TEST IS
2739 :+ROLR2 EQUAL THE REMAINING LENGTH OF THE UNEQUAL BYTES
2740 :*0F THE SOURCE1RSOURCE2 STRINGS, R1GR3 EQUAL THE ADDRESS
2761 tOF THE FIRST UNEQUAL BYTES IN fHE SOURCE1 AND SOURCE
2742 :«STRINGS, AND CONDITION CODE C.N=1 AND V,Z=0
2743 : ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt
2744 P T L L L L L e I e e a2 I L L L L
2745 007206 000004 TST26 SCOPE
27646 007206 004567 005036 JSR RS .PREP JSET UP INSTRUCTION ARGUMENTS
2747 007212 000007 7 SOUIC:T LENGTH
2748 007214 016710 BUF2 SOURCET ADDRESS
2749 007216 000003 3 SOLRCEZ LENGTH
2750 007220 016310 BUF1 SOCRCEZ ADDRESS
2751 007222 000377 377 FILL CHARACTER
2752 007224 004567 005074 JSR RS.GENSRC GENERATE SOURCE1 STRING
2753 007230 000007 .WORD 7 STRING LENGTH
2754 007232 016710 LMORD  BUF2 STRING ADDRESS
2755 007234 105037 016712 CLRB aNBUF2+2 sPLACE A NON-COHPARE CHARACTER ]N SOURCEY STRING
2756 007240 004567 005100 JSR RS ,XPSW ;STORE EXPECTED PSW VALUE
2757 007244 000211 .WORD 211
2758 007246 004767 004732 JSR PC.GENR :SET UP GENERAL REGISTERS
2759 007252 000251 +CLC!CLN JCLEAR CONDITION CODES CEN
2760 007256 000266 +SEZ!SEV SET COND.I.TIM"“ODES 8V
2761 EXECUTE CMPC'* INSTRUCTION
2762 007256 076044 CMPC
2763 ;CHECK RESULT
2764 007260 004767 005104 JSR PC,CKCC CHECK PSW, GENERATE CONDITION CODES
2765 007264 001401 BEQ 648
%;g(; 007266 104001 ERROR 1 ;;;tgﬂt;""*'TEST 25 = ERROR Teranannannnnnns
2768 EXPECTED PSW IS STORED AT 'EXPP§U"
2769 ACTUAL PSW IS STORED AT '‘CCODES’’
2770 007270 648:
2771 007270 023706 000676 CMP @#SAVRG, SP :VERIFY STACK POINTER IS RESTORED
2772 007274 001403 BEQ 65$ BRI 0K
2773 007276 010637 000700 MoV SP,a#BADR6G ;STORE BAD SP VALUE
2774 007302 104002 ERROR 2 "“"“"“'"TEST 26 = ERROR 2ttenveennwncnny
2775 STACK POINTER NOT RESTORED BY INSTRUCTION
2776 EXPECTED VALUE OF SP I§ STORED AT “‘SAVRG'’
2777 ERRONEOUS VALUE IS AT 'BADRG’
2778 007304 658:
2779 007304 026704 171344 cMpP FILL,RS ;CHECK R4 UNCHANGED
2780 00731 001401 BEQ 6% .BR IF 0K
2781 00731 104003 ERROR tttttttttttttttTEST 26 - ERROR Sttttttttttttttt
2782 R4 SHOU%D STILL EOUAL CONTENTS OF LOCATION ‘¥ ILL''
2783 007314 026795 171336 668$: CMP TABLE ,RS CHECK RS UNCHANGED
2784 007320 001401 BEQ 67%
2785 007322 104004 ERROR & -n"n-"n"tTEST 26 = ERROR 4esvnnaansennens
278¢ RS SHOULD STILL EQUAL CONTENTS OF LOCATION °‘‘TABLE''

2787 007324 678:
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CVKAIB.P11 22-JAN-82 08:43 126 TEST ''CMPC'’ FOR SOURCE1 LESS THAN SOURCEZ2 SEQ 0052

2788 007324 1%: JCHECK OTHER REGISTERS

2789 007324 005067 171354 (LR TEMP

2790 007330 016704 171312 nov SRCAD R4 :POINT R4 TO SOURCEY1 ADDRESS

27N 8873 016705 171312 MoV DSTAD,RS *POINT RS TO SOURCE2 ADDRESS

279 7340 1214615 2%: (mP8 (R&4), (RS) ; COMPARE SOURCES

279 007342 001004 BNE 33 BR IF NOT EQUAL

2794 007344 005267 171334 INC TEMP

795 007350 122425 (mMP8 (RG)+,(RS)+ ;POINT STRINGS TO NEXT BYTES

796 007352 772 BR 2%

2797 007354 1s: :CHECK ADDRESS REGISTERS

2798 007354 020401 CMP R4 R sCHECK R1 (SOURCE1 STRING)

2799 007356 001401 BEQ (8

2800 007360 104005 ERROR S sunnnnranaene et TEST 26 - ERROR Senvecrerancnnnne
2801 “SRC1 ADDRESS ERROR

2802 007362 020503 ¥ CMP RS.R3 SCHECK R3 (SOURC2 STRING)

2803 007364 001601 BEQ 5$ *BR IF EQUAL

2804 007366 104006 ERROR 6 sunannnnknnkaaasTEST 26 = ERROR Grstanssanssewnsn
2805 SRC2 ADDRESS ERROR

2806 007370 016704 171250 SS: mov SRCLN R4 CALCULATE LENGTH OF SRC1 REMAINDER

2807 007374 166704 171304 SUB TEMP R4

2808 007400 020400 (0, ' R4 RO ;CHECK RO (SRC1 LENGTH)

2809 007402 001401 BEQ 68’ *BR, IF EQUAL

810 007404 104007 ERROR 7 JannnnannnnnerasTEST 26 ~ ERROR 7ttaseensnanssnn
811 SRC1 STRING LENGTH ERR

2812 007406 016704 171236 6s: MOV DSTLN,R4 CALCULATE LENGTH OF SRCZ REMAINDER

2813 007412 166706 171266 SuB TEMP R4

2814 007416 020402 e R ,R2 ;CHECK R2 (SRC2 LENGTH)

2815 007420 001401 BEQ 40$ *BR, IF EQUAL

2816 007422 104010 ERROR 10 snnnnannanannannantTEST 26 = ERROR 10%annnnaenevnees
2817 ] *SRC2 STRING LENGTH ERROR

2818 007424 40%:
5820
2821 ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt

282 tTEST 27 TEST *‘CMPC’* WITH SOURCE! LENGTH .GT. SOURCE2 LENGTH & SOURCE1=SOURC(?
282 N ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt

2824 **THIS TEST VERIFIES THAT ‘‘CMPC'’ INDICATES EQUAL STRINGS WHEN THE

2825 *«STRING LENGTHS ARE NOT EQUAL BUT THE EXCESS OF THE LONGER

2826 tSTRlNG CONTAINS ALL FILLS.

2827 ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt

2828 ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt

2829 007424 000004 ’r§rz7 SCOPE

2830 007426 004567 004616 JSR RS ,PREP :SET UP INSTRUCTION ARGUMENTS

2831 007432 00910 10 SMCEI LENGTH

283 074%4 16310 BUF1 *SOURCE1 ADDRESS

gas 7436 00912 12 :SOURCE2 LENGTH

/834 76440 O1 19 F2 :SOURCEZ ADDRESS

2835 744 ;7 7 SFILL CMARACTSR

2839 7444 27 00462 JSR PC.CLDST JCLEAR SOURCEZ AREA

283 7450 567 00465 JSR RS GENSRC sGENERATE SOURCE2 STRING

sgg 7454 18 .WORD JMAKE FIRST 10 BYTES IDENTICAL

3‘ 745 13 1 .WORD O?F; ;70 SOURCE1 STRING AND THE

0 74 12721 177777 MoV 4 777 (R1)+ LASI TWO BYTES EQUAL TO FILL CHARACTER
gl ;2 567 004654 Js& b 2 STORE EXPECTED PSW VALUE
iy i 7473 ;67 004506 JSR PC.GENR :SET UP GENERAL REGISTERS
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007476
007500

007552
007554

2

0(1046) 22 -JAN-B2 0B8:44 PAGE 54
~JAN-B2 0B:43 127
000277 SCC
000244 Lz
076044 CMPC
004767 004660 JSR
001401 BEQ
104001 ERROR
648:
023706 000676 CMP
001403 BEQ
010637 000700 MoV
104002 ERROR
65%:
005700 TST
001401 BEQ
104003 ERROR
016700 171104 18: MOV
066700 171076 ADD
020001 CMP
001401 BEQ
104004 ERROR
005702 2$: TST
001401 BEQ
104005 ERROR
016702 171064 3s: MOV
066702 171056 ADD
020203 CMp
001401 BEQ
104006 ERROR
4S:
026704 171050 (W, '
001401 BEQ
104007 ERROR
026705 171042 66%: cMp
001401 8EQ
104010 ERROR
A78:

R 5

TEST *'CMPC'* WITH SOURCE1 LENGTH .GT. SOURCE2 LENGTH & SOURCE1=SOURC? SEQ 0053

;SET ALL CONDITION CODES, EXCEPT
EAR 2

SEXECUTE "'CMPC’* INSTRUCTION

PC&£§CC ;CHECK PSW, GENERATE CONDITION CODES
tttttttttttttttTEST 27 = ERROR 1tnnnsanannnnssnn
PSH ERROR
EXPECTED PSW IS STORED AT 'EXPPSW'’
ACTUAL PSW IS STORED AT °‘'CCODES‘’

a#SAVR6, SP ;VERIFY STACK POINTER IS RESTORED

65% BR IF 0K

SP ,a#BADR6 :STORE 8AN SP VALUE

é tttttttlfttttﬁtTEST 27 = ERROR 2tnatncnnnnnnense

:STACK _POINTER NOT RESTORED BY INSTRUCTJON
:EXPECTED VALUE OF SP_IS STORED AT ''SAVRé™
;ERRONEOUS VALUE IS AT ‘BADR6'

qg ;CHECK RO=0

3 senannnsansansasaTEST 27 = ERROR Jenvvtnaneesenes
:SOURCE1 LENGTH ERROR

SRCAD R0 :CALCULATE ADDRESS OF LSB+1

SRCLN,RO

gg.R1 ;CHECK R1, SOURCE1 ADDRESS

4 sanannnannseanasTEST 27 ~ ERROR Avtnnntnnnnennnse
:SOURCE1_ADPRESS ERROR

gg :CHECK R2=0

5 sannnnnnnnnansasdTEST 27 = ERROR Strvenevvennennn

SOURCEZ LENGTH ERROR

DSTAD ,R2 CALCULATE ADDRESS OF LSB+1

DSTLN.R?

§§.R3 ;CHECK R3,SOURCE2 ADDRESS

6 sennnannaneankatTEST 27 = ERROR Grennnntnnennany
SOURCEZ ADDRESS ERROR

FILL.R4 :CHECK R& UNCHANGED

663 :BR IF 0K

sunnnnannrnneansTEST 27 = ERROR 7tntntnnnntenssry
*R4 SHOULD STILL EQUAL CONTENTS OF LOCATION ‘‘FILL'
g;gLE.RS CHEEK R5 UNCHANGED

10 ttttttEEQttttttTEST 27 = ERROR 10ttttttttttttttt
*RS SHOULD STILL EQUAL CONTENTS OF LOCATION ‘‘TABLE'

tttttttttt'tttttttttttQt'tttttt't'tt"ttt'"tt"'tﬁ""'tttt"t

'TEST 30

TEST THAT BAD °‘SEARCH'' OPCODES TRAP

tttt"t'tQttQttttttttttttt"tt'tttﬁt'ttt"'tt"ﬁﬁ""t'ﬁttﬁ"tt

tTHIS TEST VERIFIES THAT OPCODES 076045-->076047 TRAP TO




MAIN.

HACYT1

CVKAIB.PY

007670
007674

007676
007700
007704
007712
007714

0(1046)
22=-JAN-82

016737

CDC&g(DC)gyDEECND
-l - Y =Y
2\»&!\) o 02
AN EN

‘UOVN‘UO“N-*EB—HD
NNNNNNOOOO

032 4MN-82 0B:44 PAGE 55 .
T30 TEST THAT BAD "‘SEARCH'' OPCODES TRAP

004422

076045

004316

177772

177762
076050

170766

004462
170750
004306

007666
171032
000010

177754
000010

170706
170674

170654

:*LOCATION 10.

c S

' CHRNRRNRRRANREARANRARARNAAAARRRACEARONRRARNRRAAARARNRNARANROARGQOCY
CARRRERRANRANRAGRARAARARARSERANANRAARNRNARARAAAAANAREORRAROACONY

#5130 sgope

REP30:
8D30: .WORD

RS ,PREP
BUF1

10
BUF?2

10

o,
#T30CONT,a#10
PC,GENR
076045

?DSO.RO

(SP)+,(SP)+
8030
#076050,8030
REP30

TEMP1, a0

377
#076045 ,3#8030
TEMP

sSET UP INSTRUCTION ARGUMENTS
: SOURCE LENGTH
: SOURCE ADDRESS
:DESTINATION LENGTH
DESTINATION ADDRESS
sFILL CHARACTER
;STORE THE FIRST BAD MOVE OPCODE
:SAVE ILLEGAL INSTRUCTION TRAP VECTOR
:POINT ILLEGAL INSTRUCTION VECTOR TO CONTINUE TEST
;SET UP GENERAL REGISTERS

sEXECUTE BAD SEARCH INSTRUCTION
;STORE BAD OPCODE THAT DID NOT TRAP

ttttttttttttttttEST 30 = ERROR 1wnsnsnnnnatnnny

:BAD SEARCH OPCODE DID NOT TRAP
;RO CONTAINS THE BAD OPCODE

SRESTORE THE STACK POINTER AFTER THE TRAP
s INCREMENT INSTRUCTION OPCODE
;FINISHED WITH BAD SEARCH OPCODES?

:8R IF NOT
SRESTORE ILLEGAL INSTRUCTION TRAP VECTOR

P L L L L bbbt ieibiviib ittt iriihbd
TEST INTERRUPTABILITY OF ‘‘CMPC’' INSTRUCTION

Lt T T L T e T L bt LI AL L
*THIS TEST INTERRUPTS THE EXECUTION OF THE ‘‘CMPC"’
*«INSTRUCTION, RESUMES THE INSTRUCTION AFTER THE

tTEST 3

*«INTERRUPT, VERIFIES THE RESULT.

'IS FOR SOURCE1=SOURCEZ.

ttttt't"ttttt"'t"ttttttttttt't'ﬁ.t'ttttttttttti'itt'tﬁtttttt
ttttttttt.ttttttttt'tt"ttttt'ttttt.tt'ttttttt'tt'ttttttttt'ttt

TST31 SCOPE

JSR

TST
BNE
JSR

MoV

CLR
JSR
Mov

PC,SKPINT

TEMP
15132
R5 PREP

400

tlnré arvecr
gCPTDONE
a#$NULL . aTBUF

THE PROPER RESULT

:SET FLAG -- TEMP, WHICH INDICATES IF
*NEXT TEST IS TO BE EXECTED NEXT.
SCHECK IF -TEMP- IS SET

STEMP IS SET, GO TO NEXT TEST

ser UP INSTRUCTION ARGUMENTS

TER
STORE PC OF TEST INSTRUCTION
:POINT TTY VECTOR TO INTERRUPT ROUTINE
:ALLOW INTERRUPTS AFTER TTY INTERRUPT

sSEND CARRIAGE RETURN

SEQ 005¢
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%567

104001

023706
001403
010637
104002

105700
001401
104003

105702
001401
104004

016700
066700
020001
001401
104005

020003
001401
104006

026704
001401
104007

026705
001601
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004332
000100
004152
000676

170622
000100

177400
000674

000676
000700

170474

170466

170632

170602

170604
170576

REPCMC:

mC:

648:

658 :

18:

2s:

3s:

408:

66$:

56

D S

TEST INTERRUPTABILITY OF ‘‘CMPC’' INSTRUCTION

JSR
. WORD
MTPS
8IS
JSR
MoV

SCC
Lz

4,

RS . XPSW
04

#0
#100,@TCSR
PC,GENR
SP,a#SAVR6

CCODES
:100 .8TCSR

EPCM(C
#177400,CCODES
EXPPSW, CCODES ;
?43

@4SAVRG, SP
65%
gP.iﬂBADRé

SRCAD ,RO
SRCLN,RO
RO.R1

RO.R3
40$
6

FILL,RG
66$

TABLE RS
67%

;STORE EXPECTED PSW VALUE

sSET PSW TO ALLOW INTERRUPTS

:ENABLE TTY INTERRUPTS

;SET UP_GENERAL REGISTERS

:COPY STACK POINTER BEFORE INSTRUCTION EXECUTION
SSET et% CO?D{TION CODES, EXCEPT

sEXECUTE °*‘CMPC’’ INSTRUCTION

s CHECK RESULTS
;STORE THE

SEQ 0055

PSW
:IF INTERRUPT ARE DISABLED, THE INSTRUCTION WAS NOT INTE
‘BR € DO TEST AGAIN, IF INSTRUCTION WAS NOT INTERRUPTED

:CLEAR ALL UNUSED BITS
CHECKFPSU AGAINST EXPECTED VALUE

QUAL
,tttttttttttttttTEST 31 =« ERROR Ternessanannenense
;PSW ERROR
EXPECTED PSW IS STORED AT 'EXPPSW’
ACTUAL PSW IS STORED AT '‘CCODES''

ESR{FYOETACK POINTER IS RESTORED
sSTORE BAD SP VALUE

senansnnnnsanansTEST 31 = ERROR 2eenennsnunaseet
:STACK_POINTER NOT RESTORED BY INSTRUCTION
sEXPECTED VALUE OF SP IS STORED AT ‘SAVR6
;ERRONEOUS VALUE IS AT 'BADR6™

s CHECK RO
:BR, IF ZERO

saneannantesvnttTEST 31 = FRROR Jetnnssnnsavnnns
RO SHOULD BE ZERO
s CHECK R2

:BR, IF ZERO
senennnnnnananssTEST 31 = ERROR 4rnennnsnnnnnnes

:R2 SHOULD BE ZERO
sCALCULATE ADDRESS+1 OF LS8

:CHEC R1
IF EQUAL TO_ADDR ?S*1 OF L

ttttttttttttttttEST RROR Setssessasnsseny
%152"0350 EQUAL (SRCAD)*(SRCLN)

:BR, IF EQUAL TO ADDRESS+1 OF LS8
suennnananaenaeaaTEST $1 = ERROR Grevensnsnennnen

:R3 SHOULD EQUAL (DSTAD)+(DSTLN)
s CHECK R4 UNCHANGED
:BR IF

sennaannnanansesTEST 31 ~ ERROR 7vnenannnanesene

:R6 S D STILL EQUAL CONTENTS OF LOCATION *FILL'

: CHECK UNCHANGED
:BR IF OK
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-JAN=-82 08:63 3 TEST INTERRUPTABILITY OF *'CMPC'" INSTRUCTION SEQ 0056
104010 ERROR 10 seneeennneneenesTEST 31 -« ERROR 10!!"'!!!!!"'!!
675 RS SHOULD STILL EQUAL CONTENTS OF LOCATION ‘‘TABLE''
106427 000200 " mIPS  #200 ;RESTORE PSW TO PRIORITY 7
016777 170462 170456 MoV TPSW,STVECT RESTORE TRAP CAT(CHER

67
000277
076040

004767
001401
104001

023706
001403
010637
104002

026704
001401
104003

026705

001401
104004

016703

004034

004112
003744

004120

000676
000700

170360

170352

170332

tQ'tttttt'tttttttttt't'ttttttttttt'tttttt'tttttttt"'t"'tt"tt

-rssr 32 TEST *LOCC'* INSTRUCTION WITH SEARCH CHARACTCR IN SOURCE
t'tttt"t'tt'tttt'tttttt'ttt'tttttt'tttttttt'tttttttt't'tttt"t
*<PROPER TERMINATION OF THIS TEST IS R1 EQUALS THE

«ADDRESS OF THE FIRST OCCURRANCE OF THE '‘CHARACTER'’

SN THE SOURCE STRING, RO EQUALS REMAINING LENGTH

1«OF THE SOURCE STRING, AND ALL CONDITION CODES CLEAR.

' AR RRRRANRRRRR AR R RN RN AARNAARRARNRRRRRRANNRA AR ARARAAARRAARAAARCARS
tttQtttttt.'ttttt.tttttttttt.tttt.tttttttttttttttttttttttttttt'

TST32 SCOPE
JSR RS ,PREP :SET UP INSTRUCTION ARGUMENTS
10 SOURCE LENGTH
BUF1 SOURCE ADDRESS
NXM STORE NON=-2ERO VALUES TO TEST R2 & R3
NXM .' UNAFFECTED BY DIS STRING INSTRUCTIONS
4 ;SEARCH [MASK FOR SCANC/SPANC] CHARACTER
JESRD 55 XPSW STORE EXPECTED PSW VALUE
JSR PC.GENR 2SET UP GENERAL REGISTERS
SCC SET ALL CONDITION CODES
EXECUTE 10c¢C'’
LOCC
JCHECK RESULTS
ggg PCB%CC CHECK PSW, GENERATE CONDITION CODES
ERROR 1 sennnnnnannnennanTEST 32 = ERROR Txnntnnanunnns ra
:PSW_ERROR ,
:EXPECTED PSW IS STORED AT "EXPPSW'’
648 -ACTUAL PSW IS STORED AT ‘‘CCODES'’
CMP @#SAVR6,SP sVERIFY STACK POINTER IS RESTORED
BEQ 65% BR IF 0K
MoV SP,a#BADR6 STORE B8AD SP VALUE
ERROR 2 nnttnntttn‘rfst 32 = ERROR 2tttansantsertny
STACK POINTER NOT RESTORED BY INSTRUCTION
EXPECTEO VALUE OF SP IS STORED AT ‘'SAVRG'’
658 ERRONEOUS VALUE IS AT 'BADRéG'’
CMP FILL,R4 :CHECK R4 UNCHANGED
BEQ 668 .BR IF 0K
ERROR 3 sennnnnannananvaJEST 32 ~ ERROR Snut"n"u"-
'Rlo SHOULD STILL EQUAL CONTENTS OF LOCATION 'FILL®'
66%: cMP TABLE RS :CHECK RS UNCHANGED
BEQ 67% .BR IF 0K
ERROR 4 sansnnnannnnnnadTEST 32 - ERROR l.tttu"u"nn
678 RS SHOULD STILL EQUAL CONTENTS OF LOCATION ‘‘TABLE *

MoV SRCAD,R3 sLOCATE '‘CHARACTER'’

|

!

|
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003750
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F S

TEST "LOCC'" INSTRUCTION WITH SEARCH CHARACTER IN SOURCE

mov SRCLN R2
68$: CMPB (R3),FILL

BEQ 693
TST8 (R3)+
DEC R2
BNE 683

698:  (MP R2,RO
BEQ 70$
ERROR

708: (M R3,R1
BEQ 71$
ERROR 6

718:

;POIN) TO NEXT BYTE
oecnenenr BYTE COUNT

IF NOT FINISHED
cuécx RO=REMAINING SOURCE LENGTM

sunnnnnnnnnnttadTEST 32 « ERROR Swavenvenneneenn

:LOCATE LENGTH ERROR
;CHECK R1=ADDRESS OF CHARACTER

sunntenatanatanTEST 32 = ERROR Httensnnanennnee

:LOCATE ADDRESS ERROR

ttttttt.tttttt"'ttttttt.tttttt.".tttttttttt.....'Qttttttttttt
-resr 33 TEST '10CC’* INSTRUCTION WITH SEARCH CHARACTER IN SOURCE, SL .GT. 100000
tttttttttttt'.'ttitttttiitttt..itttttttttttt..."tttttttttttttt
S <PROPER TERMINATION OF THIS TEST IS R1 EQUALS THE

: *ADDRESS OF THE FIRST OCCURRANCE OF THE ~CRARACTER'™

i«IN THE SOURCE STRING, RO EQUALS REMAINING LENGTH

:«0F THE SOURCE STRING, AND ALL CONDITION CODES CLEAR

itttttttttttttttttttttttttttttttt'.ttttttttttt'ittttttttttttttt
tttttttttttttt.it.tttt'tttttt'titttttttttttiitttttttttttttttttt

-excepr N=1.
rsrss SCOPE
JSR RS . PREP
100010
sur1
NXM
NXM

'
JSR RS, XPSW
worD 210
JSR PC.GENR

JSR PC,CKCC
648

648
e a#SAVR6,SP
65$%

MOV SP,3/BADR6
ERROR 2

65%:

SSET UP lNSTRUCTlON ARGUMENTS
:SOURCE LENGTH

+SOURCE ADDRESS

.S ORE _NON-ZERO VALUES TO TEST R2 & R3

. UNAFFECTED BY DIS STRING INSTRUCTIONS
SSEARCH [MASK FOR SCANC/SPANC] CHARACTER
:STORE EXPECTED PSW VALUE

sSET UP GENERAL REGISTERS
SSET ALL CONDITION CODES
:EXECUTE "vLocC"

sCHECK RESULTS
;CHECK PSW, GENERATE CONDITION CODES

sennnnnnannenseaTEST 33 -~ ERROR Teennenennnenver
.PSW ERROR

:EXPECTED PSW IS STORED AT 'EXPPSW'’

:ACTUAL PSW IS STORED AT ‘‘CCODES

gsRiFYOETACK POINTER 1S RESTORED
:STORE BAD SP VALUE

tttttttttttttttTEST 33 =~ ERROR 2eswtetannnscnnnee
:STACK_POINTER NOT RESTORED BY INSTRUCT 10N
:EXPECTED VALUE OF SP IS STORED AT ‘SAVR6'
:ERRONEOUS VALUE IS AT “BADR6

SEQ 0057
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CVKAIB.P11  22-JAN-82 08:43 133 TEST 'LOCC'* INSTRUCTION WITH SEARCH CHARACTER IN SOURCE, SL .GT. 100000  SEQ 0058

3126 010432 8(2)6704 170216 P FILL RS ;CHECK R& UNCHANGED
3125 010436 1401 BEQ 663 :BR IF OK
3136 010440 104003 ERROR 3 JeeenannnecneeneTEST 33 - ERROR Jesnasnavesennes
127 Rlo SHOULD STILL EQUAL CONTENTS OF LOCATION °FILL"
128 010442 026705 170210 6683 : cwpP TABLE ,RS CHECK RS UNCHANGED
3129 010446 1601 B8EQ 67% .BR IF 0K
130 010450 104004 ERROR 4 suveeanenannneaeTEST 33 - ERROR l.tnttt"tn"tt
11 RS SHOULD STILL EQUAL CONTENTS OF LOCATION '‘TABLE''
313% 010452 67s: " .
32 010452 016703 170170 Mmov SRCAD ,R3 JLOCATE ''CHARACTER
313 010456 01670 170162 Moy SRCLN, RZ
3135 010462 12136 170166 68%: CMP8 (RY), FILL
7136 010466 001403 BEQ 693
3137 010470 105723 I1S78 (R3)+ ;POINT TO NEXT BYTE
3138 010472 005302 DEC R2 DECREHENT BYTE COUNT
3139 010474 001372 BNE 68$ BR IF NOT FINJISHED
3140 01076 020200 69%: CMpP R2.RO CHECK RO=REMAINING SOURCE LENGTH
3141 010500 001401 BEQ 70¢
314% 010502 104005 ERROR b} sannnnnannnnantsTEST 33 = ERROR Senevannnaannnar
314 LOCATE LENGTH ERROR
3144 010504 020301 708: CMP R3 R1 JCHECK R1=ADDRESS OF CHARACTER
3145 010506 001401 BEQ 718
3146 010510 104006 ERROR 6 sannnanannnntaaaTEST 33 = ERROR Greenenenennenen
3147 LOCATE ADDRESS ERROR
3148 010512 718:
3149
3133
§15§ SRR RARANARANANA R AR NN ENRRAANARERAARRRRAARANAARARANANANANRNRAS
315 'TEST 34 TEST *LOCC'' WITH SEARCH CHARACTER NOT IN SOURCE
3154 e e L L A L P DL
3155 tPRWER TERMINATION OF THIS TEST IS RO EQUALS ZERO R1
3156 'EOUALS ADDRESS OF LSB OF SOURCE PLUS ONE, AND A
3157 'CMDITIW CODES CLEAR EXCEPT 2I=1.
3158 R e e e e e e e e e e Lt el
3159 AN AR AR AT AAR RN ANE NN NA NN ACAC AR ENANARAERERE
3160 010512 000004 ism. SCOPE
%161 010514 567 003530 JSR RS PREP JSET UP INSTRUCTIW ARGUMENTS
mg 010520 000377 377 *SOURCE LENGTH
3163 010522 016310 BUF1 SOlRCE ADDRESS
164 010526 177777 NXM STORE NON=-ZERO VALUES TO TEST R2 ¢ R3
165 185 8 177777 NXM : UNAFFECTED BY DIS STRING INSTRUCTIONS
169 105 0 SEARCH MASK FOR SCANC/SPANC] CHARACTER
316 10532 88405 7 003606 JSR RS XPSW STME EXPECTED PSW VALUE
3168 18536 ; LWORD 204
3199 10540 004767 003440 JSR PC.GENR :SET UP GENERAL REGISTERS
3170 10544 000244 L2 CLEAR CONDITION CODE 2
3171 010546 000276 +SEV!SEN'SEZ SET ALL pTHER CONDITION CODES
31 7; EXECUTE 10cC*’
3175 010550 076040 LOCC
§174 :CHECK RESULTS
175 10552 004767 003612 JSR PC.CKCC CHECK PSW, GENERATE CONDITION CODES
176 010556 001401 BEQ 648
177 010560 104001 ERROR 1 sanenanannanatseTEST 34 ~ ERROR 1ntvevecaneenens
3178 +PSW ERROR .
3179 :EXPECTED PSW IS STORED AT "EXPPSW'’
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000676
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1703052

170044

170024
170016
170022

003364

003442
003274

648

65%:

66S$:

67%:

68$:

69%:

70$:

718:

60

TEST 'LOCC’' WITH SEARCH

P
8tQ
MoV
ERROR

S#SAVRE, SP
658
3P.308ADR6

FILL,R4
663

TABLE .R5
67%

SRCAD ,R3
SRCLN,R2
éRS) JFILL

(R3)+
R2
68%

R2,RO
;of

R3,R1
714
3

CHARACTER NOT IN SOURC(E

;ACTUAL PSW IS STORED AT '‘CCODES"
SYERIFY STACK POINTER IS RESTORED
:BR IF OK

:STORE BAD SP VALUE

tt.ttt.ttt.t.ttTEST 34 = ERROR 2tsvsnennennsnne
:STACK POINTER NOT RESTORED BY INSTRUCTION
:EXPECTED VALUE OF SP IS_STORED AT ‘'SAVR6''
;ERRONEOUS VALUE 1S AT "BADRG'

;CHECK R4 UNCHANGED
;BR IF

sennsaennannnsssTEST 34 - ERROR 3....-........--
:R4 SHOULD STILL EQUAL CONTENTS OF LOCATION ‘FILL'
ggfgk RS UNCHANGED

tttttttttttttttTEST 34 = ERROR 4....-..-.-.....

:RS SHOULD STILL EQUAL CONTENTS OF LOCATION '‘TABLE''
;LOCATE ‘‘CHARACTER''

:POINT TO NEXT BYTE

:DECREMENT BYTE COUNT

:BR, IF NOT FINISHED

;CHECK RO=REMAINING SOURCE LENGTH

susnnnnannnsnadwsTEST 34 = ERROR Sernsvsnnnnannnne

;LOCATE LENGTH ERROR
sCHECK R1=ADDRESS OF CHARALTER

sentnnsnnenseensTEST 34 -~ ERROR Grevvnnennnennen

:LOCATE ADDRESS ERROR

tttttttttttitttttttttttttttttttttttittttttttttttttttttttttttttt

TEST 'LOCC'' WITH ZERO SOURCE LENGTH

tTEST 35

ttttttt.ttttttttﬁttttttttttttttttttttttititttttttitiitttttttttt

-PROPER TERHINATION OF TEST IS NO CHANGE IN CONTENTS OF
AND ALL CONDITION CODES CLEAR EXCEPT 2=1.

' ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt
X2 TL LTSI SIS R 3L RRL R 282 A ARl aRdlddddtiiiidddds

-tROGR1

t§135:

SCOPE
JSR

R5 ,PREP

- %5:)
2585

Rg XPSW
PC.GENR

'SET uP INSTRUCTI(N ARGUMENTS
E ENG

SOURCE DRESS
TORE NON-ZERO VALUES TO TEST R2 & R3
: ECTED BY DIS STRING INSTRUCTIONS
SEARCH [MASK FOR SCANC/SPANC] CHARACTER
STORE EXPECTED PSW VALUE

:SET UP GENERAL REGISTERS
;CLEAR CONDITION CODE 2
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T35 TEST "L0CC'' WITH ZERO SOURCE LENGTH SEQ 0060

P11 22-JAN-82 08:43

010712
010714
010716

010722
010724

010750
010754
010756

010760

88

g8

(elelelelelolelolelalelelele B elal
(=lolelelele]

b b b e e e b b b O

R

000273
076040

004767
001401
104001

023706
001403
010637
104002

105700
001401
104003

026701
001401
104004

000004
004767

003446

000676
000700

167672

003424
167712
003250

FRRRES

1

+SEV!SEN!SEC

sSET ALL OTHER CONDITION CODES
sEXECUTE ‘r0CC"

L0CC
+sCHECK RESULTS
Jgg PC62§CC ;CHECK PSW, GENERATE CONDITION CODES
ERROR sennannananaaaddTEST 35 = ERROR 1teeenneenennner
PS W ERROR
EXPECTED PSW IS STORED AT "EXPPSU'’
aus ACTUAL PSW IS STORED AT '‘CCODES’’
' MP 8#SAVR6, SP VERIFY STACK POINTER IS RESTORED
BEQ 65% BR IF OK
MOV SP,a#8ADRS STORE 8AD SP VALUE
ERROR b4 JannnnnnnnueannnTEST 35 = ERROR 2ttnaneeesvennee
STACK POINTER NOT RESTORED BY INSTRUCTION
EXPECTED VALUE OF SP IS STORED AT '‘SAVRG'’
658 ERRONEOUS VALUE IS AT "BADR6'’
' ggge qg ;CHECK RO
ERROR 3 sannnnnnnnnnssaaTEST 35 = ERROR 3nnannnanenewnns
;RO CHANGED
18: (4, SRCAD ,R1 sCHECK R1
B8EQ 408
ERROR A sennnnnnnnansnnaTEST 35 = ERROR 4eennnntnannnnen
«0$ sR1 CHANGED

JRRARRRAARNRARNARANARARAARAARAAARAARAAAAARAARAAARAARAARAARAARACAS

'TEST 36 TEST INTERRUPTABILITY OF ‘10CC’* INSTRUCTION

R L N T T L e T T T
tTHIS TEST INTERRUPTS THE EXECUTION OF °‘LOCC'' INSTRUCTION,
;*RESUMES EXECUTION AFTER THE INTERRUPT, AND CHECKS THE
tRESULTS. RESULTS INDICATE THE SEARCH CHARACTER FOUND.

JRARARRAAAANAAARARRARAAAAARAAARAARARARAAAACRRARARAAAAARAAAAARAANR
tttttﬁttttttltﬁttttttttttt.tﬁttttttttttﬁtttt'ltttttttttﬁttttttt

r§736 SCOPE

JSR PC,SKPINT :SET FLAG =~ TEMP, WHICH INDICATES IF
*NEXT TEST IS T0 ée Exscrso NEXT.
ST TEMP *CHECK IF -TEMP-
BNE TST37 STEMP IS SET, GO ro nsxr TEST
JSR RS, PREP *SET UP INSTRUCTION ARGUMENTS
377 :SOURCE LENGTH

BUF 1 s SOURCE
NXM ;

200 SSEARCH [MASK FOR SCANC/SPANC] CHARACTER
MOV #LOC,PCI *STORE PC OF TEST INSTRUCTION
MOV SINTR,aTVECT  :POINT TTY VECTOR TO INTERRUPT ROUTINE
CLR aTPSW *ALLOW INTERRUPTS AFTER TTY INTERRUPT
JSR PC, TDONE
MOV a#SNULL.TBUF  ;SEND CARRIAGE RETURN
JSR RS, XPSW *STORE EXPECTED PSW VALUE

ESS
S ZERO VALUES TO TEST R2 & R3
: _UNAFFECTED BY DIS STRING INSTRUCTIONS




J S
JMAIN,  MACYIT 30(1046) 52°iAN'82 08:44 PAGE 62
08:4 136

(VKAIB.P11 ~JAN- LITY U SEQ

2 82 TEST INTERRUPTABILITY OF 'LOCC'' INSTRUCTION €Q 0061
3292 011050 000000 .WORD 00
3293 011052 1234;7 000000 MIPS #0 ;SET PSW TO ALLOW INTERRUPTS
3296 011056 052777 000100 167574 81s #100,8TCSR SENABLE TTY INTERRUPTS
3295 0110?4 0047%7 003114 REPLOC: JSR PC,GENR ;SET UP GENERAL REGISTERS
3296 011070 O1 7 000676 MoV SP,#SAVR6 ;COPY STACK POINTER BEFORE INSTRUCTION EXECUTION
g gg 011074 000277 SCC JSET ALL CONDITION CODES
g 011076 076040 LOC: Locc ;EXECUTE ‘vo0CC'’
3%81 011100 106767 167566 MFPS CCODES ;STORE THE PSW
3 i 011104 032777 000100 167546 8IT #100,8TCSR :1F INTERRUPT ARE DISABLED, THE INSTRUCTION WAS NOT INTE
330 0111:2 001364 BNE REP%OC ;BR € DO TEST AGAIN, IF INSTRUCTION WAS NOT INTERRUPTED
3304 011114 042767 177400 167550 8I1C #1776400,CCODES ;CLEAR ALL UNUSED 8iTs
gSOS 011122 023767 000674 167542 CMP SNEXPPSW,CCODES ;CHECK PSW AGAINST EXPECTED VALUE

306 011130 001401 8EQ 643 ;BR, IF EQUAL
3307 011132 104001 ERROR 1 sevennnsenenetaTEST 36 = ERROR 1eevenncannenene
3308 :PSW ERROR
3309 JEXPECTED PSW IS STORED AT "“EXPPSW'’

310 ;ACTUAL PSW IS STORED AT ''CCODES’’
3311 011134 648:
3315 011134 023706 000676 CMP S#SAVR6, SP JVERIFY STACK POINTER ]S RESTORED
331 0111640 001403 8EQ 65$ sBR IF 0K
3314 011142 010637 000700 MOV SP,3#BADR6G :STORE BAD SP VALUE
3315 011146 104002 ERROR 2 sennnanennanseesTEST 36 = ERROR 2veevtnnnennnnny
3316 JSTACK POINTER NOT RESTORED B8Y INSTRUCTION
3%17 SEXPECTED VALUE OF SP IS STORED AT ‘‘SAVR6'’
3318 :ERRONEOUS VALUE IS AT 'BADR6'’
3319 011150 65$:
§3 0 011150 026704 167500 CMP FILL.RG :CHECK R4 UNCHANGED

321 011156 001401 B8EQ h6$ :BR IF 0K
33 % 011156 104003 ERROR 3 sanannnnannnnsasTEST 36 = ERROR Jeeneannnnvnnnnne
3;2 sRG SHOULD STILL EQUAL CONTENTS OF LOCATION ‘FILL
3324 011160 026705 167472 66$: cmp TABLE RS JCHECK RS UNCHANGED

25 011164 001401 Q 67% : IF 0K

26 11166 1064004 ERROR 4 sannnnnnnannnanaTEST 36 -~ ERROR 4entstnnnannnnese
337 RS SHOULD STILL EQUAL CONTENTS OF LOCATION '‘TABLE'’
3328 811170 67$:

329 011170 016703 167452 MOV SRCAD ,R3 ;LOCATE "°CHARACTER'

330 811174 01670; 167444 MOV SRCLN,R2

331 11200 121367 167450 68$: CMPB (R3),FILL

gSg 011204 00140; BEQ 693

33 011206 10572 TSTB (R3)+ ;POINT TO NEXT BYTE

334 811 1g 5305 DEC R2 :DECREMENT BYTE COUNT

335 01121 137 BNE 68$ :BR, IF NOT FIN]SHED

39 811 14 0200 69%: CMP R2,RO :CHECK RO=REMAINING SOURCE LENGTHM

37 011216 001401 BEQ 70§

g& 011220 104005 ERROR L1 sennnnananannrasTEST 36 = ERROR Setrnnsnnnnenney

9 JLOCATE LENGTH ERROR

340 811222 020301 708: CmMpP R3,R1 :CHECK R1=ADDRESS OF CHARACTER

3.1 011224 001401 BEQ 71§

34% 011226 1046006 ERROR 6 sannnnnnneneaanaTEST 36 = ERROR Grevtrnansesntny
z: :LOCATE ADDRESS ERROR

342 011230 718:

346 011230 1064;7 009200 408: MTPS #200 ;RESTORE PSW TO PRIORITY 7

347 011234 016777 167426 167622 MoV TPSW, STVECT JRESTORE TRAP CATCHER
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(VKAIB.P11 22~JAN-82 0 TEST INTERRUPTABILITY OF "10CC'" INSTRUCTION SEQ 0062
3348
3350
3351 ;;tttttttttttttttttttttt.tttt'ttttt't"tlt"ttttt'ttti'tttttt"tt
3352 -'TEST 37 TEST *'SKPC’' INSTRUCTION WITH NON=-SKIP CHARACTERS IN SOURCE
3353 ttttttttttttttttttttttttttttttttttttitttttttttttttttttttttttttt
3354 tPROPER TERMINATION OF THIS TEST IS Rl EQUALS THE
3355 tAOORESS OF THE FIRST OCCURRANCE OF A CHARACTER
3356 tOTHER THAN THE SEARCH CHARACTER, RO EQUALS THE
3357 ;*REMAINING LENGTH OF THE SOURCE STRING AND ALL
3358 'CCNOITIM CODES CLEAR
3359 . ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt
3360 ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt
3561 011242 000004 TST37 SCOPE
3362 011244 00464567 003000 JSR RS,.PREP :SET UP INSTRUCTION ARGUMENTS
3363 011250 000007 7 SOURCE LENGTH
3364 011252 016710 BUF2 SOURCE ADDRESS
1365 011254 177777 NXM STORE NON-ZERO VALUES TO TEST R2 & R3
3366 011256 177777 NXM : UNAFFECTED BY DIS STRING INSTRUCTIONS
3357 011260 000001 1 ;SEARCH [MASK FOR SCANC/SPANC] CHARACTER
3368 011262 004567 003056 JSR RS, XPSW ;STORE EXPECTED PSW VALUE
3369 011266 000200 .WORD 200
3370 011270 004767 002710 JSR PC,GENR ;SET UP GENERAL RESISTERS
1371 011276 000277 SCC SET ALL CONDITION CODES
3372 EXECUTE *'skpC'’
%473 011276 076041 SKPC
3374 ;CHECK RESULTS
33175 011360 004767 003064 JSR PC,CKCC CHECK PSW, GENERATE CONDITION CODES
1376 011304 001401 8EQ 648
337 011306 104001 ERROR 1 "“"“t"tt"TEST 37 = ERROR 1neawvsannnnnnen
3378 PSU ERRO
3379 EXPECTED PSW IS STORED AT "EXPPSW’
3380 ACTUAL PSW IS STORED AT °‘'CCODES‘’
3381 011310 643:
3382 011310 023706 000676 P @#SAVRG, SP JVERJFY STACK POINTER 1S RESTORED
3383 011314 001403 8EQ 65% BR JF 0K
34584 011316 010637 000700 MOV SP ,a#BADRG :STORE BAD SP VALUE
3385 011322 104002 ERROR 2 ‘annannanaaeeaaaTEST 37 = ERROR 2etstnnusnananns
3386 STACK POINTER NOT RESTORED BY INSTRUCTIO{J
3387 EXPECTED VALUE OF SP_IS STOREO AT °*‘SAVR6''
§388 ERRONEOUS VALUE IS AT "BADRG'’
389 011324 658:
3300 011324 026704 167324 CMpP FILL.RG :CHECK R& UNCHANGED
3391 011330 001401 B8EQ 663 .BR IF 0K
3392 011332 104003 ERROR 3 sanannnananeadaaTEST 37 -~ ERROR Jeewnasaetannens
339 R4 SHOULD STILL EQUAL CONTENTS OF LOCATION °FILL''
3394 011334 026705 167316 668: cMpP TABLE ,R5 CHECK RS UNCHANGED
3395 011340 001401 8EQ 67% .BR IF
3396 011342 104004 ERROR & t"t"n"tt"tTEST 37 = ERROR 4erexansnnnanans
3397 RS SHOULD STILL EQUAL CONTENTS OF LOCATION '‘TABLE''
3398 011344 67%:
3399 011344 016703 167276 MOV SRCAD ,R3 :SKIP "'CHARACTER''
3400 011350 016702 167270 MOV SRCLN,R2
3,01 011354 121367 167274 68$: CMP8 (R3), FILL
3402 011360 001003 BNE 698
3,03 011362 105723 TST8B (R3)+ :POINT TO NEXT BYTE
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(VKAIB.P11 22-JAN-82 0 TEST **SKPC'' INSTRUCTION WITH NON-SKIP CHARACTERS IN SOURCE SEQ 0063
;204 on sgos DEC R2 ;DECREMENT BYTE COUNT
05 ONn 1%7 BNE 68% ;BR, IF NOT FINISHED
3409 1 g 0200 69%: (o, R2 RO ;CHECK RO=REMAINING SOURCE LENGTH
3,07 01137 1401 BEQ 70§
3408 11374 1064005 ERROR s sunannnnnnnaesesTEST 37 = ERROR Sannnntennnenene
3409 sSKIP LENGTH ERROR
10 011376 020301 708: (o, R3 R1 ;CHECK R1=ADDRESS OF CHARACTER
11 011400 001401 BEQ 714
1% 011402 104006 ERROR 6 sennnnnnnknkaa ks TEST 37 = ERROR Gatnnnnsnnnnnesns
341 :SKIP ADDRESS ERROR
3414 011404 718:
gz1s
1%
g‘la . ;ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt
19 :«TEST 40 TEST "°SKPC'* WITH ALL SKIP CHARACTERS IN THE SOURCE
3420 ;;ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt
gz 1 :*PROPER TERMINATION OF THIS TEST IS RO EQUALS ZERO,
g :*R1 EQUALS THE ADDRESS+1 OF THE LSB IN THE SOURCE STRING,
34 :«AND ALL CONDITION CODES ARE CLEAR EXCEPT Z=1.
3424 ;;tttttttttttttttttttttttttttttt’tttttttttttttttttttttttttttttttt
3425 ;;ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt
3426 011404 000004 TST40: SCOPE
§227 011406 004567 002636 JSR RS .PREP ;SET UP INSTRUCTION ARGUMENTS
28 811412 000010 10 ;SOURCE LENGTH
3429 011414 016710 BUF2 :SOURCE ADDRESS
34,30 011616 177777 NXM :STORE NON-2ERO VALUES TO TEST R2 © R3
3431 011420 177777 NXM ; UNAFFECTED 8Y DIS STRING INSTRUCTIONS
3432 011422 000377 377 :SEARCH [MASK FOR SCANC/SPANC] CHARACTER
3433 0174246 016700 167216 MOV SRCAD ,RO :GENERATE SOURCE STRING
3,34 0116430 016701 167210 MoV SRCLN.R1 :OF ALL SKIP CHARACTERS
3435 011434 116720 167214 1$: MOVB FILL,(RO)+
3436 011440 005301 DEC R1
3437 0114462 001374 BNE 18
3438 0114446 004567 002674 JSR RS . XPSW :STORE EXPECTED PSW VALUE
3439 011450 000204 .WORD 204
3440 011452 004767 002526 JSR PC,GENR :SET UP GENERAL REGISTERS
3441 011456 000244 cLZ ;CLEAR CONDITION CODE '‘2**
3442 011460 000273 +SEV!SEN!SEC ;SET ALL OTHER CONDITION CODES
3443 ;EXECUTE ‘'SKPC
3444 011462 076041 SKPC
3445 :CHECK RESULTS
3446 011464 004767 002700 JSR PC,CKCC :CHECK PSW, GENERATE CONDITION CODES
3447 011470 001401 B8EQ 648
3648 011472 104001 ERROR 1 sunnnnnnnnandaddaTEST 40 - ERROR Taetasnnsvsvenes
3449 :PSW ERROR , .
3450 ;EXPECTED PSW IS STORED AT ‘EXPPSW
3451 :ACTUAL PSW IS STORED AT °‘‘CCODES'’
3452 011474 64$:
3453 011474 023706 000676 CMP 8#SAVR6, SP :VERIFY STACK POINTER IS KESTORED
3454 011500 001403 BEQ 65% :BR IF OK
3455 011502 010637 000700 MOV SP,3/BADRG :STORE BAD SP VALUE
3456 011506 104002 ERROR 2 sanannannnannnadTEST 40 ~ ERROR 2ennnnanananenes
3457 ;STACK POINTER NOT RESTORED BY INSTRUCTION
3458 ;EXPECTED VALUE OF SP_IS STORED AT '‘SAVR6
3459 :ERRONEOUS VALUE 1S AT 'BADR6
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CVKAIB.P11 22-JAN=82 08:43 T40 TEST '"'SKPC"' WITH ALL SKIP CHARACTERS IN THE SOURCE SEQ 0064
w60 011510 65$:
3461 011510 026704 167140 (MpP FILL.RG 'CHECK R4 UNCHANGED
3462 011514 1401 BEQ 663 .BR IF 0K
346 011516 104003 ERROR 3 tttttttttttttttTEST 40 - ERROR Sttttttttttttttt
3464 R4 SHOULD STILL EQUAL CONTENTS OF LOCATION 'FILL''
3465 011520 026705 167132 66$%: cap TABLE RS JCHECK RS UNCHANGED
3465 0115%4 001401 BEQ 67% .BR IF 0K
3467 011526 104004 ERROR & sanannannnnaatanaTEST 40 = ERROR {evennnanannnaee
34,68 RS SHOULD STILL EQUAL CONTENTS OF LOCATION ‘‘TABLE''
3469 011530 678: . .
34,70 011530 016703 167112 MoV SRCAD ,R3 ;SKIP ''CHARACTER
3471 011534 01670; 167104 mov SRCLN,RC
3472 011560 12136 157110 68$: CmMPB (R3)FILL
3473 011544 001003 BNE 69%
3474 011546 105723 T1ST8 (R3)+ ;POINT TO NEXT BYTE
3475 011550 005302 DEC R2 :DECREMENT BYTE COUNT
3476 011552 001372 BNE 68$ BR IF NOT FINISHED
3477 011554 020200 69%: CMP R2,RO *CHECK RO=REMAINING SOURCE LENGTH
3,78 011556 001401 BEQ 70$
3479 011560 104005 ERROR 5 junnnnnnnnneanttTEST 40 = ERROR Stevntennnnannee
3480 *SKIP LENGTH ERRCR
3481 011562 020301 708: CMP 53 R1 CHECK R1=ADDRESS OF CHARACTER
3,82 011564 001401 BEQ 1§
3483 011566 104006 ERROR 6 sannnnannnsesddaJEST 40 - ERROR Hnnnnennnnnnenen
3484 *SKIP ADDRESS ERROR
3485 011570 71$:
i
5488 tttttttttttttttttttttttttttttttttttttttttttttttttttittttttttttt
1489 tTEST 41 TEST ''SKPC'' WITH ZERO SOURCE LENGTH
51.9() ce I 3223232223322z 22222 FRRZTITTIRI T3 2232232323 3333333111313321313243243}
3491 ;*PROPER TERMINATION OF YEST IS NO CHANGE IN CONTENTS OF
%92 -R0&R1 AND ALL CONDITION CODES CLEAR EXCEPT Z=1.
3493 ttttttttttttttttttttttttttttttttttttttttttttttttttttstttttttttt
31,91, ;;ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt
3495 (011570 000004 TST41: SCOPE
3496 011572 004567 002452 JSR RS ,PREP :SET UP INSTRUCTION ARGUMENTS
3497 011576 000000 0 *SOURCE LENGTH
498 011600 177777 NXM :SOURCE ADDRESS
3499 011602 177777 NXM ;STORE NON-ZERO VALUES TO TEST R2 & R3
1500 011604 177777 NXM ; UNAFFECTED BY DIS STRING INSTRUCTIONS
3501 011606 000000 0 JSEARCH [MASK FOR SCANC/SPANC] CHARACTER
3502 011610 004567 002530 JSR RS, XPSW *STORE EXPECTED PSW VALUE
3503 011614 000204 .WORD 204
3504 011616 004767 002362 JSR PC.GENR :SET UP GENERAL REGISTERS
3505 011622 000244 L2 SCLEAR ‘7" CONDITIO{ CODE
3506 013624 000267 +SEVISEZ!SEC SET ALL pTHER CONDITION CODES
3507 SEXECUTE *‘SKPC'’
3508 011626 076041 SKPC
3509 ;CHECK RESULTS
3510 011630 004767 002534 JSR PC,CKCC SCHECK PSW, GENERATE CONDITION CODES
3511 011634 001401 BEQ 648
%g}% 011636 104001 ERROR 1 t;;tg;ts;t'tt-tTEST 41 ~ ERROR 1txstrrnaantennse
3514 *EXPECTED PSW 1S STORED Al “EXPPSW'
3515 ACTUAL PSW IS STORED AT '‘CCODES
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8:4 T41

CVkAlIB.P11 22-JAN-82 0 TEST ‘‘SKPC’’ WITH ZERO SOURCE LENGTH SEQ 0065

3516 011640 64$:

3517 011640 08370 000676 CMP a#SAVRG,SP ;VERIFY STACK POINTER IS RESTORED

3518 011644 00140 8EQ 65$ :BR IF 0K

3519 011646 010637 000700 MoV SP ,a#BADR6 JSTORE BAD SP VALUE

3520 011652 104002 ERROR ¢ sennnnnnnenneeneTEST 41 - ERROR Qteneeneenneeene
3521 ;STACK POINTER NOT RESTORED BY INSTRUCTION
3552 SEXPECTED VALUE OF SP 1S STORED AT ''SAVRG''
3523 :ERRONEOUS VALUE IS AT 'BADRéS'’

3524 011654 658:

3525 011656 105700 T1S18 RO :CHECK RO

3526 011656 001401 8EQ 1$

3557 011660 104003 ERROR 3 sannennnnnnanaaaTEST 41 - ERROR LIS IR I 2T
3528 RO CHANGED

3529 011662 026701 166760 18: cMP SRCAD ,R1 ;s CHECK R1

3530 011666 001401 BEQ 408

3531 011670 1064004 ERROR 4 seeennennnnnsaneTEST 41 =~ ERROR 4uansrennnnenene
3532 +R1 CHANGED

3533 011672 40$:

3534
Py

J
3537 AN RANR R ANAAARNRANARRRNRANARNRAREARRARRARAAARAARRARARRR AL

3538 J#TEST 42 TEST INTERRUPTABILITY OF '‘SKPC'' INSTRUCTION

3539 DINRNARARARANARARRARRA AR RRARRRERAAREAANANAANRARAAARAARAARRRANARA NN

3540 :%THIS TEST INTERRUPTS THE EXECUTION OF ‘'‘SKPC'’

3541 :«INSTRUCTION, RESUMES EXECUTION AFTER THE INTERRUPT,

3542 :*AND CHECKS THE RESULTS. RESULTS INDICATE THE NON-SKIP

3543 ; *CHARACTER FOUND

3544 INRARARNANRARAAAARNANAAAARANA AR NAAAAAANAAAAARRARAARRARAAR AR

48545 S NANANANANAAA AN AN AR RN AN NAANARANANANRAARARRIARNRARARENANRRN AL

3546 011672 000004 TS142: SCOPE

3547 011674 004767 002512 JSR PC,SKPINT :SET FLAG == TEMP, WHICH INDICATES IF
3548 NEXT TEST IS TO BE EXECTED NEXT,

3549 011700 005767 167000 TST TEMP :CHECK IF -TEMP- ]S SET

3550 011706 001135 BNE TST43 :TEMP IS SET, GO TO NEXT TEST

3551 011706 004567 002336 JSR R5 ,PREP :SET UP msrﬁucnon ARGUMENTS

3552 011712 000400 400 $SOURCE LENGTH

3553 011714 016710 BUF2 sSOURCE ADDRESS

3554 011716 177777 NXM :STORE NON-ZERO VALUES TO TEST R2 & R3
3555 011720 177777 NXM : UNAFFECTED BY DIS STRING INSTRUCTIONS
3556 011722 000377 377 SEARCH [MASK FOR SCANC/SPANC] CHARACTER
3557 011724 816700 166716 MOV SRCAD RO GENERATE SOURCE STRING OF ALL

3558 011730 16781 166710 MOV SRCLN,R1 ;SKIP CHARACTERS EXCEPT THE LAST BYTE
3559 0117;4 005301 DEC R1 :ADJUST BYTE COUNT=SRCLN-1

560 0117% 116720 166712 CONTG: MOVB FILL,(RO)+

3561 011742 005301 DEC R1

356§ 011744 081374 BNE CONTG

3563 011746 195020 CLRB (RO) + :PUT NON=-SKIP CHARACTER IN LAST BYTE

3566 011750 81 797 012034 166712 MOV #SKP,PC1 :STORE PC OF TEST INSTRUCTION

31565 011756 012777 014506 166700 MOV llNTﬁ.aTVECT :POINT TTY VECTOR TO INTERRUPT ROUTINE
3566 0117 88‘077 166676 CLR aTPSV :ALLOW INTERRUPTS AFTER TTY INTERRUPT
ng? 8117 0 767 002466 JSR PC,TDONE

568 0117724 013777 554 166660 MoV M‘WLL.&TBUF :SEND CARRIAGE RETURN

3569 012002 567 336 JSR RS, XPSW ;STORE EXPECTED PSW VALUE

3570 012006 0 .WORD 00

3571 012010 106427 000000 MTPS #0 ;SET PSW TO ALLOW INTERRUPTS
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012014 052777 000100 166636
012022 004767 002156 REPSKP:
015026 010637 000676

012032 000277

012036 076041 SKP:
0120%% 106767 166630

612042 032777 C00100 166610
012050 001364

012052 042767 177400 166612
012060 023767 000674 166604
012066 001401

012070 104001

012072 648:
01207 023706 000676

012076 001403

012100 010637 000700

012104 104002

012106 658:
012106 026704 166542

012112 001401

012114 104003

012116 026705 166534 668:
012122 001401

012124 104004

012126 678:
Q1212 016703 166514

012132 016702 166306

01213 121367 166512 68$:
g1g14 001003

12146 1057

012146 88530

12150 00137

12152 0202 698 :

12154 001401

12156 104005

015160 0301 708:
012162 001401

017164 104006

012166 718:
012166 106427 0002

03193 O1ers7 106990 166464

67

TEST INTERRUPTABILITY OF '‘SKPC'' INSTRUCTION

8IS
JSR
mov
SCC

SKP(

P
3EQ

ERROR

CMP
BEQ
ERROR
CMP

ERROR

MTPS
mov

B 6

#100,aTCSR
PC.GENR
SP.a#SAVRG

CCODES
#100,3TCSR
REPSKP
#177400,CCODES
22§XPPSU.CCODES

SASAVR6, SP
658
gP,iﬂBADR6

FILL R4
663
TABLE,R5
678

SRCAD,R3
SRCLN,R?
gRS) FILL

(R3)+
R2
75&

R3,R1
7 $

#200
TPSW,aTVECT

sENABLE TTY INTERRUPTS

:SET UP_GENERAL REGISTERS

;COPY STACK POINTER BEFORE INSTRUCTION EXECUTION
$SET ALL CONDITION CODES

;EXECUTE ‘‘SKPC"’

sCHECK RESULTS

sSTORE THE PSW

IF INTERRUPT ARE DISABLED, THE INSTRUCTION WAS NOT INTE
BR & DO TEST AGAIN, IF INSTRUCTION WAS NOT INTERRUPTED

CLEAR ALL UNUSED BITS

;CHECK PSW AGAINST EXPECTED VALUE

s8R, IF EQUAL

sennnnennnwa st TEST 42 = ERROR Teneennnnnnaeens

:PSW_ERROR N

:EXPECTED PSW IS STORED AY ‘EXPPSW

:ACTUAL PSW IS STORED AT °‘CCODES’

;sR{FYOETACK POINTER IS RESTGRED
sSTORE BAD SP VALUE

tttttttttttttttrfsr 42 = ERROR 2tutntnnnnennees
:STACK POINTER NOT RESTORED BY INSTRUCTION
;EXPECTED VALUE OF SP IS STORED AT °'SAVR6
;ERRONEOUS VALUE IS AT ‘BADRG'

s CHECK R4 UNCHANGED
;BR IF

tttttt?ﬁtttttttTEST 42 - ERROR 3ttttttttttttt.-
:R4 SHOULD STILL EQUAL CONTENTS OF LOCATION ‘FILL'
CHECK R5 UNCHANGED

tttttttttttttttTEST 42 = ERROR 4annnnnsantntnny

:R5 SHOULD STILL EQUAL CONTENTS OF LOCATION '‘TABLE'’
sSKIP '‘CHARACTER"

;POINT TO NEXT BYTE
DECREHENT BYTE COUNT
IF NOT FINISHED
CHECK RO=REMAINING SOURCE LENGTH

sunnnnnnnnnananaTEST 42 ~ ERROR Stnnneneenanseen

:SKIP LENGTH ERROR
; CHECK R1=ADDRESS OF CHARACTER

sennannnnnananaddTEST 42 = ERROR Grvonnnneennnnse

;SKIP ADDRESS ERROR

sRESTORE PSW TO PRIORITY 7
:RESTORE TRAP CATCHER

SEQ 0066
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CVKAIB.P 22-JAN-82 08:¢ T42 TEST INTERRUPTABILITY OF "'SKPC'' INSTRUCTION SEQ 0067

3628

':ttttt'ftttttttttttttttttt'tt'tt"tttttttttttt'tt'Qt"tt'tti.ttt

SeTEST &X TEST '*SCANC'® WITH A MEMBER CHARACTER IN SOURCE & SL .GT. O AT CHARACTER
L e e L L D TR LT T T

;*PROPER TCRMINATION OF TEST IS R1 EQUAL ADDRESS OF SOURCE

;*BYTE WHICH WMEN ANDED WITH MASK=1 RO EQUALS REMAINDER

;*OF SOURCE LENGTH, AND ALL CONDITION CODFES CLEAR.

;;Qtttt'tttQtt!ttt'.t'tttttttt'ttttttttt!tttt"'tttttttl"'tlttlt
R T2 3822223212382 2330232012380 0820033 0332322322202 00023 0222382202323 4]

130
KRS8

b4
SEIEH

01 %00 004 TST43: SCOPE
9 012202 567 002042 JSR RS .PREP JSET UP INSTRUCTION ARGUMENYJ
3640 81 206 000003 3 ;SOURCE LENGTH
3641 1 1g 016310 8UF1 ;SOURCE ADDRESS
g 81 1 1727777 NXM ;STORE NON-ZERQO VALUES TO TEST R2 & R3
12214 177777 NXM : UNAFFECTED 8Y DIS STRING INSTRUCTIONS
4 012216 02 2 ;SEARCH [MASK FOR SCANC/SPANC] (CHARACTER
§ (12220 012767 016310 166430 MOV #BUF1,TABLE
9 1 Zis 004567 002112 JSR RS ,XPSW JSTORE EXPECTED PSW VALUE
gﬁ 122 00200 LWORD 20
g 012234 04767 001744 JSR PC,GENR :SET UP GENERAL REGISTERS
3649 012240 016705 166412 MOV TABLE RS
3650 012244 000277 scC ;SET ALL CONDITION CODES
3651 sEXECUTE ''SCANC
365% 012246 076042 SCANC
ggs sCHECK RESULTS
S4& 012250 004767 002114 JSR PC,CKCC ;CHECK PSW, GENERATE CONDITION CODES
55 01225¢ 001401 BEQ 648
59 012256 104001 ERROR 1 sevnnnnennnsasstTEST 43 = ERROR T1evnneennaenneen
5 :PSW ERROR
&58 sEXPECTED PSW IS STORED AT 'EXPPSW'’
59 012260 648 :ACTUAL PSW IS STORED AT ''CCODES‘’
012260 023706 000676 CMP SNSAVRG, SP :VERIFY STACK POINTER IS RESTORED
012294 001403 BEQ 65% ;BR IF OK
0122 010637 000700 MoV SP,3#BADRS :STORE BAD SP VALUE
0122 104002 ERROR b sennnnnnannnse st TEST 43 = ERROR 2ttnnennntentnnen

sSTACK POINTER NOT RESTORED BY INSTRUCTION
SEXPECTED VALUE OF SF IS STORED AT ‘‘SAVR6'’
;ERRONEOUS VALUE IS AT ‘BADR6'’

EEREEEEEE

12274 65%:
-\.99 81%574 026704 166354 CMpP FILL,.R4 ;CHECK R4 UNCHANGED
0 012300 001401 B8EQ 66% :BR IF 0K
71 012302 104003 ERROR 3 canannsanansat e aTEST 43 - ERROR Jeenncasnennanes
3672 R4 SHOULD STILL EQUAL CONTENTS OF LOCATION °‘FILL'
3673 015304 026705 166346 66%: CMp TABLE RS JCHECK RS UNCHANGED
3674 012310 1401 8EQ 67% ;BR IF 0K
3675 012312 104004 ERROR 4 JannnnnnanaasttaTEST 43 ~ ERROR 4envennantennnns
3676 ;RS SHOULD STILL EQUAL CONTENTS OF LOCATION '‘TABLE''
3677 012314 67%:
3678 012314 016703 166326 ROV SRCAD .R3 ;POINT R3 TO SOURCE STRING
;g?? 012320 016702 166320 MOV SRCLN,R?2 ;STORE SOURCE LENGTH IN R2
01%3 6 111304 68S$: MovBe (R3) R4 ;USS SOURCE BYTE AS INDEX
3681 01 g 6 042704 177400 8IC 2177400 R4 JCLEAR ANY BYTE SIGN EXTENSION
3682 012332 136467 016310 166314 8118 BUF1(R45,F1LL ;AND’ TABLE ENTRY WITH MASK
1683 012340 001003 BNE 698
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VEKAIB.P11 ~JAN-82 08:4 TEST "'SCANC'' WITH A MEMBER CHARACTER IN SOURCE & SL .GTV. 0O AT CHARACTER SEQ 0068

3684 012342 105723 TST8B (R3)+ :POINT TO NEXT SOURCE BYTE

1685 012346 00530¢ DEC R2 ;DECREMENT BYTE COUNT

3686 015 6 001366 BNE 688 *BR, [F NOT FINISHED

3687 012350 880200 69%: CmpP R2 RO CHECK RO=REMAINING SOURCE LENGTH

3688 012352 001401 BEQ 708

1689 012354 104008 ERROR 5 sunnnnennseenansTEST 43 - ERROR Stennnnennnnnnne
3690 sSCAN LENGTH ERROR

3691 01%356 020301 708 : CHP R3 R1 JCHECK R1=ADDRESS OF CHARACTER

3692 012360 001401 BEQ 71§

3693 012362 104006 ERROR 6 sxnnnnannannnnttaTEST &3 = ERROR Qentrananenenenn
3694 :SCAN ADDRESS ERROR

3695 012364 718:

3696

o
34699 INRRARARARR AN NN AR RN AANERRAANAANENRANNANAARRANAA AR RANENS

3700 'T‘aT 44 TEST "'SCANC'® FAILS, ALL NON-MEMBER CHARACTERS IN STRING
3701 JANRRANEAAARRAANAANAAARANRANAENNAAAANARNRANAANARRRANANREANRNNANS

370 'THIS TEST VCRIFIES THAT *'SCANC'' INDICATES NO MEMBERS FOUND

37¢ 'RESULT 1S RO=0, R1 EQUALS THE ADDRESS+1 OF LSB IN SOURCE,

3704 tAND ALL CONDITION CODES CLEAR EXCEPT 2=1.

3705 R e e e L e N T L I L T L e e e e el

3706 tctu"nt"ntttt"cu"tn"u"ttnt"nnnnnunnqnnt

3707 012364 000004 'I’S T44: SCOPE

3708 012366 004567 001656 JSR RS ,PREP SET UP INSTRUCTIM ARGUMENTS

3709 812372 ooogoo 200 :SOURCE LENGTH

3710 012376 016310 BUF1 SOLRCE ADDRESS

3711 012376 177777 NXM STORE NON-ZERO VALUES TO TEST R2 & R3

3712 012400 177777 NXM : UNAFFECTED BY DIS STRING INSTRUCTIONS
n 012402 000000 0 SSEARCH [MASK FOR SCANC/SPANC] CHARACTER
3714 012404 012767 016310 166244 MoV #BUF1,TABLE
3715 0126412 567 001726 JSR RS  XPSW ;STORE EXPECTED PSW VALUE

3716 01 618 04 .WORD 204
3717 01%42 004767 001560 JSR GENR 3SET UP GENERAL REGISTERS

3718 012424 016705 166226 MOV tAéLe RS

3719 012430 000577 SCC sSET ALL CONDITION CODES, EXCEPT

g;g? 12432 000244 L2 SCLEAR 7' CONDITION CODE

gz’Zi 012434 076042 SCANC JEXECUTE ‘'SCANC'’

§7 4 :CHECK RESULTS

725 0124 004767 001726 JSR PC,CKCC JCHECK PSW, GENERATE CONDITION CODES

726 012442 001401 BEQ 648

727 0126444 104001 ERROR 1 Junnnnnteeat et dtTEST 44 = ERROR 1nnntnnnvinntnnn
3728 :PSW_ERROR ) ,

3 EXPECTED PSW IS_STORED AT "EXPPSW'

730 JACTUAL PSW IS STORED AT '‘CCODES’

3731 012446 64$:

3732 012446 023706 000676 CHP SNSAVRE, SP .VERIFY STACK POINTER ]IS RESTORED

3733 012452 00140 BEQ 65% ;BR IF OK

3734 012456 010637 000700 MoV SP ,3#BADR6 :STORE BAD SP VALUE

3735 012460 104002 ERROR 2 """"'"""TEST 44 = ERRDR 2¢tvtnnnnnenstner
3736 STACK POINTER NOT RESTORED BY INSTRUCTION
3737 EXPECTED VALUE OF SP IS STORED AT ‘'SAVRG''
3738 ERRMEOUS VALUE IS AT ‘BADRé

1719 012462 65%:
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CVKAIB.P1 22=-JAN-82 TEST ""SCANC'® FAILS, ALL NON-MEMBER (HARACTERS IN STRING SEQ 0069

3740 012462 026706 166166 (o, 4 FILL,R4 :CHeCK R4 UNCHANGED

37641 012466 1601 BEQ 663 ;BR IF 0K

74 012470 104003 ERROR 3 seveentecennaaaeTEST 44 -~ ERROR Jenenenanneneene
74 ;R4 SHOULD STILL EQUAL CONTENTS OF LOCATION ‘FILL®'
764 012472 026705 166160 66$: (¢, 4 TABLE RS JCHECK RS UNCHANGED

3745 012476 001401 BEQ 67% ;BR IF 0K

746 12500 104004 ERROR 4 sekenesaknnenenaTEST 44 = ERROR 4rrenenntantnene
747 :RS SHOULD STILL EQUAL CONTENTS OF LOCATION °'‘TABLE'’
3748 012503 67%:

3749 012502 016703 166140 MOV SRCAD ,R3 ;POINT R3 TO SOURCE STRING

750 01 SOS 016702 166132 mov SRCLN,R?2 ;STORE SOURCE LENGTH IN R2

751 01251 111304 68%: MOoVB (R3) R4 :USE SOURCE BYTE AS INDEX

3752 012514 042704 177400 B8IC #177400,R4 JCLEAR ANY BYTE SIGN EXTENSION

753 012520 136467 016310 166126 8118 BUF1(R45.FILL :"'AND’’ TABLE ENTRY WITH MASK

754 0125%8 001003 BNE 693

3755 0125 105723 TST8 (R3)+ :POINT TO NEXT SOURCE BYTE

3756 012532 005302 DEC R2 :DECREMENT BYTE COUNT

3757 012534 001366 BNE 68$ :BR, IF NOT FINISHED

3758 012536 020200 69$: CMP R2 RO :CHECK RO=REMAINING SOURCE LENGTH

3759 012540 001401 BEQ 70§
3760 012542 104005 ERROR 5 sannnnananaantasTEST 44 - ERROR Stneenneeneenter
3761 ;SCAN LENGTH ERROR

3762 012546 020301 70$: cMp R3 . R1 ;CHECK R1=ADDRESS OF CHARACTER

3763 012546 001401 BEQ 71$

3764 012550 154006 ERROR 6 sennnnnnnnenaatasTEST 46 ~ ERROR Onenntnenntennes
3765 +SCAN ADDRESS ERROR

3766 012552 718:
3767
3769
3770 IINRARARARARARREARRNANERANAARANANANAARANAARRRARAARARARNR RN ON RN

3771 ;*TEST 45 TEST INTERRUPTABILITY OF ‘'SCANC''

3772 : INAANARAAANRRAARRRRARNAAARANANNAAAAAAAAANRAANREANRRAANRANARR NN

3773 s*THIS TEST INTERRUPTS THE ''SCANC'' INSTRUCTION, RESUMES

3774 :«EXECUTJON AFTER THE INTERRUPT, AND CHECKS RESULTS.

3775 s*RESULTS ARE RO=0, R1 EQUALS ADDRESS+1 OF LSB IN SOURCE,

3776 S~AND ALL CONDITION CODES CLEAR EXCEPT 2=1.

777 JIRAAARRAARANANCANARRARARANARRANANRNAAAAREARANARARAARRRRRAARARA AR

17/8 IIARARARRRRARAA AR AANEANNANEARRRANANAAAENARERERAARANANRANARRAAARAR

3779 012552 000004 TST45: SCOPE

3780 012554 004767 001632 JSR PC,.SKPINT :SET FLAG == TEMP, WHICH INDJCATES IF

3781 JNEXT TEST IS TO 8 EXECTED NEXT.

3782 012560 005767 166120 TST TEMP ;CHECK IF -TEMP- IS SET

3783 012564 001135 BNE TST46 :TEMP IS SET, GO TO NEXT TEST

3784 012566 004567 001456 JSR RS ,PREP ;SET UP INSTRUCTION ARGUMENTS

3785 012572 000400 400 *SOURCE LENGTH

786 012574 016310 BUF1 :SOURCE ADDRESS

3787 012576 177777 NXM :STORE NON-ZERO VALUES TO TEST R2 § R3

3788 012600 177777 NXM : UNAFFECTED BY DIS STRING INSTRUCTIONS

5789 012602 000 0 :SEARCH [MASK FOR SCANC/SPANC] CHARACTER

31790 012604 012767 016310 1660644 MoV #BUF 1, TABLE

1791 012612 012767 012704 166050 MOV #SCN,PC] :STORE PC OF TEST INSTRUCTION

3792 012620 012777 014506 166036 MOV #INTR,STVECT ;POINT TTY VECTOR TO INTERRUPT ROUTINE

3793 012626 005077 166034 CLR aTPSW :ALLOW INTERRUPTS AFTER TTY INTERRUPT

3796 012632 004767 001624 JSR PC, TDONE

3795 012636 013777 000554 166016 MOV BIQNULL,BTBUF :SEND CARRIAGE RETURN
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C(VKAIB.P11 22-JAN-82 TEST INTERRUPTABILITY OF '‘SCANC'’ SEQ 0070
3796 012646 567 001474 JSR RS . XPSW :STORE EXPECTED PSW VALUE
3797 01265 MWORD 04
798 01 62 1 ;7 MTPS #0 ;SET PSW TO ALLOW INTERRUPTS
0126 052777 100 165774 BIS #100,8TCSR ENABLE TTY INTERRUPTS
0 6?4 004767 1314 REPSCN: JSR PC.6 GENR SET UP GENERAL REGISTERS
012670 010637 76 MoV SP ,a#SAVRO :COPY STACK POINTER BEFORE INSTRUCTION EXECUTION
g 12676 016705 165756 mov TABLE RS N
0127 44 L2 CLEAR ''7'° CONDITION CODE
012702 000267 +SEV!SEZ!SEC SET ALL OTHER CONDITION CODES
3807 012704 076042 SCN: SCANC :EXECUTE °''SCANC''
3808 JCHECK RESULTS
01?703 106767 165760 MFPS CCODES STORE THE PSW
10 01271 032777 000100 165740 B8IT #100,8TCSR IF INTERRUPT ARE DISABLED, THE INSTRUCTION WAS NOT INTE
3811 012720 001361 BNE REPSCN BR £ DO TEST AGAIN, IF INSTRUCTIW WAS NOT INTERRUPTED
1812 01%722 042767 177400 165742 BIC #177400,CCODES CLEAR ALL UNUSED BITS
3813 012730 023767 000674 165735+ [, SNEXPPSW,CCODES ; *CHECK PSW AGAINST EXPECTED VALUE
3814 012736 001401 BEQ 648 BR IF EQUAL
381S 012740 104001 ERROR 1 tnnttttttttttTEST 45 - ERROR 1ttntsussnssnnsne
3816 PSU ERROR
3817 EXPECTED PSW IS STORED AT "EXPPS.U“
3818 ACTUAL PSW IS STORED AT '‘CCODES’
3819 (012742 648%:
3820 012742 023706 000676 CMpP a#3AVRG, SP :VERIFY STACK POINTER IS RESTORED
3821 012746 001403 BEQ 659 BR IF 0K
3822 012750 010637 000700 MoV SP ,a#BADRS :STORE BAD SP VALUE
3823 (12754 104002 ERROR 2 sunnesennnnnasaaTEST 45 - ERROR 2etennntenananee
3824 STACK POINTER NOT RESTORED 8Y INSTRUCTIO{J
3825 EXPECTED VALUE OF SP l§ STORED AT "'SAVRG''
1826 ERRONEOUS VALUE IS AT 'BADR6"’
3827 012756 65$:
3828 012756 026704 165672 P FILL.R4 :CHECK R4 UNCHANGED
3829 012762 001401 BEQ 66$ BR IF 0K
3830 012764 104003 ERROR 3 -tttttttnnttnTEST 45 - ERROR 3ttttttttttttttt
3831 ;R4 SHOULD STILL EQUAL CONTENTS OF LOCATION ‘FILL'
3832 012766 026705 165664 66%: cmpP TABLE ,RS CHECK RS UNCHANGED
3833 012772 001401 BEQ 67% BR IF 0K
38346 012776 1064004 ERROR 4 sunnnnnnnnnanansEST 4S5 - ERROR ‘ttttttttttttttt
3835 RS SHOULD STILL EQUAL CONTENTS OF LOCATION ‘‘TABLE''
3836 012776 678:
3837 012776 016703 165644 MoV SRCAD ,R3 ;POINT R3 TO SOURCE STRING
3838 013002 016702 165636 MoV SRCLN R2 *STORE SOURCE LENGTH IN R2
3839 013008 111;04 68s$: Move ; USE SOURCE BYTE AS INDEX
3840 81301 042704 177400 B8IC ” 7100 R4 ;CLEAR ANY BYTE SIGN EXTENSION
3841 13014 136467 016310 165632 BITB BUF 1(R45 FILL "AND“ TABLE ENTRY WITH MASK
384% 013022 001003 BNE 69%
384 01_%824 105723 TSTB (R3)+ ;POINT TO NEXT SOURCE BYTE
3844 8. 6 005302 DEC R2 DECREHENT BYTE COUNT
3845 0130 021366 BNE 68$ NOT FINISHKED
%6 013032 020200 69%: cMP Rg RO CHECK RO=REMAINING SOURCE LENGTH
7 013036 001401 BEQ 708
8 013036 104005 ERROR sanennnnnnsannaaTEST 45 = ERROR Seennnnsenenetnex
9 SCAN LENGTH ERROR
SO0 013040 850301 70$: (¥, 4 R3R1 CHECK R1=ADDRESS OF CHARACTER
51 013042 001401 BEQ 71$
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P11 22~JAN-82 08:4 145 TEST INTERRUPTABILITY OF “‘SCANC*’ SEQ 0071
013044 104006 ERROR 6 ttltt.t.tlt'ltlTEST 45 = ERROR fteesetaecennene
SCAN ADDRESS ERROR
013046 718:
013046 1 4;7 000200 408 : MTPS #200 :RESTORE PSW TO PRIORITY 7
013052 016777 165610 165604 MoV TPSW,8TVECT RESTORE TRAP CATCHER
R L L L L el it iiinbiiubinbdeiiaibivbirbiniabinhd
-rssr 46 TEST *'SPANC'® WITH NON-MEMBER CHARACTER IN SOURCE, SL .GT. O AT CHARACTER
B L L L L L L L it duidbint ittt tukiviiobininidibt L
-;uxs TEST VERIFIES THAT '‘SPANC’' INDICATES A NON-MEMBER
SeTHE RESULT IS R1 EQUALS ADDRESS OF NON-MEMBER CHARACTER, RO
:*EQUALS THE REMAINING SOURCE LENGTH, AND ALL
-couomou CODES CLEAR.
IR AN NN AN ER AR AN AR AR RN A RN NN O RA R NANEANAANNANC ARG CRAY
AN AN AR E NN ENE AR EN AR R ENEANEERARNER A RENRARNERRRAE AN
013060 000004 isns SCOPE
013062 004567 001162 JSR RS .PREP 2SET UP INSTRUCTION ARGUMENTS
013066 020 20 JSOURCE LENGTH
013070 016310 BUF1 *SOURCE ADDRESS
013072 177777 NXM :STORE NON=ZERO VALUES TO TEST R2 & R3
013076 177777 NXM : UNAFFECTED BY DIS STRING INSTRUCTIONS
013076 7 7 :SEARCH [MASK FOR SCANC/SPANC] CHARACTER
013100 012767 016310 165550 MOV #BUF 1, TABLE
013106 004567 001232 JSR RS  XPSW ;STORE EXPECTED PSW VALUE
013112 000200 .WORD 200
013114 004767 001064 JSR PC,GENR :SET UP GENERAL REGISTERS
013120 016705 165532 MOV  TABLE.RS L
013124 000244 L2 CLEAR “7'° CONDITION CODE
013126 000267 +SEV!SEZ!SEC SET ALL OTHER CONDITI(N CODES
EXECUTE **SPANC’’
013130 076043 SPANC
;CHECK RESULTS
013132 004767 001232 JSR PC,CKCC CHECK PSW, GENERATE CONDITION CODES
013136 001401 B8EQ 648
013140 104001 ERROR snennnnnsnncanetTEST 46 - ERROR 1aaneunennennnee
-PS ERROR
sEXPECTED PSW IS STORED AT "EXPPSH“
01314 64$ ACTUAI. PSW IS STORED AT '‘CCODES’’
01314% 023706 000676 (o, o SNSAVRG,SP :VERIFY STACK POINTER IS RESTORED
013146 001403 B8EQ 658 :BR IF OK
01;150 010637 000700 MOV SP,3#BADR6 $STORE BAD SP VALUE
013154 104002 ERROR b tttﬁtttttttttttTEST 46 = ERROR 2t¢tatasnnnnnnees
STACK POINTER NOT RESTORED BY INSTRUCTION
EXPECTED VALUE OF SP IS STORED AT °'SAVR6''
ERRONEOUS VALUE IS AT ‘BADRG
013156 65%:
01%156 026704 165472 cMP FILL,RS :CHECK R4 UNCHANGED
013162 001401 BEQ 66 :BR IF OK
013164 104003 ERROR ceneannnanenesxeTEST 46 - ERROR 3-.----.------..
Rl- SHOULD STILL EQUAL CONTENTS OF LOCATION ‘FILL"
013166 026705 165464 66$: cMpP TABLE RS CHECK RS UNCHANGED
013172 0014601 BEQ 67% .BR IF
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(VKAIB.P11  22-JAN-82 08:4 T46  TEST "SPAMC'* WITH NON-MEMBER CHARACTER IN SOURCE, SL .GT. O AT CHARACTER  SEQ 0072

31908 013176 104004 ERROR 4 centnnnanenttataTEST 46 = ERROR {oavvvnneneennnnn
%3?8 013176 678 “RS SHCULD STILL EQUAL CONTENTS OF LOCATION °‘TABLE''
3911 013176 016703 165644 MOV SRCAD ,R3 ;POINT R3 TO SOURCE STRI

391 013202 016702 165436 MoV SRCLN,R?2 ;STORE SOURCE LENGTH IN R

391 0 %08 111304 68%: MOvB (R3) R4 USE SOURCE BYTE AS INDEX

31914 01321 042704 177400 8Ir #177400, R4 sCLEAR ANY BYTE SIGN EXTENSION

915 013214 136467 016310 165632 8IT8 BUF‘I(R‘.’ FILL  :"AND'' TABLE ENTRY WITH MASK

916 013222 00140; BEQ 693

3917 013224 10572 TST8B (R3)+ :POINT TO NEXT SOURCE BYTE

918 01 gg 005302 DEC R2 DECREHENT BYTE COUNT

919 01 001388 BNE 683 IF NOT FINISHED

3920 013232 0202 69%: (], 4 R2,RO CHEC RO=REMAINING SOURCE LENGTH

3921 013234 16401 BEQ 708

92 013236 104005 ERROR 5 seneannnnnaeatttTEST 46 - ERROR Snretnecnnnneeee
92 ;SPAN LENGTH ERROR

3924 0132640 020301 708 : (mp R3,.R1 JCHECK R1=ADDRESS OF CHARACTER

3925 013242 001401 BEQ 1i

3926 013244 104006 ERROR sxnteannewntaneeTEST 46 = ERROR Gretncnencennnen
3927 :SPAN ADDRESS ERROR

3928 013246 718:

3929
3035
3932 P Ll L L L i i biiiininiainiiiairiebittoie

1933 'TEST &7 TEST °'SPANC'' FAILS ONLY MEMBER CMARACTERS IN SOURCE

1934, R T e e L L L g T e e e e L o

3935 ;*PROPER TERMINATION OF THIS TEST IS R0=0, R1 EQUALS

3936 'ADDRESSH OF LSB OF SOURCE, AND ALL C“ITIW CODES

3937 'CLEAR EXCEPT I=1

3938 Rt T e e T T e L L e T L

5439 AR AN AR AR LA RN ERERC AR ERRREARERAREREARANARRANAR RS

3040 013246 000004 ?sr47 SCOPE

3041 013250 004567 000774 JSR RS ,PREP :SET UP INSTRUCTION ARGUMENTS

3042 013254 000100 100 :SOURCE LENGTH

30,3 013256 016310 BUF1 .SOU!CE ADDRESS

3964 013260 177777 NXM :STORE NON-ZERO VALUES TO TEST R2 & R3
3945 013262 177777 NXM : UNAFFECTED BY DIS STRING INSTRUCTIONS
3946 013264 000377 377 ;SEARCH [MASK FOR SCANC/SPANC] CHARACTER
3947 013266 012767 016310 165362 MOV #BUF 1, TABLE

3948 013%74 004567 001044 JSR RS XNPSW :STORE EXPECTED PSW VALUE

3949 013300 000204 .WORD 204

3950 013302 004767 000676 JSR PC.GENR JSET UP GENERAL REGISTERS

951 013396 016705 165344 MOV TABLE RS roors

952 01 g‘l? 000244 Lz sCLEAR *'7'° CONDITION CODE

953 013314 000267 +SEV!SE2!SEC SET ALL pTHER CONDITION CODES

954 EXECUTE ‘SPANC’'

955 013316 076043 SPANC

95 sCHECK RESULTS

95 13320 004767 001044 JSR PC.CKCC CHECK PSYW, GENERATE CONDITION CODES

958 013324 001401 BEQ 648

‘9)23 013326 104001 ERROR 1 tttttttttttttn‘[fs‘l’ 47 = ERROR 1ttanrsennsennnnye

:PSW ERROR
961 EXPECTED PSW 1S STORED A;l'. "EXPP.S.U"
96 ACTUAL PSW IS STORED AT ‘°CCODES

31963 013330 648:
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165244

165206
165124

1 6
TEST '"SPANC'' FaILS ONLY MEMBER CHARACTERS IN SOURCE
cMP NgAVRb.SP VERIFYQS(TACK POINTER 1S RESTORED

BEC 65 ;87 If
oV SP,@/BADR6 :STORE BAD SP VALUE
ERROR P tt.ttttttttttttTEST 47 - ERROR 2tttssnstenennes

:STACK _POINTER NOT RESTORED BY INSTRUCT ION
;EXPECTED VALUE OF SP IS STORED AT ''SAVR6'

;ERRONEOUS VALUE IS AT "BADRG™’

SEQ 0073

658%:

(mp FILL, R4 :CHECK R& UNCMANGED

BEQ 663 .BR IF 0K

ERROR 3 sennnnnnttnntaas[EST 47 - ERROR 3tnn"n"nn

R4 SHOULD STILL EQUAL CONTENTS OF LOCATION ‘FILL®'

66%: (4, 4 TABLE RS CHECK RS UNCHANGED

8EQ 67% .BR IF 0K

ERROR 4 ttttttttattttttTEST 47 = ERROR 4{trannannntantne
678 RS SHOULD STILL EOQUAL CONTENTS OF LOCATION ‘‘TABLE'’

MoV SRCAD ,R3

sPOINT R3 TO SOURCE STRING
MoV SRCLN RZ

*STORE SOURCE LENGTH IN R2
688:  MOVB “USE SOURCE BYTE AS INDEX

BIC n moo R4 sCLEAR ANY BYTE SIGN EXTENSION
8118 23;1 (RGS,FILL  :"AND'* TABLE ENTRY WITH MASK

T1ST8 (R3)+ sPOINT TO NEXT SOURCE BYTE
DEC R2 DECRE?ENT BYTE COUNT
eNE 68$ IF NOT FINISHED
€98: 8’2’; "5;“ cuécx RO=REMAINING SOURCE LENGTH
ERROR tttttttttttttttTEST 47 - ERROR Steatsasennnnnnen
SPAN LENGTH ERROR
708 : g:: ;%s‘m CHECK R1=ADDRESS OF CHARACTER
ERROR 6 saneneenennneneeTEST 47 = ERROR 6t enanantatanewy

*SPAN ADDRESS ERROR
718:

'tttttttttttttttttttttttttttttttttttttttlt..tl.ttt'ttttt.t.tt.t

-resr 50 TEST INTERRUPTABILITY OF ‘‘SPANC''
tt!t!ttttttttttttttttttittttttttttttttttttt!ttttttttttttttttitt
%THIS TEST INTERRUPTS TME *'SPANC'* INSTRUCTION, RESUMES
L«EXECUTION AFTER THE INTERRUPT, AND CHECKS RESULTS.

S*RESULTS ARE R1 eoms ADDRESS 'OF FIRST BYTE WHICH

TeWHEN ANDED WITH MASK=0, RO EQUALS REMAINDING SOURCE

t«LENGTH, AND ALL CONDITION CODES CLEAR

. tttttQttttttttttttttttttttttttttttttttttttttttttttt.ttttt.ttttt
t'tttttttltttttttttttttttttttttttttttttlttttttttttttttt.tttttt.
isrso SCOPE
TST8  aswR sTEST BIT 7 OF SWR
amI SEOP *SKIP TO NEXT TEST IF
P srps rcsa

BNE SPC . IF NOT & PERFORM INTERRUPTABILITY TEST
BIT J'BITO SENV .IF YES, CHECK IF ON APT

BEQ SPCCONT sBR _IF NOT UNDER APT, AND DO THIS TEST

TST $PASS sCHECK IF ON FIRST PASS

SET
IS SLU USED FOR INTERRUPTS THE CONSOLE?

m>>>>>>>>>>>>>>>>>>>>>zzpzz:»zzzzzzzzzzzzzzzzzzzz>>):

m
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CVKAIB.PTT  22-JAN-82 os TEST INTERRUPTABILITY OF '‘SPANC''
4020 013470 001134 BNE $EOP
4021 013472 SPCCONT:
4022 013472 07567 000552 JSR RS ,PREP
4023 013476 000400 400
4026 013500 916310 BUF 1
4025 013502 177777 NXM
4026 013504 177777 NXM
“037 013506 177 177
4028 013510 012767 013310 165140 MOV #BUF 1, TABLE
4029 013516 012767 013606 165144 MOV #SPN,PC]
& o1§s§4 012777 014506 165132 MOV SINTR,QTVECT
4031 013532 005077 165130 CLR aTPSu
4032 013536 004767 000720 JSR PC, TDONE
4033 013542 013777 000554 165112 MOV ar$NULL . RTBUF
403% 013550 004567 000570 JSR RS, XPSW
4035 013554 000000 .WOR oo
4036 013556 106427 000000 MTPS
4037 013562 052777 000100 165070 BIS o1oo.arcsa
4038 013570 004767 000410 REPSPN: JSR PC,GENR
4039 013574 010637 000676 MOV SP. a¥SAVR6
4040 013600 016705 165052 MOV TABLE.R
2325 013604 000277 scC
5043 013606 076043 SPN:  SPANC
4044
4045
4046 013610 106767 165056 MFPS
4047 013614 032777 000100 165036 8IT o1oo arcsa
4048 013622 001362 BNE PSPN
4049 013624 042767 177400 165040 8IC :177400 CCODES
4050 013632 023767 000674 165032 P MEXPPSW, CCODES :
4051 013640 001401 BEQ 648
4052 (13642 104001 ERROR
4053
4054
4055
4056 013644 648 :
4057 013644 023706 000676 P MFSAVR6, SP
4058 013650 001403 BEQ 65
4059 013652 010637 000700 SP, a#BADR6
4060 013656 104002 ERROR 2
4061
4062
4063
4064 013660 658:
4065 013660 026706 164770 cMP FILL,RS
4066 013664 001401 BEQ 66$
2825 013666 104003 ERROR
4069 013670 026705 164762 668: (WP TABLE ,RS
4070 013674 001401 BEQ 678
178;} 013676 104004 ERROR
4073 013700 678:
4674 013700 016703 164742 MOV SRCAD,R3
4075 013704 016702 164734 MOV SRCLN.R2

sIF NOT ON FIRST PASS, BR L SKIP THIS TEST
sSET UP INSTRUCTION ARGUMENTS

;SOURCE LENGTH
+SOURCE ADDRESS
:DESTINATION LENGTH
:DESTINATION ADDRESS
;FILL CHARACTER

sSTORE PC OF TEST INSTRUCTION
:POINT TTY VECTOR TO 'NTERRUPT ROUTINE
;ALLOW INTERRUPTS AFTER TTY INTERRUPY

sSEND CARRIAGE RETURN
;STORE EXPECTED PSW VALUE

sSET PSW TO ALLOW INIERRUPTS

:ENABLE TTY INTERRUPTS

;SET UP_GENERAL REGISTERS

:COPY STACK POINTER BEFORE INSTRUCTION EXECUTION

sSET ALL CONDITION CODES
;EXECUTE °'SPANC"'

s CHECK RESULTS

:STORE THE P

.IF INTEWT ARE DISABLED, THE INSTRUCTION WAS NOT INTE
BR & DO TEST AGAIN, IF INSTRUCTION WAS NOT INTERRUPTED

CLEAR ALL UNUSED BITS

CHECKFPSU AGAINST EXPECTED VALUE

l [ 4

QUAL
sxnnnnnnnnnnneaneTEST S50 - ERROR 1rwssasnsntnsnny
-PSH ERROR
JEXPECTED PSW IS STORED AT "EXPPSU"
ACTUAL PSW ]S STORED AT ''CCODES’’

;VERIFY STACK POINTER IS RESTORED
s8R IF 0K
sSTORE BAD SP VAL

ALUE
ttttttlttttttttTEST 50 = ERROR 2ttrrannnnnnanen
STACK POINTER NOT RESTORED BY INSTRUCTION
EXPECTED VALUE OF SP IS STOR;D AT '‘SAVRG'’
ERRONEOUS VALUE IS AT ‘BADRé6

sCHECK R4 UNCHANGED
;BR IF

suannnnsannnnnasssTEST S0 - ERROR 3annennananenene

iRG S D STILL EQUAL CONTENTS OF LOCATION 'FILL™
ggﬂli g& UNCHANGED

sanannnnany asaesTEST 50 = ERROR 4envannennnnnnns

:RS SHOULD STILL EQUAL CONTENTS OF LOCATION °'‘TABLE'

;POINT R3 TO SOURCE STRING
:STORE SOURCE LENGTH IN R2

SEQ 0074

A
POPDTDDODDDDDDODDDDD D@

@




MACY1T 30(1046)

AN,
CVKAIB.P11
4076 013710
4077 013712
«078 013716
4079 013724
<080 013726
4081 013730
4082 013732
4083 013734
4084 013736
4085 013740
4086

4087 013742
4088 013744
4089 013746
4090

4091 013750
4092

4093 013750
409% 013754
4095

4096

4097

4098

4099

4100

4101

4102

4103 013762
4104 013762
4105 013764
4106 013770
4107 013774
4108 014002
4109 014004
4110 014006
4111 014010
4112 014012
41135 014014
4114 01406
4115 014022
4116 014026
4117 014030
4118 014032
4119 014036
4120

4121 014040
4122 014040
4123 014044
4124 014046
4125 014050
4126 014052
4127 014054
4128 014056
4129 014060
4130 014060
4131 014062

22-JAN-82 (08:64 PAGE
150

22-JAN-82 08:43

000004

000426

013700

40
000240

104400
042716

177400
016310

000200
164706

014040

000042

000020

164730

164702

164572

68$%:

76

K 6

TEST INTERRUPTABILITY OF ‘'SPANC''

mov8

(R3) .R4

sUSE SOURCE BYTE AS INDEX

BIC 0177100 R4 :CLEAR ANY BYTE SIGN EXTENSION
gé;B 28;1(R45 JFILL '%ND" TABLE ENTRY WITH MASK
TST8 (R3)+ :POINT TO NEXT SOURCE BYTE
DEC RZ DECREHENT BYTE COUNT
BNE 68% BR. 1F NOT FINISHED
69%: ggg ;zino :CHECK RO=REMAINING SOURCE LENGTH
ERROR sennennnananasesesTEST SO - ERROR Steveseneneeves:
:SPAN LENGTH ERROR
708: ggz ;3‘R1 CHECK R1=ADDRESS OF CHARACTER
ERROR é seennnnnnnaneesTEST S50 = ERROR Ortnnetancececnsne
SPAN ADDRESS ERROR
718:
408: MIPS #200 JRESTORE PSW TO PRIORITY 7
MOV TPSW,@TVECT RESTORE TRAP CATCHER
.SBTTL END OF PASS ROUTINE
O T X T L L e LA T e e T I L
'INCREHENT THE PASS NUMBER (SPASS)
'IF SW12=1 INHIBIT TRACE TRAP
'IF THERES A MONITOR GO TO IT
'IF THERE ISN'T JUMP TO BEGIN
$SEQOP:
SCOPE
CLR STSTNM ::1ERO THE TEST NUMBER
INC $SPASS .,INCREHENT THE PASS NUMBER
8IC #100000,$PASS ..DON T ALLOW A NEG. NUMBER
DEC (PC)+ J:L00P?
$EOPCT: .WORD
86T $DOAGN ;:YES
MoV (PC)+,3(PC)+ 2 ;RESTORE COUNTER
SENDCT: .WORD 1
$EOPCT ,
TYPE, ENDMSG ;TYPE "END PASS'’
$GET42: MOV 62 RO ..GET HONITOR ADDRESS
BEQ $DOAGN :BRANCH IF NO { QDNITOR
CLR =(SP) ,,INSURE THE *°T'* BIT IS CLEAR
MOV #SCLR.T,~(SP) ;SETUP FOR AN RTI OR RTT
BR SRTRN .,GO DO AN RTI OR RLT TO LOAD THE PSW
$CLR.T ::WITH A CLEARED ‘°T*' BIT
MoV a6, RO ;2 INSURE RO CONTAINS THE MONITORS
8EQ $DOA ::RETURN ADDRESS
RESET 2:CLEAR THE WORLD
SENDAD: JSR PC, (RO) ..GO 70 MONITOR
NOP AVE ROOM
NOP :;FOR
NOP JsACTN
$DOAGN:
TRAP ;:PUSH OLD P§U AND PC ON STACK
8IC #20, (SP) ;:CLEAR THE '‘T'* BIT

SEQ 0075

[T~

R EBEBEBMCM M it YO
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CVKAIB.PW1 22-JAN-82 08:43 END OF PASS ROUTINE SEQ 00’6

4132 014066 032777 010000 164444 BIT MBIT12,3SWR ::RUN WITH TRACE TRAP?

6133 014074 001005 BNE 1% .:8R IF NO

613 014076 005167 000020 CoM $1BIT 2218 1T TIME FOR TRACE TRAP

6135 014102 100402 B8M] 18 ..BR 1F NO

6136 014104 052716 000020 B8lS #20, (SP) :SET TRACE TRAP

4137 01.110 012746 014116 1%: MoV #$LO0P,-(SP) ..JW TO START OF TEST

4138 014114 000002 SRTRN: RTI] ..RETURN°'-THIS. IS F‘HANGED TO

4139 'RIT" IF RTT'" IS A LEGAL

6140 ..INSTRUC'ION

4161 014116 SLOOP:

4142 0146116 000137 JMP 8(PC)+ 2 sRETURN

4143 014120 001330 SRINAD: .WORD  BEGIN L

6144 014122 000000 $T8IT: ,WORD 0 22T BIT STATE INDICATOR

6145 014124 377 377 000 SENULL: .BYTE ~-1,-1,0 ssNULL CHARACTER STRING

4146 014130 .EVEN

4147 014130 005015 047105 020104 ENDMSG: .ASCIZ <15><12>/END PASS/

4148 014136 040520 051523 000

4149 014144 .EVEN

3

152 :ROUTINE TO REPORT UNEXPECTED TRAPS TO LOCATION 0

4153 014144 011637 000702 TZERO: MOV (SP) ,840LDPC :GET PC+2 WHERE UNEXPECTED TRAP OCCURRED

6154 014150 104200 ERROR 200 sasnnsnanasas vt sERROR 200 % eansnnannnanss

4155 WEXPECTED TRAP TO LOCATION 0

4156 ;'OLDPC'® CONTAINS THE PC+2 OF THE TRAP OCCURRENCE
2}2; 014152 000000 HALT PROGRM MUST BE RESTARTED AT THIS POINT

4159 :ROUTINE TO REPORY WEXPECTED TRAPS TO LOCATION &

41606 014154 011637 000702 TIMTRP: MOV (SP) ,3#40LDPC JGET PC+2 WHERE UNEXPECTED TIMEOUT TRAP OCCURRED
4161 014160 104204 ERROR 204 tnnnnnnnERRm 204 nnnannnnnnnnnnn

4162 WEXPE.CTED TRAP TO LOCATION &

4163 2"OLDPC'* CONTAINS THE PC+2 OF THE TRAP OCCURRENCE
2}2;. 014162 000000 HALT P OGRAM MUST BE RESTARTED AT THIS POINT

4166 :ROUTINE TO REPORTY UNEXPECTED TRAPS TO LOCATION 10

4167 014164 011637 000702 ILLTRP: MOV (SP) ,8#0LDPC :GET PC+2 WHERE UNEXPECTED ILLEGAL INSTRUCTION TRAP OCCU
4168 014170 104210 ERROR 210 tttnntnntnﬂmm 210aresannakannnnn

4169 WEXPEC.TED TRAP TO LOCATION 10

4170 :"OLDPC’' CONTAINS THE PC+2 OF THE TRAP OCCURRENCE
2};} 014172 000000 HALT PROGRM MUST BE RESTARTED AT THIS POINT

6173 :ROUTINE TO REPORT UNEXPECTED TRAPS TO LOCATION 20

4174 014174 011637 000702 IOTTRP: MOV (SP) ,3#0LDPC GET PC+2 WHERE UNEXPECTED IOT INSTRUCTION TRAP OCCURRED
4175 014200 104220 ERROR 220 '"*t"““"t"ERROR 220t vantanannnnnnn

4176 ’WEXPECTED TRAP TO LOCATION 20

L77 OLDPC'' CONTAINS THE PC+2 OF THE TRAP OCCURRENCE
2};8 014202 000000 HALT *PROGRAM HJST BE RESTARTED AT THIS POINT

4180

4181 :SUBROUTINE TO SETUP GENERAL REGISTERS FOR lNSTRUCTlON EXECUTION

418; 0146204 016700 164434 GENR: MOV SRCLN,RO ;STORE SOURCE LENGTH

4183 014210 816701 164432 Mov SRCAD, "R1 *STORE SOURCE ADDRESS

4186 0162146 016702 164430 MOV DSTLN,R?2 STORE DESTINATION LENGTH

4185 816 SO 81670 164426 MoV DSTAD ,R3 STORE DESTINATION ADDRESS

4186 0146224 016704 164424 MoV FILL, R4 STORE FILL CHARACTER

4187 014230 016705 164422 MOV TABLE RS H

zzz

VOO O
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(VKAIB.PI 22-JAN-B2 08:43 END OF PASS ROUTINE SEQ 0077
4188 014234 010637 000676 MOV SP,@#SAVRO ;COPY STACK POINTER BEFORE INSTRUCTION EXECUTION
4189 014240 062737 000002 000676 ADD #2 ,8/SAVR6 SADJUST SAVED SP BECAUSE OF JSR TO THIS ROUTINE
2;3? 014246 000207 RTS PC
6192 ;SUBROUTINE TO PREPARE INSTRUCTION PARAMETERS
4193 014250 012567 164370 PREP: MOV (R5)+,SRCLN sSET SOURCE LENGTH
4194 014254 012567 164366 MOV (RS)*.SRCAD :SET SOURCE ADDRESS
4195 014560 012567 164364 MoV (R5)+,DSTLN :SET DESTINATION LENGTH
6196 014264 012567 164362 MOV (R5)+,DSTAD :SET DES.INATION ADDRESS
6197 014270 012567 164360 MoV (R5)+,FILL SSET FILL CHARACTER
4198 014274 000205 RTS RS ;RETURN
s
4201 ;SUBROUTINE TO CLEAR DESTINATION & BOUNDARY BYTES
4202 014276 016700 164350 CLDST: MOV DSTAD RO ;POINT RO TO DESTINATION AREA
4203 014302 005300 DEC RO :CLEAR LOWER BOUNDARY BYTE OF DEST
4206 014304 105020 CLRB (RO) +
4205 0164306 016701 164336 MOV DSTLN,R1 sSTORE DEST. BYTE COUNT IN R1
4206 014312 105020 CONTCL: CLRB (RO)+ :CLEAR DESTINATION
4207 014314 005301 DEC R1 :DECREMENT DEST. BYTE (OUNT
4208 014316 001375 BNE CONTCL :BR, IF NOT FINISHED
4209 014320 105020 CLRB (RO) + :CLEAR UPPER BYTE BOUNDARY OF DEST
2%}? 014322 000207 RTS PC RETURN
4212 :SUBROUTINE TO GENERATE A SOURCE STRING
4213 014324 012700 016310 GENSRC: MOV #8UF1,RO ;POINT RO TN THE PATTERN STORED
4214 014330 012502 MOV (R5)+.R2 ;STORE -JURCE RYTE COUNT IN R2
4215 014332 012501 MOV (R5)+,R1 :POINT R 1y lhF SOURCE ADDRESS
6216 014334 112021 GENCON: MOVB (RO)+,(R1)+ TRANSFER FATIERN TO SOURCE
4217 014336 005,02 DEC R2 :DECREMENT BYTE COUNT
4218 014340 001375 BNE GENCON :BR, IF NOT FINISHED
4219 014342 000205 RTS R5 :RETURN
80
4222 :SUBROUTINE TO RECORD EXPECTED PSW
6223 014344 012537 000674 XPSW: MOV (R5)+,a#EXPPSW ;STORE EXPECTED PSW VALUE
4224 014350 106700 MFPS RO
4225 014352 032700 000020 BIT #18IT,RO
4226 014356 001403 8tQ 18
6227 0164360 052737 000020 000674 8IS #TBIT ,a#EXPPSW ;OTHERWISE SET T-BIT IN EXPECTED PSW VALUE
4228 014366 000205 1$: RTS R5
4229
4230
4231 ;SUBROUTINE TO CHECK THE PSW
4232 ;««NOTE: CONDITION CODES GENERATED ARE TO BE PASSED BACK
4233 Hd TO THE MAIN PROGRAM, THEREFORE NO CODES SHOULD BE
25%? Tee ADDED HERE THAT WILL ALTER THE CONDITION CODES. !
4236 0164370 106767 164276 CKCC:  MFPS CCODES :STORE THE PSW
4237 0146374 042767 177400 164270 8IC #177400,CCODES  :CLEAR ALL UNUSED BITS
4238 016402 023767 000674 164262 CMP SNEXPPSW, CCODES ;CHECK PSW AGAINST EXPECTED VALUE
4239 014410 000207 RTS PC :RETURN
4240
4241
4242

4243 ;SUBROUTINE TO SET TEMP IF REQUIRE, WHICH INDICATES GO TO NEXT TEST

TN

:nﬂtt””””ﬂﬁ”t'ﬂ‘ﬂ'ﬂ‘ﬂ‘ﬂ'ﬂ‘ﬂ'ﬂ'ﬂ'ﬂ'ﬂ
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P11 22-JAN=-32 08:43 END CF PASS ROUTINE SEQ 0078
:TEMP = 0 => CONTINUE WITN CURRENT TEST
;TEMP = 1 => GO TO DO NEXT TEST
0144612 005067 1646266 SKPINT: CLR TEMP JCLEAR FLAG
014416 105777 164116 TST8 aSWR TEST BIT 7 OF SWR
014422 100414 8mn] NEXTST SKIP TO NEXT TEST IF SET
014424 026767 164120 164226 cHpP $TPS,TCSR IS SLU USED FOR INTERRUPTS TNE CONSOLE?
014432 001007 B8NE CONTIN BR JF NOT £ PREFORM INTERRUPTABILITY TEST
014434 032767 000001 164144 BIT #8170,8ENV JIF YES, CHECK IF ON APT
014442 001403 BEQ CONTIN BR IF NOT UNDER APT, AND DO THIS TEST
016444 005767 164124 TST $PASS ;CHECK IF ON FIRST PASS
014450 001001 BNE NEXTST IF NOT ON FIRST PASS, BR & SKIP THIS TEST
014452 000207 CONTIN: RTS PC RETURN AND DO THME CURRENT TEST
014454 005267 164224 NEXTST: INC TEMP ;SET FLAG, SKIP CURRENT TEST
014460 000207 RTS PC RETURN AND DO THE NEXT TEST
:SUBROUTINE TO TEST FOR TRANSMIT DONE FLAG
014462 005037 000704 TDONE : CLR SATEMP :CLEAR A TIMER
016466 105777 164166 1%: T7ST8 @TCSR IS SLU READY?
014472 100404 8m] RETN BR IF READY
014474 005237 000704 INC SATEMP JOTHERWISE INCREHENT TIMER
014500 001372 8NE 1$ BR IF NOT TIMED QU
014502 104300 ERROR 304 tttttttttttttttERROR 00k annnnnnnnnntnn
NEVER GOT TRANSMIT DONE FLAG
014504 000207 RETN: RTS PC .RETURN
:SUBROUTINE TO HANDLE TTY INTERRUPTS IN INSTRUCTION
INTERRUPTABILITY TESTS
014506 INTR: -
014506 021667 164156 CMP (SP) ,PC1 ;WAS PC AT INSTRUCTION UNDER TEST?
014512 001003 BNE SEND BR IF NO
014514 032706 177400 CKR&: BIT #177400,R4 :IF YES, CHECK UPPER BYTE OF Ré&
014520 001004 BNE CLRINT IF ZERO INSTRUCTION WAS NOT INTERRUPTED=-TRY AGAIN
014522 013777 000554 164132 SEND: MoV SFSNULL ,aTBUF SEND ANOTHER CHARACTER
014530 000002 RTI RE URN
814532 042777 000100 164120 CLRINT: BIC #100,3TCSR ;IF NON-ZERC, CLEAR INTERRUPT ENABLE
14540 000002 RTI *CONTINUE INSTRUCTION
.SBTTL SCOPE HANDLER ROUTINE
tttt!t!tttt!ttﬁattttttttttt.tttt!.t.ttttttitttﬁttt'i'ttttttttit
S%THIS ROUTINE CONTROLS THE LOOPING OF SUBTESTS. IT WILL INCREMENT
S«AND LOAD THE TEST NUMBER(STSTNM) INTO THE DISPLAY REG.(DISPLAY<7:0>)
*«AND LOAD THE ERROR FLAG (SERFLG) INTO DISPLAY<15:08>
tTHE SWITCH OPTIONS PROVIDED 8Y THIS ROUTINE ARE:
ceSWi4=1 LOOP ON TESY
< *SW09=1 LOOP ON ERROR
:!c'»x?fﬂ LOOP ON TEST IN SWR<S5:0>
o SCOPE ::SCOPE=]0T

81‘5‘5 $ :
14542 032777 040000 163770 18: eIT

SCOPE:

#BIT14 ,3SUR ;;L00P ON PRESENT TEST?
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4300 014550 001065
430¢ 014552 000416
4306 014354 013746
4305 014560 01273
4 143 737
307 014572 012637
4308 01457 434
4 14600 022626

4310 014602 016
4317 014 22
$3ig 01461

4313 014610 032777
4314 014616 001407
4315 014620 017746
4316 Olied Qagric
4317 014630 122667
4318 Qle634 001433
4319 014636 105767
4320 0laghe 00161
4321 Q14644 03277
4322 014632 00140¢
4323 Qidest oterer
4324 014662 0004620
435 Q14864 105067
4326 014670 105267
4327 014674 116767
4328 014702 011667
4329 014706 011667
4330 014712 005067
4331 Qa7t6 11767
4332 Q14700 016777
4333 014732 016716
4334 014736 000002
4335

4336

4337

4338

4339

430 014740 012737
4341 014746 012737
4342 014754 010046
4343 014756 010146
(34 014760 010246
(345 014762 010346
4346 014764 010446
4347 014766 010546
4348 014770 017746
4349 Q4776 010667
4350 015000 Q12737
4351 015006 000000
<35¢ 015010 000776

43564
QSSS

SZ-im-H 08:44 FAGE 80
08:4 SC

014600
177060
000004

000004

000400
163714
000300
163646
163641
001000
163630

163613

000004

163722

163666
163624

163670

000024
000026

000024

OPE HANDLER ROUTINE

BNE SOVER
-##ARNSTART OF CODE FOR THE XOR
$XTSTR: BR 6

MOV S#ERRVEC ,-(SP)

MOV #5$  aNERRVEC
ST ar177060
MOV (SP) +,#ERRVEC
B8R $SVLAD

5$: P (SP)+,(SP)+

MoV (gP) + ,#ERRVEC

:;YES IF SW14=1
TESTERARAAA
;s IF RUNNING ON THE ''XOR'"' TESTER
2:THIS INSTRUCTION TO A 'NOP'' (NOP=240)
::SAVE THE CONTENTS OF THE ERROR VECTOR
;:SET _FOR _TIMEQUT
s TIME OUT ON XOR?
:sRESTORE THE ERROR VECTOR
::G0 TO THE NEXT TEST
ssCLEAR THE STACK AFTER A TIME OUT
:RESTORE THE ERROR VECTOR

OP ON THE PRESENT TEST

BR 7 ::L0
68::””5??110 OF CODE FOR THE XOR TESTERAAZAN

#BIT08,3SWR
BEQ 2%

MOV aSWR,=(SP)
8IC #SSWRMK , (SP)

CMP8 (SP)+ ,STSTNM
BEQ $SOVER
2s: 1818 $SERFLG
BEQ $SVLAD
BIT #81709,3SWR
BEQ 4$
78: MOV SLPERR, SLPADR
BR $SOVER
4S: CLRB SERFLG
$SVLAD: INCB STSTNM
MOV STSTNM, STESTN

MOV (SP) ,SLPADR
MOV (SP) ,SLPERR
CLR SESCAPE

Movse #1,SERMAX
SOVER: MOV STSTNM, D1 SPLAY
2?‘1, SLPADR, (SP)

;:LOOP ON SPEC. TEST?
F NO

J:BR 1

:sSET DESIRED TEST NUM. FROM SWR
;:STRIP AWAY UNDESIRED BITS

::ON THE RIGHT TEST?

;:BR IF YES

;2HAS AN ERROR OCCURRED?

;s8R IF NO

:2LO0P ON ERROR?

;:BR IF NO

2:SET LOOP ADDRESS TN LAST SCOPE

;sZERO_THE ERROR FLAG

ssCOUNT TEST NUMBERS

ssSET TEST NUMBER IN APT MAILBOX
;sSAVE SCOPE LOOP ADDRESS

s sSAVE ERROR LOOP ADDRESS

ssCLEAR THE ESCAPE FROM ERROR ADDRESS
s:ONLY ALLOW ONE(1) ERROR ON NEXT TEST
s;DISPLAY TEST NUMBER

s sFUDGE RETURN ADDRESS

ssFIXES PS

.SBTTL POWER DOWN AND UP ROUTINES

C rAARRARRRRRANNRRRRRRAARAARNRRRRRRARAANRARNRRRRNRANRRARAAAAAARAAAARS

POWER DOWN ROUTINE
PWRDN: MOV

$ FSILLUP aopuavsc ::SET FOR FAST UP
MOV #340, a#PURVEC+2 ::PRIO:7
MOV RO,=~(SP) *SPUSH RO ON STACK
MOV R1.-(SP) SSPUSH R1 ON STACK
MOV R2.-(SP) TIPUSH R2 ON STACK
MOV R3.-(SP) tSPUSH RS ON STACK
MOV R&.-{SP) T:PUSH RG ON STACK
MOV RS .-(SP) *PUSH RS ON STACK
MOV aSwR, - (5P) “:PUSH @SWR ON STACK
MOV SP, $SAVR6 1ISAVE SP
MOV #SPURUP, a#PWRVEC’ ::SET UP VECTOR

8R .~2

:;HANG UP

':tttlttlttttttttttttttttttttttttttt"."'ltt'."'.tt"l'l"lll.t

‘POWER UP ROUTINE

SEQ 0079

et e b it o ek ot el e ek e e el el b ekt —b —
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(VKAIB.P11  22-JAN-82 0 POWER DOWN AND UP ROUTINES SEQ 0080
4356 015012 012737 015122 000026 $PWRUP: MOV #SILLUP,@¥PURVEC ;;SET FOR FAST DOWN |
4357 013020 016706 000102 MOV $SAVR6, SP ;IGET _SP
4358 015024 005067 000076 CLR $5AVR6 ::WAIT LOOP FOR THE TTY
4359 015030 005267 000072 18: INC $SAVR6 *'WAIT FOR THE INC
4360 015034 001375 BNE 13 1:0F  WORD
$361 01303 005067 163440 CLR STSTAM
360 013043 01363y 1637 MOV (SP)+,aSWR ;:POP STACK INTO @SWR
4363 015046 012605 MOV (SP)+.RS ::POP STACK INTO RS
4364 015050 012604 MOV (SP)+.R& 1:POP STACK INTO R&

4365 015052 012603 MOV (SP)+.R3 1:POP STACK INTO R3

4366 015054 012602 MOV (SP)+.R2 1:POP STACK INTO R2

4367 015056 012601 MOV (SP)+.R1 ;PP STACK INTO RI

/368 015960 012600 MOV (SP)+,RO POP STACK INTO RO

365 015062 012737 014740 000024 MOV #SPWRON,@#PWRVEC” ::SET UP THE POWER DOWN VECTOR
w370 015970 012737 00034C 000026 MOV #340,#PURVEC+2 ; :PRIO:7

4371 015076 104401 TYPE *REPOXT THE POWER FAILURE

4372 015700 015130 SPWRMG: .WORD  SPOWER :;POWER FAIL MESSAGE POINTER

4373 015102 012716 MOV (PO, (SP) *SRESTART AT $LOOP

4374 015104 014116 $PWRAD: .WORD * *RESTART ADDRESS

4375 015106 042766 (00020 000002 BIC 020 5(sP) ::CLEAR "' BIT

4376 0151146 005067 177002 CLR $TBIT *:CLEAR THE "'T'' BIT FLAG

4377 015120 000002 RTI

4378 015122 000000 SILLUP: HALT ;;THE POWER UP SEQUEMCE WAS STARTED
4379 015124 000776 BR -2 % BEFORE THE POWER DOWN WAS COMPLETE
4380 015126 000000 $SAVRG: O $IPUT THE SP HERE

4381 015130 005015 047520 042527 SPOWER: .ASCIZ <15><12>'‘POWER"’

4382 015136 000122

4383 .EVEN

438 -EVEN

4386 .SBTTL ERROR HANDLER ROUTINE

4388

4389 .SBTTL TYPE ROUTINE

1.391 tt"ttttttttt"'t"'tttt'ttttttt'ttt"t't'ttt**ttttttttttlttttt 1
4392 t«THIS ROUTINE WILL INCREMENT THE (ERROR FLAG AND THE ERROR COLNT,
4393 ;«SAVE THE ERROR ITEN NUMBER AND THE ADDRESS OF THE ERROR CALL

43% $«AND TYPE OUT THE PC OF THE ERROR INSTRUCTION

4395 :«THE SWITCH OPTIONS PROVIDED BY THIS ROUTINE ARE:

4396 teSW15= HALT ON ERROR

4397 $SW13=1 INHIBIT ERROR TYPEOUTS {
4398 ; *SW09=1 LOOP ON ERROR |
4399 :#CALL

4400 e ERROR N ;ERROR=EMT AND N=ERROR ITEM NUMBER

-

440 DINANRAR A ARAR AR AR ERANA N AR AR AR RN R AR R ERARANRNARRARANERRNENRARANR
440

4404 015140 $ERROR:

4405 015140 105267 163337 78: INCB  SERFLG ;SET THE_ERROR FLAG

4406 015144 801 5 BEQ 78 ‘DON'T LET THE FLAG GO TO ZERO

4607 015146 016777 163330 163366 MOV STSTNM,3DISPLAY :DISPLAY TEST NUMBER AND ERROR FLAG
4408 815154 805267 163332 INC SERTTL *INC THE ERROR COUNT

<409 015160 011667 163332 MOV (SP) , SERRPC *GET ADDRESS OF ERROR INSTRUCTION
4610 015164 162767 000002 163324 SUB #2,SERRPC

4611 015172 117767 163320 163314 MOVB  @SERRPC.SITEMB ;STRIP AND SAVE THE ERROR ITEM CODE

PR NP
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(VKAIB.P1 22-JAN-82 TYPE ROUTINE
4412 015200 032777 020000 163332 BIT #BIT13, 3uR :SKIP TYPEOUT IF SET
4413 015206 001010 BNE 208 ;SKIP TYPEOUTS
4416 015210 104401 000563 TYPE SCRLF
4615 015214 016746 163276 mov $ERRPC, = (SP) ;SAVE SERRPC FOR TYPEOUT
4416 ERRM ADDRESS {
4417 015220 004767 000444 JSR PC.TYPOCT GO TYPE==0OCTAL ASCII(ALL DIGITS) 1
44,18 0152%4 104401 000563 TYPE +SCRLF 1
4419 015230 208: i
4420 015230 122767 000001 163350 CMPB #APTENV ,SENV :RUNNING IN APT MODE {
4421 015236 001011 BNE 2$ NO SKIP APT ERROR REPORT {
4422 015240 005767 163322 21$: TST SMSGTYPE FINISHED LAST MESSAGE? 1
4423 015244 001375 BNE 213 JIF NOT, WAIT {
4L24 015246 116767 163242 163314 ] SITEMB,SFATAL REPORT ERROR NUMBER TO APT {
4425 015254 005267 163306 INC SMSGTYPE TELL APT TO TAKE ERROR i
4626 015260 000777 22$: BR 22% APT ERROR LOOP 1
4427 015262 005777 163252 23: TST SSWR HALT ON ERROR 1
4428 015266 100001 8PL 3s JSKIP IF CONTINUE
46429 015270 000000 HALT NALT ON ERROR!
4630 015272 032777 001000 163240 3$: 81T #81709,3SWR LOOP ON ERROR SWITCH SET?
4431 015300 001402 8EQ 43 *BR IF NO
4432 015302 016716 163202 Mov $LPERR, (SP) FUDGE RETURN FOR LOOPING
4433 015306 005767 163246 48: TST SESCAPE CNECK FOR AN ESCAPE ADDRESS
4634 015312 001402 BEQ S$ *BR IF NONE i
22%2 g}%%}g 016716 163240 53 MoV $SESCAPE, (SP) ;FUDGE RETURN ADDRESS FOR ESCAPE 53
4437 015520 022737 014050 000042 CmpP #SENDAD , 8442 ;ACT=11 AUTO-ACCEPT? 1
4438 015326 001001 BNE 6$ :BRANCH IF NO
4439 015330 000000 HALT JYES !
4440 015332 6%:
4441 015332 000002 RTI :RETURN |
222% .SBTTL TYPE ROUTINE ‘
l.l.l.l. ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt H
4445 tROUTINE TO TYPE ASCIZ MESSAGE. IESSAGE MUST TERMINATE WITH A 0 BYTE !
4446 +#THE ROUTINE WILL INSERT A NUMBER OF NULL CHARACTERS AFTER A LINE FEED. !
4447 S«NOTE1: $SNULL CONTAINS THE CHARACTER TO BE USED AS THE FILLER CHARACTER. !
4448 “«NOTE2: SFILLS CONTAINS THE NUMBER OF FILLER CHARACTERS REQUIRED. !
22% -NOTEB $F'LLC CONTAINS THE CHARACTER TO FILL AFTER. ;
44651 CALL )
445 -1) USING A TRAP INSTRUCTION 5
22%4 OR YPE LMESADR :MESADR IS FIRST ADDRESS OF AN ASCIZ STRING §

t

4455 ‘e TYPE :
445 ot MESADR
“ga - '
44 :
4459 015334 105767 163217 $STYPE: TSIB $TPFLG ::1S THERE A TERMINAL? ‘
4660 015340 10000 BPL 18 ;:BR IF YES
4461 15%22 HALT ::HALT HERE IF NO TERMINAL
Y3 15344 0 B8R ::LEA VE
446 15346 01 18: MOV RO.=-(SP) SAVE RO
4464 015350 179 000002 MOV 82(SP) ,RO ..GET ADDRESS OF ASCIZ STRING
4465 015354 2767 000001 163224 cMP8 SAPTENV, SENV i RUNNING IN APT MODE
44 1536¢ 1911 BNE 62% :NO,GO CHECK FOR APT CONSOLE
446 1536 132767 000100 163215 8IT8 #APTSF OL,SENVM $:SPOOL MESSAGE TO APT




JAIN. MACYTY 30(1046) g?- AN=-82 08:44 PAGE 83
C(VKAIB.P11 22~JAN-82 08:4 TYPE ROUTINE
(468 015372 001405 8EC
4469 0153724 010067 000004 MOV
470 015400 004767 000372 JSR
4471 015404 618: . WORD
4472 015406 132767 000040 163173 62%:  BJIB
l 4473 015414 001003 BNE
4474 015416 112046 2s: MOVB
4475 015450 001005 BNE
i 46476 015622 005726 TST
4477 015426 012600 608: MOV
’ 4478 015426 062716 000002 3s: ADD
4,79 015432 000002 RTI
[ 4480 01543, 122716 000011 48: CMPB
4481 015440 001430 8EQ
’ L6482 015442 122716 000200 cmP8
4483 015646 001006 BNE
| 4484 015450 005726 ST
| 44BS 015452 104401 TYPE
| 4486 015454 000563 $CRLF
4487 015456 105067 000202 CLRB
4488 015462 000755 BR
4489 015466 004767 000056 5$: JSR
4490 015470 126726 163062 6$: CMPB
4491 015474 001350 BNE
22% 015476 016746 163052 MOV
4494 015502 105366 000001 78: DECB
4495 015506 002770 BLT
449 (15510 004767 000032 JSR
4497 015514 105367 000144 DECB
4498 015520 000770
4499
zggg :HOR1ZONTAL TAB
4502 015522 112716 000040 8s: movs
4503 o1ss%o 004767 000014 9s: JSR
4504 015532 132767 000007 000124 BIT8
4505 015540 001372 BNE
4506 015542 005726 ST
{4507 015544 000724 B8R
4508 015546 STYPEC:
«509 015546 105777 162772 7ST8
4510 015552 100022 BPL
4511 015554 017746 162766 MOV
4512 015560 042716 177600 8IC
«513 015564 122716 000023 cMP8
g 4514 015570 001012 BNE
4515 015572 101$:
4516 015572 105777 162746 TST8
4517 015576 100375 BPL
L' 4518 015600 117716 162742 MOVB
I 4519 015606 042716 177600 BIC
4520 015610 122716 000021 cMP8
| 4521 015614 001366 BNE
«52; 015616 1028:
4523 015616 005726 ST

628
RO,61$
SC.SATYS

#APTCSUP, SENVM
0$

6
(RO)+,-(SP)
43

(SP)+
(SP)+,RO
#2,(SP)
#HT, (SP)
8s

#CRLF, (SP)

58
(SP)+

$CHARCNT
28

PC.STYPEC
3;1LLC.(SP)+

SNULL, - (SP)
1(SP)

63
PC.STYPEC
S$CHARCNT

78
PROCESSOR
& ,(SP)
PC,$TYPEC
g; +SCHARCNT

(SP)+
23

#SXOFF , (SP)
1028

387KS

3213
0177660 (s
FSXON, ($P)
1018

(SP)+

SEQ 0082

::NO,GO CHECK FOR CONSOLE
;. SETUP MESSAGE ADDRESS FOR APT
..SPOOL MESSAGE TO APT
sMESSAGE ADDRESS
$3APT CONSOLE SUPPRESSED
;. YES,SKIP TYPE OUT
..PUSH CHARACTER TO BE TYPED ONTO STACK
:BR IF IT ISN'T THE TERMINATOR
::1F _TERMINATOR POP IT OFF THE STACK
:sRESTORE RO
:sADJUST RETURN P(C

JsRETURN
;;BRANCH IF <HT>
::BRANCH IF NOT <CRLF>

:sPOP  <CR><LF> EOUIV
scTYPE A CR AND L

:sCLEAR CHARACTER COUNT

;GET NEXT CHARACTER

2:G0 TYPE THIS CHARACTER

:21S 1T TIME FOR FILLER CHARS.?

J21F NO GO GET NEXT CHAR.

s:GET # OF FILLER CHARS. NEEDED

J3AND THE NULL CHAR.

..DOES A NULL NEED TO BE TYPED?
:BR IF NO--GO POP THE NULL OFF OF STACK

..Go TYPE A NULL

::D0 NOT COUNT AS A COUNT

;:LOOP

..REPLACE TAB WITH SPACE
s:TYPE A SPACE
..BRANCH IF NOT AT
:TAB STOP
; :POP SPACE OFF STACK
s :GET NEXT CHARACTER

..CHAR IN KYBD BUFFER?
l NOT

T CHAR
..STRIP EXTRANEOUS BITS

::HAS CHAR

;:BR IF

=444

2228822

SsWAIT FOR CHAR

82828

— e b b b el cad cnd cnd b b b o —b

soFIX STACK
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CVKAIB.P1I 22-JAN-B2 08:43 TYPE ROUTINE SEQ 0083
4524 015620 108: :MJD001
4‘5%5 015620 105777 162724 TST8 asTPS ;:WAIT UNTIL PRINTER IS READY
4526 015624 100375 8PL 10% :MJD001
4527 015626 116677 000002 162716 MOVB 2(SP) ,337P8 s:LOAD CHAR TO BE TYPED INTO DATA REG.
4528 0156 122766 000015 000002 CMP8 *.n,2({SP) 2s1S CHARACTER A CARRIAGE RETURN?
4529 015642 001003 8NE 18 ; ;BRANCH IF NO
4530 015644 105067 000014 CLRB SCHARCNT s 3YES=<CLEAR CHARACTER COUNT
45N 015652 000406 B8R $STYPEX s EXIT
4532 015652 122766 000012 000002 18: CMP8 #LF,2(SP) ss1S CHARACTER A LINE FEED?

4533 015660 001402 8EQ $TYPEX s sBRANCH IF YES

4534 015662 105227 INCB (PC)+ 2 sCOUNT THE CHARACTER

4535 015664 000000 $CHARCNT: .WORD 0 s sCHARACTER COUNT STORAGE
22%9 015666 000207 $TYPEX: RTS PC

4538 P L e T L L L L LT T
4539 ;*THIS ROUTINE IS USED TO CHANGE A 16-BIT BINARY NUMBER TO A 6~DIGIT
4540 :=0CTAL (ASCII) NUMBER AND TYPE IT.

4541 s*CALL:

454 i MoV NUM,-(SP) sNUMBER TO BE TYPED

2;24 H JSR PC,.TYPOCT JCALL FOR TYPEOUT

4545 IR AR RN AR RN RN R RN RN RN R RN R AR R AN RV AR
4546

45647 015670 112767 000005 000070 TYPOCT: MOVB #5,30CNT sSET ITERATION COUNT

4548 015676 010446 MoV R&,-(SP) :SAVE R4

4549 015700 010546 MoV R5,-(SP) sSAVE RS

4550 015702 016605 000006 MOV 6(SP) ,RS JPICKUP THE INPUT NUMBER
4551 015706 0C5004 CLR Ré :CLEAR THE OUTPUT WORD

4552 015710 006105 18: ROL RS JROTATE MSB INTO °*°C'*

4553 015712 000404 BR 3s ;60 DO MSB

4554 015714 006105 28: ROL RS FORM THIS DIGIT

4555 015716 006105 ROL RS

4556 0157 g 006105 ROL RS

4557 0157 010504 MOV R5.R4

4558 015724 006104 3s: ROL R4 ;sGET LSB OF THIS DIGIT

4559 8157 6 045704 177770 BIC #177770,R4 SGET RID OF JUNK

4560 015732 052704 000060 8IS #'0,RS MAKE THIS DIGIT ASCII

4361 015736 110467 000022 MOVB R4 8% :SAVE FOR TYPING

456 815742 104401 015764 TYPE 8$ 260 TYPE THIS DIGIT

456 15743 105367 000014 7s: DECB  $OCNT : COUNT BY 1

4564 015752 00 280 BGE 28 :BR IF MORE T0 DO

4565 (015754 81 5 és: MOV (SP)+,RS sRESTORE R

4569 15756 012604 MoV (SP)+ R4 RESTORE R4

456 157bg o1 619 MoV (SP)+,(SP) sSET THE STACK FOR RETURNING
4568 lg76 00020 RTS PC SRETURN

4569 015764 8s: BYTE 0 JSTORAGE FOR ASCII DIGIT
4570 015765 BYTE 0 STERMINATOR FOR TYPE ROUTI’.c
4571 015766 000 SOCNT: .WORD O sOCTAL DIGIT COUNTER

2;; .SBTTL APT COMMUNICATIONS ROUTINE

4574 Ry T L L L L T T e S e I AL L
4575 015770 "5767 000001 000236 $ATY1: mOVB 1 ,$FFLG 2270 REPORT FATAL ERROR
4579 15776 112767 000001 000226 SATY3: MOVB #_,SRFLG 2:TO TYPE A MESSAGE

457 16882 ooo«o; B8R sAfyc

4578 016 112767 000001 000220 SATY4: MOVB #M_ S$FFLG 27O ONLY REPORT FATAL ERROR
4579 016014 SATYC:
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CVKAIB.P11  22-JAN-82 08:43 APT COMMUNICATIONS ROUTINE SEQ 0084
4580 016014 010046 nov RO,=(SP) ::PUSH RO ON STACK
4581 016016 01014 MOV R1.-(SP) *SPUSH R1 ON STACK
4582 016020 105767 000206 TSTB  SMFLG TISHOULD TYPE A MESSAGE?
458 0188 L 00145 BEQ X3 ‘:IF NOT: BR
4584 016026 122767 000001 162552 CMPB  FAPTENV.SENV  ::OPERATING UNDER APT?
4585 016034 031031 BNE 38 tSIF NOT: BR
4586 016036 132767 000100 162543 BITB  W#APTSPOOL.SENVM ::SHOULD SPOOL MESSAGES?
4587 016044 001425 BEQ 38 tSIF NOT: BR
4588 016046 017600 000004 MOV 34 (SP) RO *:GET MESSAGE ADDR.
4589 016052 062766 000002 000004 ADD £2.4(SP) ::BUMP RETURN ADDR.
4590 016060 005767 162502 1s: ST SMSGTYPE ;:SEE 1F DONE W/ LAST XMISSION?
4551 016064 001375 BNE 18 SSIF NOT: WAIT
{580 016066 010067 162510 MOV RO, SMSGAD 13PUT ADDR IN MAILBOX
4593 016072 105720 28: 1sT8  (RO)+ P:FIND END OF MESSAGE
6594 016076 001376 BNE 2
4595 016076 166700 162500 SUB $MSGAD , RO ;:SUB START OF MESSAGE
0596 016172 006200 ASR RO 13GET MESSAGE LNGTH IN WORDS
4597 (016104 010067 162474 MOV RO, SMSGLGT SSPUT LENGTH IN MAILBOX
4598 016110 012767 000004 162450 MOV #4 . SMSGTYPE SSTELL APT TO TAKE MSG.
(599 016116 000413 BR b3 3
4600 016120 017667 000004 000016 3$: MOV 4 (SP) .48 ::PUT MSG ADDR IN JSR LINKAGE
601 016126 062766 000002 000004 ADD £2,4(SP) --BUMP RETURN ADDRESS
4602 016136 016746 161636 MOV 178776.-(SP)  ;:PUSH 177776 ON STACK
4603 016140 006767 177170 JSR PC,S$TYPE S3CALL TYPE MACRO
4604 016146 000000 48: LWORD 0
4605 016146 5$:
4606 016146 105767 000062 108:  TSTB  SFFLG ;3SHOULD REPORT FATAL ERROR?
4607 016152 001416 BEQ 128 *:IF NOT: BR
4608 016154 005767 162426 ST SENV *:RUNNING UNDER APT?
4609 016160 001413 BEQ 128 SSIF NOT: BR
4610 016162 005767 162400 118:  TST SMSGTYPE LSFINISHED LAST MESSAGE?
4611 016168 001375 BNE 118 L3IF NOT: WAIT
4612 016170 017667 000004 162372 MOV 24 (SP) ,SFATAL  ::GET ERROR #
4613 016176 062766 000002 000004 ADD #2,4(SP) - -BUMP RETURN ADDR.
4614 016206 005267 162356 INC sMSGTYPE ;s TELL APT TO TAKE ERROR
4615 016%10 105067 000020 128: CLRB  SFFLG 1SCLEAR FATAL FLAG
4616 016214 105067 000013 CLRB  SLFLG *:CLEAR LOG FLAG
4617 016220 105067 000006 CLRB  SMFLG *3CLEAR MESSAGE FLAG
4618 016324 012601 MOV (SP)+.R1 $3POP STACK INTO R1
4619 016226 012600 MOV (SP)+.RO 1:POP STACK INTO RO
4620 016230 000207 RTS PC *SRETURN
4621 0162;§ 000 SMFLG: .BYTE 0 LIMESSG. FLAG
4622 0165- 000 SLFLG: .BYTE 0 $3L0G FLAG
4623 016234 000 $SFFLG: .BYTE O LSFATAL FLAG
4624 016236 .svsu
4625 000200 APTSI2E=200
4659 000001 APTENV=001
46 000100 APTSPOOL=100
4628 000040 APTCSUP=040
26 9 .SBTTL TRAP DECODER
4631 .‘."tttttttttttttttttttttttttttttitttttttttttttttttttttttttttttttt
463 T*THIS ROUTINE WILL PICKUP THE LOWER BYTE OF THE ‘‘TRAP'' INSTRUCTION
463 “«AND USE IT TO INDEX THROUGH THE TRAP TABLE FOR THE STARTING ADDRESS
463% ‘«OF THE DESIRED ROUTINE. THEN USING THE ADDRESS OBTAINED IT WILL

4635 ;%60 TO THAT ROUTINE.
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000002

SZ éAN-BZ 08:44 PAGE 86

000002

016272

000004 000002

053103 040513
000

TRAP DECODER

$STRAP: MOV RO,-(SP) ::SAVE RO
MOV 2(3P) RO ..GET TRAP ADDRESS
TST =-(RO) sBACKUP BY 2
MmOov8 (RO) ,RO ..GET RIGHT BYTE OF TRAP
ASL RO ;POSITION FOR INDEXING
MOV $TRPAD (RO) , RO ;:INDEX TO TABLE
RTS RO ::60 TO ROUTINE

;;THIS 1S USE TO HANDLE THE ''GETPRI'' MACRO

STRAP2: MOV (SP) ,~(SP) :sMOVE THE PC DOWN
MOV 4(SPS,2(SP) *MOVE THE PSW DOWN
RTI *:RESTORE THE PSW

.SBTTL TRAP TABLE

;*THIS TABLE CONTAINS THE STARTING ADDRESSES OF THE ROUTINES CALLED
:+BY THE "'TRAP'* INSTRUCTION.

: ROUTINE

$TRPAD: .WORD STRAP2
$TYPE  ;;CALL=TYPE TRAP+1(104401) TTY TYPEOUT ROUTINE

NAME : JASCIZ  <15><12>/CVKALB/
.EVEN

BUF1:  .BLkW 200
BUF2: .BLKW 200

SEQ 0085

—_OOC

BTN TR TR R "R TR RERERTE R R
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CvkAlB.P11 22-JAN-8 i CROSS REFERENCE TABLE -- USER SYMBOLS SEQ 0085

ABASE = 177560 5044 616 657

ACDW1 = 000000 616

ACDW2 = 616

ACPUOP= 616 631

ADDWO = 616

ADDW1 = 000000 616

o1 9= 290000 816

Ao 2= 900000 §1%

ADDW13= 000000 616

Aooeis: S i

ADBY3 - 000900 816

ADDWY = 000000 616

ADDWS = 000000 616

ADDWS = 000000 616

ADDWS = 000000 616

ADDWZ = (00000 616

ADDWS = 000000 616

ADDWS = 000000 616

ADEV( I'= 000000 616 622

ADEVM = 000000 616

AENV = 000000 616 627

AENVM = 000000 616 628

AFATAL = 000000 616 619

AMADR1= 000000 616 644

AMADRZ= 000000 616 648

AMADRZ= 000000 616 651

AMADR4= 000000 616 654

AMARS 1= 000000 616 638

AMAMS 2= 000000 616 646

AMANS 3= 000000 616 649

AMAMSS = 000000 616 652

AMSGAD = 616 624

AMSGL G= 000000 616 625

MSGTY= 0 616 618

AMTYP1. 000000 616 639

AMTYP2= 000000 616 647

amry23z 000000 616 650

AMTYPL = 000000 616 653

APASS - 000000 olé 621

APRIOR 000000 616

APT(SU- 000040 LO7TH 4472 46284

APTENV= (000001 4954 4420 4465 4584 46264

APTS12= 000200 LoLn 744 46254

APTSPO= 000100 4968 4467 4586 46274

ASWREG™ 000000 616 629

ATESTN- 000000 616 62

AUNIT = 000000 616 62

AUSWR = 000000 61? 630

AVECT1. 000060 SOS# 616 655

AVECT2= 000000 616 656

BADRG 000700 6904 807+ 903+ 994 1091+ §o1- 1307« 1413+ 1518« 1667+« 1775« 1875+ 1982+
084+ 208+ 313« 85+ 457« 45+ §2 g 3700* 2773« 2858+ 2981+ 3052+ 3118«
184+ 249+ 314+ 84+ 455« 519« 93« 663%  3734r 2822+ 3896+ 3966 4059

8p11 003622 1594« 15994 1601 1607« 1608

-

ZEZZEZEZZIXx

p b} DOV VO

w

17 . X7.X%.Y7.17.17.37,)
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MACY1T 30(1046)
22-JAN-82 0

{VKAIB. P11
8030 007
BEGIN 001
8IT0 = 000001
81100 = 000001
BIT07 = 000002
BIT02 - 000004
B8IT03 = 000010
81104 = 000020
BIT0S = 090040
BIT06 = 000100
81107 = 000200
BIT08 = 000400
BIT09 = 001000
8171 = 000002
BIT10 = 002000
BIT11 = (04000
8IT12 = 010000
BIT13 = 020000
BIT14 = 040000
BIT1S = 00000
Bng = 000004
8IT3 - 000010
BIT4 = 000020
BITS = 000040
BIT6 = 000100
BIT? = 000200
BIT8 = 000400
BIT9 = 001000
BPTVEC= 000014
BUF 1 016310
BUF2 016710
CCODES 000672
xCC 014370
CKR& 014514
CLDST 014276
CLRINT 014532
], 010042
(MPC = 076044
CONTCL 14312
CONTG i1736
CONTIN 14452
CR = 000015
CRLF = 000200
DOISP = 177570
DISPLA 000542

J 7

g?ziAH-BZ 08:44 PAGE 89

CROSS REFERENCE TABLE =~ USER SYMBOLS

29154 2917 2923+ 2924

4143
4017 4251

479

478

477

476

475

474

473

472

74! 6313

470 4321 4430
4132
4412
4299

973 1069 1343 1352 1454 1589 1633
2750 2832 2905 2947 2949 3032 3098
3714 3753 3786 3790 3841 3873 3877
4078 6213 466

842 881 884 937 975 1030 1071
1284 1286 1290 1344 1388 1390 1395
1635 1700 1701 1756 1811 1855 1908
066 2117 2175 2241 2364 2366 2403
2680 2710 2748 2754 2755+ 2834 2839
1653« 1656 1657 2194+ 2197+« 2198 2968+
3583« 3584 3809+ 3812+ 3813 40646 4049+
894 985 1082 1192 1298 1404 1509
448 2536 2609 2691 2764 2849 3043
654 3725 3887 3957 42364

977 1073 1180 1392 1498 1637 1758
42024

42814

29654

2302 2376 2446 2534 2607 2689 2762

741 4332« 4407+

SEQ 0087
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(VKAIB.P 22-JAN-82 08:43 CROSS REFERENCE TABLE -- USER SYMBOLS SEQ 0088
DISPRE 000174 Si5# 761
DSTAD 000652 6797 1350 233 2474 2643 2718 2791 2878 4185 4196 420
OSTLN 000650 6784 849 1010 1038 1142 1251 1323 1353 1464 1534 156 1718 1791
1819 1821 1915 1998 2026 2028 2124 2248 2327 2501 2644 2812 2879
4184 6195« 4205
DSWR = 177570 4004 578
EMTVEC= 000030 4894 713 714¢
ENOMSG 014130 6114 L1478
ENDTT 001534 859 8¢c3n
ENDT10 003554 157; 15764
ENDTI% 882212 172 17314
ENOTI 444 1831 18354
ENDT14 004674 1937 19414
ENDTI5 005124 2038 20424
ENDT16 005364 2146 21504
ENDT17 005722 2270 22744
ENDT2 001734 950 9544
ENDT3 002144 1048 10524
ENDT4 002374 1154 11584
ENDTS 002634 1263 12674
ENDT? 003334 1473 14774
ERRVEC= 000004 4824 4304 4305« 4307+ 4310«
EXPPSW 000674 688% 1657 2198 2972 3305 3584 3813 4050 4223 4227« 4238
FILL (00654 6804 832 850 927 1000 1115 1145 1225 1254 1313 1437 1466 1524
1691 1720 1781 1899 1918 1988 2108 2127 2232 2251 2336 2408 2463
2570 2652 2723 2779 2885 3006 3058 3069 3124 3135 3190 3201 3320
3331 3390 3401 3435 3461 3472 3560 3599 3610 3669 3682 3740 3753
3828 3841 3902 3915 3972 3985 4065 4078 4186 6197+
GENCON 014334 L2164 4218
GENR 014204 792 889 1076 1186 1293 1398 1504 1597 1647 1761 1860 1968
2069 2187 2298 2371 2443 2530 2603 2685 2758 2843 2913 2960 3038
z&gg 2}83‘ 3234 3295 3370 3440 3504 3573 3648 Nz 3800 3880 3950
GENSRC 014324 1181 1288 1393 1499 1963 2064 2437 2752 2837 L2134
GNS = temeane |J 514 4660
HT = 000011 3924 4480 4538
ILLTRP 014164 52 L1674
INTR 014506 1639 2179 2952 3287 3565 3792 4030 L2744
IOTTRP 014174 L1740
I0TVEC= 000020 4874 711+ 712«
LF = 000012 4532 4538
LOC 011076 3286 32994
LocC = 076040 oy 3041 3107 3173 3238 3299
nC 80377 1638 16514
MovC = 07603 796 9 108 1 1296 1402 1507 1651
MOVRC = 076031 1764 1864 1971 207 2192
MR( 005510 2178 21924
N = 000007 5024 7754 800 8014 80 8094 815 8164 821 8224 825 8264 829
8 834 8354 838 8354 84oa 849 852 8554 860 861x 8674
896 8974 04 9054 M 9124 916 9174 920 9214 924 9254 929
9304 933 934n 940 9%14 94 974 951 9524 9594 987 9884 995
o964 1002 10034 1006 10074 101 1014 1018 10194 1022 10234 1026 10274
1033 10344 10%8 1041 104624 1049 10504 10564 1084 10854 1092 10934 1099
11ggﬁ 1104 11054 1108 1109 1112 111;’ 1117 1118 11 11224 1128 11294
11 1136 1378 1144 1147 1148# 115 11564 11604 1194 1195+ 1202 1203#
1209 12104 1214 12154 1218 12194 1222 1223 1227 1228¢ 1231 12328 1237
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CVKAIB.P11 22~JAN-82 08:43 CROSS REFERENCE TABLE -- USER SYMBOLS SEQ 0089
12384 1§4g 1245 1;‘6‘ 1253 1256 12574 1;24 1§6$l 1§70' 1200 13014 1308
13094 131 13164 1319 13204 1326 13274 1331 1332# 1335 13 1339 13404
1347 13484 1356 13574 1366 w1373 1406 146074 1414 14154 1421 16224
14%3 14%7’ 1430 14318 1434 14354 1439 14404 1443 14448 1450 14514 1455
14 16594 1468 14694 1474 14754 14814 1511 15124 1519 15¢04 1526 15274
1530 15314 1537 15384 1542 15438 1546 15474 1559 15514 1557 15584 1562
1565 15664 1573 15744 15804 1602 16034 18154 1659 16604 1668 16694 1675
16764 1680 16814 1684 16854 1688 16894 1993 16944 1697 19980 1704 17054
1709 1712 1713 1722 17234 1728 17294 17394 1768 17694 1776 17774 1783
17844 1787 17884 1794 17954 1799 1800# 1803 18044 1807 18084 1814 18154
1821 1824 18254 1832 18334 18394 1868 18094 1876 18774 1883 18844 1888
18894 1892 1893¢ 1896 18974 1901 19024 1905 19064 1911 19124 1977 1920
19210 1927 1930 19314 1938 19394 1944k 1975 19764 1983 19844 1990 19914
1994 19954 2001 20024 2006 2007# 2010 20114 2014 20154 2021 2022¢ 2028
2031 20324 2039 20404 20464 2077 20784 2085 20864 2092 20934 2097 20984
2101 2102¢ 2105 2106# 2110 211 2114 21154 2120 21214 2126 2129 21304
2136 2139 21404 2147 21484 21554 2200 22014 2209 22104 2216 22174 2221
22224 2225 22264 2229 22304 2234 22354 2238 22394 2244 22654 2250 2253
22544 2260 2263 22644 2271 22724 22804 2306 23074 2314 23154 2321 23224
2325 23 2329 23304 2333 23344 2338 23394 2342 23434 23484 2378 23794
2386 23874 2393 23944 2397 2398» 2401 26024 2405 26064 2410 26114 2414
26154 24194 2450 24514 2458 24594 2465 24668 2469 24704 7483 2484N 2489
26904 2497 24984 2505 25064 25114 2538 2539x 2546 25474 2553 25540 2557
25584 2563 2564 2567 25684 2572 25734 2576 25774 25824 2611 26124 2619
26204 2626 26274 2633 2634n 2639 26404 2647 26484 2654 26554 2658 26594
2664 2693 26944 2701 27024 2708 27094 2712 27134 2716 27174 2720 27214
2725 27264 2729 27304 27354 2766 27674 2774 27754 2781 27824 2785 864
2800 28014 2804 28054 2810 28114 2816 28174 28214 2851 28524 2859 28604
2866 28674 2872 28734 2876 28774 2882 28834 2887 28884 2891 28924 28964
2918 29194 29314 2974 29754 298% 29834 2989 29904 2993 29944 999 3060#
3003 30044 3008 30094 3012 30134 30204 3045 30464 3053 30544 3060 30614
3064 30654 3076 30774 3080 30814 30854 3111 31124 3119 31204 3126 3127#
3130 31314 3142 31438 3146 31474 3152 3177 31784 3185 31864 3192 31934
3196 31974 3208 32094 3212 32130 32184 3242 32434 3250 32510 3257 32584
3261 32624 32674 3307 3308 3315 33164 3322 33234 3326 33274 3338 33394
3342 33434 33514 3377 33784 3385 33864 339 33934 3396 33974 3408 34094
3412 36134 34184 3448 34494 3436 34574 346 34640 3467 34684 3479 34804
3483 34844 34884 3512 35134 3520 35214 3527 3528 3531 35324 35374 3586
35874 359 35954 3601 36024 3605 360 3617 36184 3621 36224 36304 3656
36574 3664 36654 3671 36720 3675 367 3689 36904 3693 36944 36994 3727
37284 3735 37364 3742 37454 3746 37474 3760 37614 3764 37654 37704 3815
381 3823 38244 3830 38314 3834 38354 3448 38494 3852 8534 38604 3889
38904 3897 38984 3904 39054 3908 39094 3922 39234 3926 9274 39324 3959
39604 3967 39684 3974 39754 3978 39794 3992 39934 3996 39974 40024 4052
405 4060 40614 4067 40684 407 40724 4085 40864 4089 40904

NAME 016276 750 46644

NEXTST 014454 4248 4254 42564

NXM = 177777 2034 785 879 2292 2294 2362 2596 §678 3033 3034 100 164
3165 3228 3229 3230 3283 3284 3365 366 3430 3431 498 499 3500
2332 3555 3642 3643 37 3712 3787 3788 3874 3875 944 3945 4025

OLDPC 000702 6914 4153 4760% 4167+ 4174¢

ONEBYT 000714 YU

000712 6964 876
PATGEN 001300 749 7624

PCl 000670 6864 1638+ 2178+ 2951+ 3286+ 3564t 3791+ 4029% 4275
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PIRQ = 177772 3904

PIRQVE= 000240 {934 .

PREP 014250 383 877 971 1067 1376 1282 1386 1492 1588 1631 1752 1851 1956
2087 2171 2290 2360 2430 2520 2592 2676 2746 2830 2904 2945 3030
$006  $161 3926 3280 3362 3427 3496 3551 3639 3708 3784 3871 3941
4022 4193

PRO = 000000 4160

PR1 = 000040 4178

PR2 = 000100 4184

PRS -~ 000140 4198

PRG - 000200 4204

PRS - 000240 42N

PR6 - 000300 42N

PR7 - 000340 423K

PS 177776 3964 397

PSWw = 177776 3974

PYRVEC- 000024 488% 717+ 718+ 4340%  4341%  4350%  4356% 4369 4370+

REPMC 010026 29604 2970

REPLOC 011064 3295¢ 3303

REPMC 003766 16474 1655

REPMRC 005474 21874 2196

REPSCN 012664 38004 3811

REPSKP 012022 35730 3582

REPSPN 013570 40384 4048

REP11 003616 15974 1609

REP30 007662 29138 2925

RESVEC= 000010 4838 727 728+ 735+

RETN 014504 4264 42694

SAVRG 000676 689 805 901 992 1089 1199 1305 1411 1516 1665 1773 1873 1980
2082 2188+ 2206 2311 2383 2455 2543 2616 2698 2771 2856 2961« 2979
$050 3116 3182 3247 3296+ 3312 3382 3453 3517 3574+ 3591 3661 3732
3801« 3820 3894 3964 4039+« 4057 4188+ 4189«

SCANC = 076042 5064 3650 3722 3806

SCN 012704 3791 38064

SEND 014522 4276 L2794

SkP 012034 3564 35774

SKPC = 076041 5064 3373 3444 3508 3577

SKPINT 014412 1627 2167 2941 3276 3547 3780 4246

SPANC = 076043 5064 3885 3955 4043

SPCCON 013472 4016 4018 40214

SPN 013606 4029 40434

SRCAD 000646 6774 876+ 1037 1132 1362 1561 1708 1320 1926 2027 2133 2238 &3
2395 2473 2559 2629 2790 2868 2995 3067 3133 3199 3259 29
%33 3470 329 357 3608 36r8 3y 343 3911 308 4re  Lla3  41%ke

SRCLN 000644 é76e 905 009 1133 1143 Taee gz 132 1363 133 1465 15 17
17197 1790 1818 1916 1927 1997 20gs 218 ¢l gadg g0 g1 2 3
2560 2630 2806 2869 2996 3068 3134 3200 3330 3400 343 3N 55
$609 3679 3750 3838 3912 3982 4075 4182 4193«

STACK = 001100 3874

START 000716 534 7004

STKLMY= 177774 3984

SWR 000540 3088 707  740% 746+ 4013 4132 4247 4299 4313 4315 4321 4348 4362+
4412 4k27 4430

SWREG 000176 5164 740

sW0 = 000001 4514

SW00 = 000001 18 451




MAIN,
(vkAlB.P11 22-JAN-82 08:43
W)l = 2
5502 = 000605
SWw03 = 10
SWo4 = 20
o6 - 000169
S - e
S =

S E 1
sWl = 00000
SW10 = 002
Wil = 004
SW1 = 01

SW13 = 020000
R
S = 000004
SW = 000010
SWe = 000028
sWS = 00004
S = 000100
S = 0002
sW8 = 000400
SW9 = 001000
TABLE 000656
81T = 000020
TBI1TVE= 000014
TBUF 000662
TCSR 0(u660
TDONE 014462
TEMP 000704

N7

Y11_30(1046) ~JAN-82 08:44 PAGE 93
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836
36
1

1750#

931 1004 1119 1229

%340 2612 5467 74

394 3465 603 645
881 5906 3947« 951

4227

1632* 1735 2180 2276

2953«

3016

3288+

3347

3566+

3626

SEQ 0091

3793«
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{15120 005734 2170 2289

1ST27 006100 23584

15122 006252 26294

1ST23 006476 25214

1STo4 006642 25904

15125 007030 26734

15126 007204 2745H

15127 0074g4 28294

1STS 001734 5704

1ST30 077620 29034

1ST31 007722 29404

15132 010206 2944 30294

TST15 010356 30954

1ST3 010512 31604

15735 010656 32254

15736 010760 32754

15137 011242 3279 33614

1ST4 002144 10664

151-0 017404 34764

15741 011570 34954

15742 011672 35464

15743 012200 3550 36384

15744 012364 37074

IST45 012552 37794

1ST46 013060 3783 38704

15147 013246 39404

1ST5 002374 11730

1ST50 013434 40124

1516 002634 12814

IST7 003076 13854

TVECT 000664 6848 759% 1639  1735» 2179+ 2276+ 2952% 3016+ 3287+« 3347+ 3565« 3626+ 3792+
3857+ 4030  4094»

TYPL - 104401 750 4116 4371 4414 4418 4485 4562 46604

TYPOCT 015670 4417 4547H

TZERD 014144 519 4153#

1142 001512 BSO¥ 857

110F12 003534 15634 1570

T11(ON 003632 1596 16064

112012 004146 17100 1717

113612 004424 18224 1829

114110 004630 19184 1925

114615 004654 10284 1935

11SH12 005104 20094 2036

rTet 12 005320 21270 2134

116613 005364 21374 2144

117c12 005656 22514 2258

13612 002124 10394 1046

T30(0N 007676 2912 2924

TAE12 002326 11360 1141

T4E1S 0027352 11454 1152

1SE12 002566 12434 1250

1SE13 002612 1254# 1261

r7€12 003270 14564 1463

\wSW 014344 790 887 978 1074 118 1291 1396 1502  le43 1759 i858 1966 2067
2183 2296 2369 2441 2528 2601 2683 2756 2841 2956 3036  3i02 3167
3232 3091 3368 3438 3502 3569 3646 3715 3796 3878 3948 4034 42234
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SAPTHD 000400 556 5320

SASTAT=z seaner | 4606 42 1

SATYC 016014 4877 45794

SATY 18770 4S754

SATY3 18776 4470 45764

SATYS 016006 45784

SAUTOB 000534 5954

$BASE ooogks 6574 752

$BDADR 000 3 5904

$8DDAT 526 5924

$CHARC 015664 4487+ 4497+ 4504 4530+ 4535«
SCRSWR= wewwer 4663

$CLR.T 014040 4118 41214

SCMTAG 000500 S78# 705

scm3 = 000000 6084

SCPUOP 000674 6314

SCRLF 000563 6104 4414 4418 4486 4538
$OEVCT 000576 6224

$DOAGN 014060 4110 4116 4123 L1294

SENDAD 014050 543 748 41254 4437

$ENDCT 014012 719 L1124

SENULL 014124 L1654

SENV 000606 6274 4017 4251 4420 4465 4584 4608
SENVM 000607 6284 744 4467 4472 4586
$ENP 013762 4014 4020 41034

$SEOPCT 014004 7191 41094 4113

$ERFLG 000503 5814 4290 4319 4325« 4335 4405«
SERMAX 000515 S874 721 4331x 4335

LERROGR (15140 713 44044

$ERRPC 000516 58884 4409 4410+ 4411 4415
$ERRTB 000644 6744

$iRTTL 000512 5854 4408+t

$£SCAP 000560 6084 720% 4330 4433 4435
st TABL.  0006C6 6264

SETEND 000644 568 6584

SEATAL 000570 6194 700% 4424 46120

SFFLG 016234 4575« 4578« 4606 4615+ 46234
SFILLC 000556 6064 4490 4538

S ILLS 000555 6054 4538

$GDADR 000520 5894

$GDDAY 000524 5914

$GET42 014022 41154

SGTSWR= tewn = |J 4662

sHIBTS 000400 S6_ A

$ICNT 000504 5824

SILLUP 015152 4349 4356 43784

SINTAG 000535 SYon

si1eM8 000514 S864 4411+ 4424

SLF 000564 6114 4538

SLFLG 016233 4616% 46224

$LOOF 014116 $137 L1618 4374

$LPADR 000506 5834 737« 4323 4328« 4333 4335
$LPERR 000510 5844 738« 4323 4329« 4335 4432
SMADRT 000620 644N

fMADRZ 000624 6484

mapR3T 000630 6514
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SMADRSL 000634
Al 000566
| $MAMS] 000616
lsnAns° 000622
sMams3 000626
MeMss 00632
[ $SMBADR 000402
SMFLG 016232
sM<sAD 000602
MOGLG 000604
M GTy 000566
wmivpr 000617
Mrre2 000623
vk y 000627
1L 00633
LNy 000554
WNW i< T~ 000001

SRDDEC= wwnntn |
SRDL IN= sannen |
SRDOCT= wunxnan |)
SRINAD 014120

SRTRN 014114

SR2A = nawxnen |
$SAVRE= teennne |)

$SAVR 1512
$SCOPE 01454
$SETUP=

22-.AN-8B2 08:44 PAGE
CROZS REFERENCE TABLE -~

08:43

654
564

6384
6464

568

4582

4592+

4597«
701+

6174

4617>
4595

4422

96

4327

4465

4590

4138#

43804

D 8
USER SYMBOLS

4598+ 4610
3568 3795
61 10564
16154 1617
2282 23484
28214 2823
3220 32674
36994 370
6144 4253
971 1067
2290 %359
3226 276
4106 £117
4320 4321

4614

V=00
x

WNAANININD) = b S~

NNGD &S N=N

NWNO = MO
L 3

N —00
n

SEQ 07~

1627

708
4294
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PX Mw=Z iloxxaax
D A [ e end vagu wad wy
NABANAN

4361 4407

4335

4332

4327

4326+

4317

15546
15666

15334

|

:

STYPOC= wewene |)

STYPDS= tawnen |J

STYPBN= seeaes |

STYPE

$TYPEC
STYPEX
SUNITH
SUSWR

SVECT]
SVECT2

SUNIT

3




F 8

MAIN.  MACYTT 30(1046) SZ-JAN-SZ 08:44 PAGE 98

(VKAIB.P11  22-JAN-82 08:43 CROSS REFERENCE TABLE -- USER SYMBOLS SEQ 0096

$XOFF = 3 4513 4528

SXON = ] 4580 4538

SXTSTR 016552 43020

$84E T4 000001 Y $1170 4122

=z 12 2] 2]
. = 617310 gggc S10# S144  S184  528¢  S334 5364 541 5420 544l 546N 52 5538
5554  SStw  S77m 61§ 708 737 738 851 1040 1135 1146 1244 1255

1457 1sg4 1711 182 1919 1929 2030 2128 2138 2252 2262 414k 414os
41497 4335 4352 4379 4538 4624M 4666 46698 L6704

.SASTAz wewwes | 4576 4579

$x = 000400 sso# 557
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CVKAIB.P11 22-JAN-82 08:43 CROSS REFERENCE TABLE =-- MACRO NAMES SE2 D098

1768 1776 1783 1787 1794 1799 1803 1807 1814 1824 1832 1868 1876 1883 1888
1892 1876 1901 1905 1911 1920 1930 1938 1975 1983 1990 1994 2001 2006 2010
2014 2021 203 2039 2077 2085 2092 2097 2101 2105 2110 2114 2120 2129 2139
5147 %gOO 209 2216 2221 2225 2%29 2234 2238 2244 2253 2263 22N 2306 2314
321 25 329 2333 2338 2342 2378 2386 2393 2397 2401 2405 2610 2414 2450
5658 465 2669 2483 26489 2497 2505 2538 2546 2553 2557 2563 25¢7 2572 2576
611 ¢19 2626 2633 2639 2647 2654 2658 2693 2701 2708 271¢ 2716 2720 2725
2729 76€ 2776 2781 2785 2800 2804 2810 2816 %851 2859 §866 %872 %876 2882
2887 891 918 2974 2982 2989 2993 2999 3003 008 3012 045 053 060 3064
3076 080 111 3119 3126 3130 3142 3146 3177 3185 3192 3196 3208 3212 3242
3250 257 261 3307 3315 3322 3326 3338 3342 3377 3385 3392 3396 3408 3412
§448 456 3463 %667 3479 3483 3512 3520 3527 355 3586 3594 3601 3605 3617
621 656 3664 671 3675 3689 3693 3727 3735 3742 3746 3760 3764 3815 3823
3830 3834 384 3852 3889 3897 3904 3908 3922 3926 3959 3967 3974 3978 3992
3996 4052 4060 4067 407N 4085 4089 4154 4161 4168 4175 4267

ESCAPE 1L L494H

GETPR] 1L 494 4130

GETSWR 14 L94n

GONEXT 3640 1627 2167 2941 3276 3547 3780

IFEQBR 37 799 895 986 1083 1193 1299 1405 1510 1767 1867 1974 2076 2305 2377
%ggg 32; 2610 2692 2765 2850 3044 3110 3176 3241 3376 3447 51 3655 3726

INT 3750 4274

LBYTE 3734 842 937 1030 1125 1234 1447 1554 1701 1811 1908 2018 2117 2241

MLOC 3794 3067 3132 3199 3329 3399 3470 3608

MSCPN 3804 3678 3749 3837 3911 3981 4074

MSG1 7754 777

MSG10 18384 1841
MSGI0A 19448 1946

MSGI106 20464 2048
MSG11 21544 2157
MSG11A 22804 2%82
mMsSG118 23474 2350
MSGI1C 24194 2421
mSG14 25104 2513
MSGI4A 25824 2584
MSG15 27344 2737
MSGISA 28214 2823
msG158 28964 2898
MSG16 26638 2666
MSG17 29304 2933
MSGe 8664 869
M5G622 30194 022
MSG22A 30854 087
MSG23 31514 154
MSC24 32174 220 3490
MSG2S 32664 §269
MmSG25 33504 353
MSG27 34178 3420
M<G28 35364 3539
MSG29 298 3632
#SG2GA oo 3701
M5G3 9584 961

MSG30 37654 3772
MSG30A 38004 862
mSG31 393 934
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(VKAIB.P1N 22~JAN~-82 0 CROSS REFERENCE TABLE -- MACZRO NAMES SEQ 0099
nsSG32 40018 4004
MSG4 10554 1058
M5G5 11604 1192
mMSGob 12704 1% 2
msSG7 15734 1375
MSG7A 14794 1483
nsSG/7B 1580# 1582
nsG8 16144 1617
MnSG9 173880 1741
MuULY " L94n
NEWTST 19 L4 775 867 959 1056 1160 1270 1373 1481 1580 1615 1739 1839 1944
046 155 2480 2348 2419 251 2582 2664 2735 2821 2896 2931 3020 3085 3152
218 267 3351 3418 3488 3537 3630 3699 3770 3860 3932 4002
POF 14 3502 L94h 4362 4363 4618 4619
PRE 2%3?0 2;32 ‘85; 971 1067 1174 1282 1386 1492 1588 1631 1752 1851 1956 2057
PUSH 1w 3504 LO4N 4342 4348 4579 4581 4602
REPORT » 44N
RESETN 3554 775 867 959 1056 1160 1270 1373 1481 1580 1615 1739 1839 1944 2046
2155 2280 2348 2419 2511 2582 2664 2735 2821 2896 2931 3020 3085 3152 3218
h23 3%9;‘ 3351 3418 3488 3537 3630 3699 3770 3860 3932 4002
?
R4S 3694 832 927 1000 1115 1225 1313 1437 1524 1691 1781 1899 1988 2108 2232
2335 2407 2463 2569 2651 272 2779 2884 3005 3058 3124 3190 3320 3390 3461
3599 3649 3740 3828 3902 3972 4065
SCOPE 3894 782 875 970 1066 1173 1281 1385 1691 1587 1626 1750 1850 1955 2056
2166 2289 2358 2429 2521 2590 2673 2745 2829 2903 2940 3029 3095 3160 3225
3275 3361 3426 3495 3546 3638 3707 3779 3870 3940 4012 4104
SETPR] » L94n
SETIRA  4652¢
SETUP 1 3504 494K
SKIP 1 494N
SLASH » 494N
SPACE A-TY |
STARS 14 3504 LO4n 539 5649 551 558 573 612 615 775 780 781 867 869
873 874 959 961 968 969 1056 1058 1064 1065 1160 1162 1mMn 1172 1270
1272 1279 1280 1373 1375 1383 1384 1481 1483 1489 1490 1580 1582 1585 1586
1615 1617 1624 1625 1739 17461 1748 1749 1839 1842 1848 1849 1944 1946 1953
1954 2046 2048 2054 2055 2155 2157 2164 2165 2280 2282 2287 2288 2348 2350
2356 23 2619 2621 2427 2628 251 2513 2519 2520 2582 2584 2588 2589 2664
2671 2672 2735 2737 2743 2744 2821 %823 2827 2828 2896 2898 2901 2902
2931 933 2938 2939 3020 3022 3027 3022 085 3087 3093 3094 3152 3154 3158
3159 218 3220 3223 3224 3267 3269 327 3274 3351 3353 3359 3360 3418 3420
3424 3425 488 3490 3493 3494 3537 3539 3544 3545 3630 3632 3636 3637 3699
3701 3705 706 3770 3772 3777 3778 3860 3862 3868 3869 3932 3934 3938 3939
4002 4010 40N 4097 4287 4338 4354 4402 4444 4545 4574 4631

4004
gL:gSP 36}: 3232’ 3096 3161 3226 3280 3362 3427 3496 3551 3639 3708 3784 387 3941
TGRZ 3674 819 914 1016 1102 1212 1329 1424 1540 1678 1797 1886 2004 2095 2219
TRMTRP 46524

TRUNC 724 1533 1790 1997

TSTCC 714 1653 2194 2968 3301 3580 3809 4046

TSTSP 62 05 901 99% 1089 1199 1305 1611 1516 1665 1773 1873 1980 2082 2206
11 § 83 2455 56 616 2698 2771 2856 2979 3050 3116 3182 3247 3312 3382
53 517 359 661 732 3820 3894 3964 4057

TTRAP 3824 1588 2904
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CVKALIB.P11 22-JAN-82 0 CROSS REFERENCE TABLE =-- MACRO NAMtS See 0100

ITY 3764 1638 2178 2951 3286 3564 379N 4029

TYFBIN 1 494N

TYPDEC 1 494N

TYPNAM 1 494N

TYPNUM WL L94h

TYPOCS 1 494N

TYPOCT 1 494N

TYPTXT ) 4944

UBYTE 744 858 948 1047 1153 1262 1472 1571 1726 1830 1936 2037 2145 5839

VDEST b 849 1038 1133 1144 1242 1253 1455 1562 1709 1821 1917 1927 8 2126
21 2250 2260

$SCMRE S71a

sSSCMTM 5714

$SESCA 1 494N

SSNEWT ” 494N 775 1270 1739 1839 1944

1160 1373 1481 1580 1615

2582 2664 2735 2821 2896 2931 3020 3085 3152
3630 3770 3860 3932 4002

$$SET 46524

$$SK1P 14 494N

.EQUAT 14 3504 384
-HEADE »

K111 14

.SETUP 14 3504 527
. SWRH1 1w

LSACTI 1 3504 537
.SAPTB )L 134

.SAPTH 1L SOn 547
.SAPTY » 3504 4572
.SASTA 14

.$CATC » 3504 508
.SCMTA 1 3504 571
.$0820 4

.$DB20 1L

.$D1V 1L

.SEOP 1L/ 3504 4095
.SERRO 1L

.SERRT 1

LSMULT »

. SPOWE ILJ 3504 4336
. SRAND 1

$RDDE ¥

$RDCC ¥

SREAD 14

.SR2A2 1L

.SSAVE 1L

.$5820 1L

.$5820 14

.$SCOP W 3504 4285
.$SI12E 1

.$SUPR 1

.S$TRAP |1 3508 4629
.$7YPB )

$TYPD 1

.STYPE 1L 3504 4442
.$TYPO 1

.$4JCA 14
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1170 »
. ABS. 017310 000

ERRORS DETECTED: O
CVKAlB BXN iVKAIB LST/CRF/SOL/NL TOC=SYSMAC.SML,CVKAIB.P11

RUN~TXHE RATlO 104/40‘2 5
CORE USED: 41K (82 PAGES)
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